
������� ��������	


��
���������������������������
�����	�

�������� ��
� !"#
$%�� ���&'�&����$��

(��)$�*+�,���-"�#.��+�""#�/
$��!**�##

�����������	�
���
�������������� ������������
���

�
�	�
�����������������������

��������	
���� �� �

�����	
���
���
�
���
�
���

�� �
�����
	�
	��
�	���

��
��	����


������

��  !���	��!	��
"!�����#	��$�����!	����	����
%	��"
%	��&	��#�
 �0

�' (!����
���!	����
)	��������!	�&	���)�������������*

�' �#
���!
����
)� &' +��	���"��	��	���	����!
��&	��

)' ,���	���)
"�� �' -���)�������

�' �#	�����	�����"���.
��������/�&��
�	����

�' .�	��	���0���� &' /����1���	���0����

)' /
"�.�	��	���0���� �' 2/
"�.�	1�/����1���	���0����

�' �!	����	��$��!	����
)	��������!	�&	���#��

�' /�& &' .
����#	���

)' 30�!�� �' 4��	��$��!	��&�%	

5' �!	�#�
�	�������
���6�
�!��

�' (	�	�����)!������"	�!	� &' �	������������	7!
&
�
��

)' �	��������	������� �' (	�	��	
"!&�0��

�' �����#!����!	��	�����!	�#�
�	���
��
��)�	����!����
���6�
�!��1���
$	�#
�!�!	�

���!	��#��

�' �
�	��&�	 &'  ��$����&�	

)' 8	���!���� �' �
$$
)0��

�' /
�	��#��������)!���"
���#!���	%	���	���!	

�' 9:��	�� &' +:��	��

)' ,:��	�� �' 4��	��$��!	��&�%	

������

��	

���



�
������� ��� �������

�' �!	�#����2
��	��
"	�)	1�
���	�
%	��$�����!	�;��
��#���

�' +��	��	"	�	 &' +��	��"	�	

)' +��	�"	�	 �' 4��	��$��!	��&�%	

<' (!�����	��2�!
�
�"������1��	���*

�' 3��0�����
	��#����1��#�
��

&' /0�)!	���$�&��"�	�

)' �!	�$���	��$�������
�"	�$
�	

�' ,0��
��)���

=' (!	�	���	��!	�&��"�	��	��	���)����
�"��!	
��#��	��*

�' ���������
	��#����1��!�0�	

&' ����!	�!�0�	��$�����
�	��#����

)' ������	���	�$�
�

�' ����!	����		��

��' (!��
���!	���	���$�23��+�
�!�3
��������	��		��!
���	��!1�*

�' (��/��>	��� &' ���,��9�
��

)' .�!��6	��� �' (��3��30�	�

��' 23��+�
�!�3
��������	�		��!
���	��!1��	���	������!	�?�
"!���$

�' /�
�
�!�,���
	�

&' +�
�!�,���
	�

)' +��
���,���
	�

�' 4��	��$��!	��&�%	

��' 2 
�)0�1�
����@@@@@@@@@@���0��

�'  ���	)�
%	 &' ?���	�

)'  ����� �' -�)�0���&�	

��' A�	��!�0������@@@@@@@@@��0����
�)	�	���

�' !
� &' !	�

)' �0� �' ��	1�

�5' @@@@@@@@��	��#!���!
����$���!	���$
������	�"�	���

�' � &' ��

)' �!	 �' B



�� 3��#	���!	�$����#
�"�C0	��
����D����1��0���$�<'��
 �0

�' (!���
���!	��!	�	��$�23$�	���#	�����	���1�*

�' (!���
���!	����������)���
�	���
���6�
�!�����������
�"�"0	���*

�' (!���
���	����&��2)����
��	0�1��))���
�"����4	�"
��������*

5' (!�����	��!	��	�
����$����
$
)
���
��	��
"	�)	�*

�' (!����
����$����	�����#���.
����(	����*

�' (!�����	���!	���	���!
����&�0���!	����	��$�#��	��
��2/��"�	�,	��	��1�*

�' (!��
���!	���	��	������#!���
��!
�����
�0�	���#�����!
��2�����)�0�����	�1�*

<' (!��)���)���0�	��������!
����
�	�!0����&	
�"��*

�� 3' (�
�	�������"���!���������2���$��!	�$����#
�"����
)��
 3

�' 3��	)
�
����!���)!��"	������
$	�

�' �!	�
�������)	��$���		��������
���

�' �!	�
�������)	��$�������	�	�"��

/' (�
�	��!�������	����������2���$��!	�$����#
�"� 4

�' ?	������
����$��
���6�
�!���

�' E	���
���!
��&	�#		��/�&�����.
����(	����

�' +�
�!�3
����1�����
�0�	���#������!	�#���

5� (�
�	����	��������������	��$��!	�$����#
�"����
)��
 �0

�' ��)!
�	�)
%
�
F��
���

�' �!	����&�	����$�)
�����0�����������
&�	�!0���	����0�
����

�� E	����!	�$����#
�"������"	��������	����	��"
%
�"����0
��&�	��
��	�
 �0

G	�	������#	�)�������0��	��������!	��0����	����	�0)��
�������	���9�0)��
���
�

�������	����&0�����	����������	����+����!	��#������#	��������	�0)��	�)!
���	��$��

�!	��0����	��$�	�0)��
�"��!	���A0���0����	�
�����$
���!	��$����
$	��3����������#	

�	��
F	��!
��$�)���#	�#
���0��	��������!���
��
��%	���
������������)!���	�������	�

�$�	�0)��
���#!
)!�#	��	�������	���	�)!
���	��$����
$	��+��
������	��0"!�H0�����

)!���	��!	�$
��������	���$�	�0)��
�����	�$
����I�������)���
�0	�#
�!���	1�����

����	���$�	�0)��
���#
�!�0��	7��
�
�"�
������		�#!	�!	��
��
��
��$�)���0
��&�	���

����

������� ��� 
��
�����




��
����� ��� �������

+��!���$������	��
�	�&		��$��!
���&�	�
����������	���)�0���
	������!
����!����&�

$�		�	�0)��
���$�������J�#!	�!	���
)!����������)�	%	�������0�
��J���	�)������%	����

�!	����&�	����$���)
	�������&0
������	�$	)�����
����/0��#	�)������	�����		��!��

	�0)��
���$�������
������	��0"!��(	�$
���
���0)!�)�0���
	����$������"	��0�&	���$

�	���	�#
�!�0�
%	��
����	"�		���!����!	�	���	�H�&��$����!	�����$
����/	)�0�	��$

�!	
���	"�		���!	���	$0�	�������#!����!	���!
���2��#1�#��������
��$�)��#����#
�!

�!	�!�����
���!�0"!�����&	��
���������!��	$0��
���0)!�)�0���
	���4����	����	

�	�
�0���&�0��
���$�)��

�!	�#�����$���)����	�	���0�	�0)��	��$���	��
�����	�
����������!����$������$	�����I

#	�)����
%	�#
�!�0��	�0)��
����&0��#	��
	�
$�#	�!�%	����$�����+$������	�)�	��	�

�0�����		�������������!	��0&&
�!��#���$�����0��!�0�	���#	��!�0���"	���	��
&�	

�
�	��	��
���0����#����+��)�0���
	���#!	�	��!	�	���	�����	�%�����&	)�0�	�	%	��

��	�
�����!��	���������0)!�#�����������	���	�#���	��
�	�$����	�������#����

(!	��#	������!��������$�0���0���&	�	�0)��	���#	��	����!��������$�0��&	�	�0)��	�


���0)!���#����!���$
������	�)!��$�0��)��������H�&�#!
)!�
���0
�	�����!
��&��
�����

�&
�
��������	)��������!���#	�)����	��
F	��!�������H�&����	��	)	�����������)
	��

�����!���
��
��%	���&������&	���!��	���$���	1��#�����������)�������	��	�	��	1��

A�����0)!������	��$�	�0)��
���)���&	�)���	��%��0�&�	������)
	���

@@@@@@@@@@@@@@@



�������� ��������	


��
���������������� ��� �
������������������������������ 
	!
�"��#����$�%&�$�%�
�

�����������	�
���
�������������� ������������
���

�
�	�
�����������������������

��������	
���� �� ����	
������

���
��
��������
��
��
�����
�� ������
���������
����������
���
���
������
���
���
����
�� �������������
���
�
�����
���
�� �������
��
�	���	������������
�������� ��

��  !���	��!	�������������
��	����	����
"	��#�����!	�#����$
�%�
 	'

�& '������	$�����	��
(�����
)�������
�%�����	�	�	������	�	*+�����

�& �

,& �

(& -�

�& .��	��#��!	�	

�& '#���$������(��+������	�
��	�(!��%	���!	���!	�"��+	��#����	�	��
�����
�

�& /	�� ,&  !��%	�

(& 0�(!��%	� �& .��	��#��!	�	

�& �!	����
�
����#��$������
(	��1�����2�
������
,�	������$!	�

�& .+�,	���#���$��
������
)�1�3�.+�,	���#�(��+����
������
)�2

,& .+�,	���#�(��+����
������
)�1�3�.+�,	���#���$��
������
)�2

(& 4��	���#�����
)�1�3����	���#�����
)�2

�& .��	��#��!	�	

5& �!	�
�"	��	��#��*+��	�����
)�	)
����
#

�& 616�3��

,& 616� � ��

(& 616�3��

�& .��	��#��!	�	

��%�(�

����

#��



��������	
 ��� ��������

�& �!	���!��	���
����
�!�	�
(����%�	��
���
��%
"	��,�

�& ���3���-�7��-��&�

,& ���3���8�7��-��&�

(& ���3����-�

�& .��	��#��!	�	

�& 1��	*+	�(	�
��$!
(!��!	����
���#������	������
�����	(	�
�%��	���
��(��������
�
(���	����

�& 1�
�!�	�
(����%�	��
��

,& 9	��	��
(����%�	��
��

(& :�����
(����%�	��
��

�& .��	��#��!	�	

�& '#���
�,�3�(�
����!	�

�& ���3�,(

,& �,�3�(�

(& �(�3�,�

�& .��	��#��!	�	

;& �!	�
�"	��	����
���#����
����
�

�& � ��� �

,& 55��
����

(& ���
���

�& .��	��#��!	�	

<& '#��!	�
��	�	���
��(!��%	�����������!	���
%
������
�(
����#����!	�#+����	�
���
��
�
(���	�

�& =
���	�
��	�	��

,&  ����+���
��	�	��

(& 1��+
�
	�

�& .��	��#��!	�	

��& '#��!	�#
��������	���
���+	�����!	�	����#��!	�#
�����	�������!	�#
����
��	�"����!	
���+
���
��(���	����

�& '��	�
��	����+
��

,& 1��+
����+	

(& �	#	��	�����+
��

�& .��	��#��!	�	



�������� ��� ��������	


��& '���
�	������%����
�%����,�	���!	�"��+	���#��!	�"��
�,�	���!������
�#�������!	
(������
������	�(���	�

�& =��(	

,& =��+�
������(	

(& 2��!��&�����,&

�& .��	��#��!	�	

��& '#�
�

� � �� � 7�5&��!	���!	�"��+	��#�)�
�

�& -�� ,& ��

(& �55 �& .��	��#��!	�	

��& >�%��
�!���#�����+(���#��$���+�,	���
��	*+�����

�& =+���#��!	
����%��
�!��

,& ?���+(���#��!	
����%��
�!��

(& 2��!��&�����,&

�& .��	��#��!	�	

�5& >�%
�
��3�@@@@@@@@@@�$!	�	���A��������� � ��

�& �

,& �

(& '�#
�
��

�& .��	��#��!	�	

�� 1& 1������	���
�������������!	�#
����B��+�����#�	"	����	���#������	����$
�!��
,��������C�������
���	�
��	�	�����
����!	����+������!
���((�+�������!	�	����#
�!
����	��� )

2& �
����!	�"��+	���#�)�������
#� �
�

�
�
�

�

�
��

�

�
�
�

�
�
�

�
�
�

�

��

��

��

��

��

��
)

�� 1& '#��!	���
�(
�������+������������
��
�"	��	��
������,������#
)	���	���
��#��
���	����$
�!�(����+������	���C��	�����+���$!���$
���,	����+�������!	�	��
�#���!��	���D )

2& E"��+��	�
���

���

���

� )



��������	
 �5� ��������

5� 1��	������*������+���#�1�����2� 	'

1& 
& =��"	��!	�>�?�?��,��%���!
(����	�!��� 	


��)
�
F	��F�3��)�8���

=+,G	(������)�8���� � ���

����)�8��� � �;

���)� � ������ � ��



& �!	���!��	����#����1�?��
������������!��	���
�������
����!	��+���#��!	�#
���
����	�����#����1�?� '

2& 
& =��"	��!	�#����$
�%�	*+��
����,�� ���	�H���+�	� 	


�)�8����8�F�3�����)�8�F�3�����)�8����3�5�



& �!	��	(���������!	�#
#�!��	�����#���9�?����	��5�����;���	��	(�
"	���
�
����!	�#
�����	��������!	�(���������
���#��!	�9�?� '

�� 1��	������*������+���#�1�����2� 	'

1& 
& �
���
�"	��	��#�����
)�1�,����G�
����	�!���

�
�
�

�

�

�
�
�

�

�

�

���

���

���

� 	




& '#���
�,�3���
�������,�
�(�3���
�����
�����
�(�������
�,�
�(� '

2& 
& '#�

�
�
�

�

�

�
�
�

�

�

�

�

��

��

��

� �� �
�

�
�
�

� �
�

���

���
� � 	


�!	��#
���12�����21��I!���
����+��(��(�+�
���D



& �!	��	�����#���9�?����	������������5�����
����!	���!��	���7��&��#��!	�9�?� '

@@@@@@@@@@@@@@



�

P.T.O.

��������� SLR-Q – 100

B.Com. III (Semester – VI) Examination, 2015
ADVANCED ACCOUNTANCY (Paper – II)

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

Instructions :  All questions are compulsory.

1. Select correct alternatives : 10

1) Income tax rates are determined by the following law

a) Income Tax Act 1961 b) Annual Finance Bill
c) Ordinance of the President d) None of the above

2) Agricultural income is
a) fully exempted from income tax

b) aggregated with non agricultural income for determining the average rate
of income tax under certain circumstances

c) taxable like other income
d) deductable chapter under VI A

3) Every Indian company is considered
a) Resident b) Ordinarly resident
c) Non resident d) None of the above

4) Transport allowance to physically handicapped person is exempt upto _____
per month.
a) Rs. 800 b) Rs. 1,600 c) Rs. 1,300 d) Rs. 1,500

5) Celling for deduction U/S 80 C is Rs.
a) 1,20,000 b) 1,50,000 c) 1,00,000 d) 1,35,000

6) Employer’s contribution to R.P.F. is exempt upto _________ of salary.
a) 14% b) 18% c) 12% d) 10%

7) In case of Government employee the maximum deduction for entertainment
allowance is Rs.
a) 5,000 b) 7,000 c) 9,000 d) 11,000

8) The deduction allowable from the annual value of self occupied house is
a) Interest on housing loan b) Standard deduction
c) Unrealised rent d) Vacancy allowance

9) Donations are eligible for deduction U/S
a) 80 C b) 80 D c) 80 DD d) 80 G

Seat
No.
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10) Cost of permanent sign board is _________ expenditure.
a) Revenue b) Miscellaneous
c) Capital d) All of the above

2. Write short notes (any two) : 10
a) Person
b) Deduction U/S 80 G
c) House rent allowance.

3. a) Mr. Ashok has two houses, the particulars of which are as follows : 5
House No. House No.

I II
1) Nature    Self occupied Let out for residence

2) Municipal valuation 25,000 60,000
3) Fair rent 30,000 65,000
4) Actual rent received – 72,000
Expenses on house

Municipal tax paid 10% 10%
Fire insurance 5,000 –
Ground rent 5,000 7,000
Interest on loan for construction 6,000 5,000

The let out house remained vacant for two months during the previous year
Compute his Income from house property.

b) An assessee owns a house property which he purchased in 2,000, half the
portion is used by the assessee himself for his residence and remaining half
is let out at Rs. 200 p.m. the annual municipal tax for the building amounts to
Rs. 1,000, the house is mortgaged for a loan he had taken for the purchase of
house and the interest on mortgage amounts to Rs. 800 p.a. Ground rent at
Rs. 40 p.a. is paid on the property. 5

Fire insurance premium paid for the year is Rs. 200

Compute his income from house property.

4. From the following profit and loss account of a merchant, compute his income
from business. 10

Profit and Loss Account
Particulars Rs. Particulars Rs.
To Salaries 25,000 By Gross profit 67,000
To Office rent 1,200 By Rent from house property 6,000
To General expenses 4,000 By Interest on post office
To Car expenses 2,400   saving bank deposit 500
To Stationery 200 By Interest on debenture 1,500
To Postage 500
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To Advertisement 300
To Wealth tax 2,000
To Municipal tax paid

(on house property) 600
To Income tax paid 1,500
To House hold exp. 10,000
To Interest on bank loan 1,900
To Repairs 1,000
To Depreciation 3,000
To Provision for

Doubtful debts 1,400
To Net profit 20,000

75,000 75,000

Adjustments :
1) General expenses include Rs. 1,500 spent on permanent sign board.
2) Half of car expenses related to personal use.
3) Repairs include Rs. 200 relating to house property.
4) Depreciation as per income tax rules amounted to Rs. 3,900.

OR

4. Shri Ashok is a Chartered Accountant and maintain his books on cash basis from
the summary of his cash book as given below, compute his income from profession
and also total income for the A.Y. 2012-2013. 10

Receipts Rs. Payment Rs.

To Opening balance 3,000 By Office salary 4,840

To Audit fees 23,000 By Other expenses 2,500

To Examiners fees 1,200 By Membership fees 150

To Rent from property 3,600 By Drawing 9,000

To Interest on tax free Govt. By Life insurance premium 2,400

securities 5,000 By Motor car Exp. 2,400

By Income tax 1,200

By Ground rent on property 700

By Bal. c/d 12,610

35,800 35,800
Adjustments :
1) Other expenses include a sum of Rs. 200 paid for Journals and books relating

to profession.
2) Half of the motor car expenses are related to his profession.
3) Allowable depreciation on motor car and furniture is Rs. 1,500.
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5. From the following particulars of Shri. Mahesh of Solapur. Compute his income
from salary for the A.Y. 2012-13. 10

1) Basic salary at Rs. 3,000 p.m.

2) Dearness allowance at Rs. 200 p.m. (enters into calculation of retirement
benefits).

3) Bonus Rs. 6,000 p.a.

4) Entertainment allowance Rs. 500 p.m.

5) His own contribution to R.P.F. is at 15% of salary and employers contribution
is 13%.

6) Interest on R.P.F. balance at 9% p.a. is Rs. 1,800.

7) He gets education allowance 150 p.m. per child for 2 children.

8) House rent allowance Rs. 1,200 p.m. but he pay Rs. 2,000 p.m. as rent.

OR

5. • Shri Shubham receives salary at Rs. 7,000 and D.A. at Rs. 1,000 p.m. 10

• He receives entertainment allowance Rs. 500 p.m.

• He receives house rent allowance at Rs. 275 p.m. He paid rent of his residential
unit at Rs. 400 p.m.

• He received conveyance allowance at Rs. 200 p.m.

• Shri Shubham has insured his life for Rs. 50,000 at annual premium of
Rs. 1,200. The premium is paid by employer.

• Shri Shubham was provided with free lunch during office hours. The cost of
which is estimated to be Rs. 1,800.

• Shri Shubham received Rs. 2,000 as second prize in cross word puzzle and
Rs. 10,000 first prize of mini lottery.

• His pass book showed an amount of Rs. 5,600 credited to his account as
interest for the previous year.

• He donated Rs. 2,000 to the National Defence Fund.

• He deposited Rs. 4,000 in the public provident fund.

Compute his total income for the A.Y. 2012-13.

————————
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�������	� SLR-Q – 103

Seat
No.

B.Com. – III (Semester – VI) Examination, 2015
INSURANCE (Paper – II)

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time :  11.00 a.m. to 1.00 p.m.

           N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternatives : 10

1) ____________ insurance is the new branch of the accident insurance.

A) Fidelity Guarantee B) Burglary

C) Third party liability D) All of the above

2) In the history of insurance business _________ is the oldest form of insurance.

A) Marine insurance B) Fire insurance

C) Crop insurance D) Life insurance

3) In Marine insurance time policy is more used for ___________

A) Hull insurance B) Mixed insurance

C) Fire insurance D) Personal accident insurance

4) Marine insurance taken for definite period of time and voyage is called _______
policy.

A) Mixed insurance B) Accident insurance

C) Package insurance D) Burglary insurance

5) Constructive total loss occurs in __________ insurance.

A) Marine B) Fire

C) Third party liability D) Crop

6) Policy proof of interest is the type of _________ insurance.

A) Marine B) Fire

C) Life D) Motor
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7) The General Insurance Corporation of India was established in the year

__________

A) 1972 B) 1952

C) 1956 D) 1965

8) ___________ hazards are also called as direct hazards.

A) Physical B) Cheating

C) Carelessness D) Cheating and carelessness

9) Marine Insurance Act passed in India in the __________ year.

A) 1963 B) 1952

C) 1861 D) 1938

10) Gramin Personal Accident Policy is applicable to persons between the age
group of ___________ living in rural areas.

A) 10 to 70 B) 15 to 60

C) 21 to 62 D) 31 to 70

2. Write short notes on : 10

1) Fidelity Guarantee Insurance.

2) Importance of Marine Insurance.

3. A) Discuss personal accident and sickness insurance. 5

B) Physical and moral hazards. 5

4. Explain types of marine losses. 10

OR

Explain the functions of General Insurance Corporation of India. 10

5. Explain the clauses of Marine Insurance. 10

OR

Explain the procedure of settlement of claim in Marine Insurance. 10
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 B.Com. I (Semester – I) (CGPA Pattern) Examination, 2015
INSURANCE

Day and Date : Friday, 27-3-2015 Max. Marks : 70
Time : 3.00 p.m. to 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative and rewrite sentences : 14

1) Insurance is a device for the transfer of an insurer of certain risks of _________
that would otherwise be horned by the insured.
a) Physical loss b) Business loss
c) Psychological loss d) Economic loss

2) Life Insurance is not a contract of
a) Profit b) Income c) Indemnity d) Loss

3) Insurance Act passed in the year
a) 1923 b) 1938 c) 1969 d) 1956

4) A Licence for insurance ___________ is granted for 3 years.
a) agent b) company c) creditor d) policy holder

5) In __________ Life Policy the premium installments are payable throughout
policy holders life.
a) Group b) Endowment c) Joint d) Whole

6) Principle of utmost Good faith is a _________ of insurance contract.
a) Plan b) Quality c) Soul d) Strategy

7) Life Insurance Agent should complete the _________ atleast 100 hours.
a) Work b) Training c) Contract d) Plan

8) Birth certificate is accepted as a proof of  ___________ by L.I.C.
a) Age b) Licence
c) Premium receipt d) Report

9) The ___________ is contract between Insurance Company and policy holder.
a) Cover Note b) Proposal Form
c) Insurance Agents Report d) Insurance Policy

P.T.O.
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10) After payment of first insurance premium insured receives receipt is
called as
a) Proposal b) Debit Note c) Cover Note d) Credit Note

11) Insurance Regulatory and Development Authority (IRDA) formed in ________
year.
a) 19th April 1951 b) 19th  Jan.1956
c) 19th April 1991 d) 19th April 2000

12) __________ is a plan of insurance which provides coverage to a number of
person under one contract.
a) Life Insurance b) Group Insurance
c) Accident Insurance d) Whole Life Insurance

13) The Insurance Agent is ready to carry on insurance business is
consideration of
a) Commission b) Insurance Premium
c) Discount d) Salary

14) The Govt. of India opened Insurance to Private Sector in year
a) 1979 b) 1998 c) 1999 d) 2002

2. Write short notes : 14

a) Principle of Indemnity

b) Group Insurance

3. Write short answer : 14

a) Explain the procedure of payment of Life Insurance claim.

b) Explain the nature of Insurance.

4. Explain in detail the procedure of taking Life Insurance Policy. 14

OR

Explain the objects and functions of Insurance Regulatory and Development
Authority (IRDA)

5. Define Insurance. Explain the need and importance of Insurance. 14

OR

What is ‘Insurance Agent’ ? Explain the functions of ‘Insurance Agent’.
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B.Com. – I (Semester – I) Examination, 2015
GEOGRAPHY

Economic Commercial Geography
Economic Geography (Paper – I)

(CGPA Pattern)

Day and Date : Friday, 27-3-2015 Max. Marks : 70

Time : 3.00 p.m. to 6.00 p.m.

  N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Neat diagrams must be drawn wherever necessary.

4) Use of map stencils is allowed.

1. Rewrite the following sentence choosing appropriate words : 14

1) _________ Geography is sub branch of Human Geography.

a) Soil b) Economic c) Ocean d) Geology

2) Industrial Geography is a sub branch of _________ Geography.

a) Economic b) Soil c) Physical d) Regional

3) The study of Economic activities is done in __________ Geography.

a) Agri b) Economic c) Industrial d) Commercial

4) Roads are __________ resource.

a) International b) National c) Private d) Natural

5) _____________ is a ocean resource.

a) Fishes b) Air c) Sunlight d) Soil

6) For fullfilment of needs man utilize anything for his own benifits is called as

a) Resources b) Utility c) Scarcity d) Material

7) Mining is a ___________ economic activities.

a) Primary b) Secondary c) Tertiary d) Fourth

Seat
No.



8) ______________ is a tertiary type of economic activities.

a) Agriculture b) Commerce and transport

c) Legal practising d) Mining

9) Fishing is a __________ kind of economic activities.

a) Primary b) Secondary c) Tertiary d) Fourth

10) ___________ is a type of iron ore.

a) Siderite b) Anthracite c) Legnite d) Bituminous

11) _____________ is the type of low quality iron ore.

a) Siderite b) Magnatite c) Hematite d) Limonite

12) ______________ is made from Bauxite mineral.

a) Aluminum b) Copper c) Manganese d) Magnatite

13) ______________ % of Manganese is used for high quality production of steel.

a) 70% b) 75% c) 80% d) 95%

14) Alfred voeber is a ___________ Geographer.

a) German b) Britain c) American d) Indian

2. Answer the following questions : 14

A) Production of Manganese in India. 7

B) Cotton textile Industry in U.S.A. 7

3. Answer the following questions : 14

A) Branches of Economic geography. 7

B) Distribution and production of Iron ore in India. 7

4. Answer any one : 14

i) Factors affecting on localization of cotton textile industry.

OR

ii) What is meant by Resource ? Classify the resources.

5. Answer any one : 14

i) Describe the Voeber’s theory of location of Industries.

OR

ii) Describe the Nature and Scope of Economic Geography.
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B.Com. –  I (Semester – I) (Old) Examination, 2015
ENGLISH (Compulsory)

On Track (English Skills for Success)

Day and Date : Friday, 20-3-2015 Max. Marks : 50

Time : 3.00.p.m. to 5.00. p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the right answer from the alternatives given below : 10

1) The name of the policeman on the beat was _________

a) Bob b) Jimmy Wells c) Jimmy Porter d) Jimmy Mail

2) What did the policeman on the beat constantly do ?

a) smoke a cigar

b) unlock doors

c) interrogate people on his beat

d) twirl his stick

3) The writer and Miss Krishna _______

a) met at an exhibition b) were at school together

c) met at a tea party d) were neighbours

4) Miss Krishna tells the writer that her past life was _________

a) full of joy b) full of comforts

c) full of happiness d) full of difficulties

5) Binet is the name of the _________ who developed the IQ test.

a) philosopher b) preacher c) psychologist d) artist

Seat
No.
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6) The theme of the poem ‘Bangle Sellers’ is ________

a) inequality of gender b) selling skills

c) portraying a bazaar d) display of colours

7) The poem ‘An Irish Airman Foresees His Death’ is in the form of a _______

a) Dialogue b) Sonnet c) Soliloquy d) Ballad

8) Our week begins on Monday. In this sentence Monday is a ______ noun.

a) Collective b) Proper c) Common d) Abstract

9) A man is known by _______ company he keeps.

a) a b) an c) the d) X

10) The man ____________ the car is my neighbour.

a) in b) at c) on d) with

2. Answer any five of the following questions in three or four sentences each : 10

1) What kind of a person was Jimmy Wells.

2) Write a note on the character of Miss Krishna.

3) Why can computers not ‘think’ like human beings ?

4) What is the theme of the story ‘After Twenty Years’ ?

5) What is the meaning of the tittle ‘connoisseur’ according to Nergis Dalal ?

6) What are the merits of artificial intelligence ?

3. A) Answer any two of the following questions : 4

1) What does the poet say about the role of women in this poem ?

2) What is the Irish Airman’s attitude towards the War ?

3) What is the Central idea of the poem ‘Bangle Sellers’ ?



��������           -3- SLR-Q – 13

B) Write paragraphs of five or six sentences on any two of the following topics : 6

1) The importance of sports.

2) Meaningful education.

3) A decision that changed my life.

4. Write an essay on any one of the following topics : 10

1) Corruption in public life.

2) Terrorism.

5. Read the following passage carefully and make notes giving a suitable title : 10

Today, it is difficult to come across pollution free environment. Pollution has

increased in this machine age. There are different forms of environmental Pollution.

Air Pollution is caused by the burning of coal and oil. It can damage the earth’s

vegetation and cause respiratory problems in humans. A second type of Pollution

is noise Pollution. It is the result of the noise of aircraft and heavy traffic. Further,

loud music is also a cause of noise Pollution; which has been seen to affect

people’s hearing and give them severe headaches and high blood pressure.

Another source of Pollution is radioactivity, which occurs when there is a leak

from a nuclear power station. Radioactivity is a deadly Pollutant, which kills and

causes irreparable harm to those exposed to it. Land and water Pollution is

caused by the careless disposal of huge quantities of rubbish, sewage and

chemical wastes. Pollution of rivers and seas kills fishes and other marine life

and also becomes the cause of water-borne diseases. Land Pollution, on the

other hand, poisons the soil, making the food grown in it unfit for consumption.

__________________
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Seat
No.

B.Com. – I (Semester – I) (Old) Examination, 2015
PRINCIPLES OF BUSINESS MANAGEMENT

Day and Date : Monday, 23-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

           N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select the most appropriate alternative from given alternatives : 10

1) Plans required to support the basic plans are called as __________ plans.

a) short term b) long term

c) derivative d) strategic

2) ____________ is defined as the power to make decisions which guide the
actions of others.

a) Responsibility b) Authority

c) Relationship d) None of the above

3) Good  plan consists of _____________

a) Flexibility b) Simplicity

c) Balanced d) All of the above

4) The process of grouping activities in business is known as ________

a) Departmentation b) Planning

c) Centralisation d) De-Centralisation

5) In Oil and Textile Industries Departmentation by ________ is useful.

a) Product b) Process

c) Number d) None of the above

6) Generally the period more than five years is called as ___________ planning.

a) Administrative b) Long term

c) Short term d) Overall
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7) Systematic body of knowledge and Universal Application are the features of
_______________

a) Art b) Science

c) Commerce d) None

8) ____________ is the art of getting things done through and with the people.

a) Administration b) Profession

c) Management d) None of the above

9) Planning is a _________ process.

a) Intellectual b) Ordinary

c) Non-intellectual d) None of the above

10) Authority and _________ are the two sides of the same coin.

a) Discipline b) Responsibility

c) Direction d) Control

2. Write short notes on : 10

a) Organisation structure

b) Management as an art and science.

3. Answer in brief : 10

a) Importance of planning

b) Line and staff organisation.

4. What is ‘Organising’ ? Explain the process of organising. 10

OR

What is ‘Planning’ ? Discuss the various types of planning.

5. What is ‘Management’ ? Explain importance and need of management in modern
times. 10

OR

Define ‘Decision-making’. State the features and steps in the process of Decision-
making.
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B.Com. – I (Semester – I) (Old) Examination,  2015
MARATHI

Srujanrang

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.
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No.

B.Com. (Part – I) (Semester – I) (CGPA Pattern) Examination, 2015
PRINCIPLES OF BUSINESS MANAGEMENT

Day and Date : Monday, 23-3-2015 Max. Marks : 70
Time : 3.00 p.m. to 6.00 p.m.

            N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select the most appropriate alternative from given alternatives : 14

1) Good plan is that plan which consists of _____________

a) rigidity b) un-balanced

c) simplicity d) all of the above

2) A system of co-operative activities of two or more persons is called _________

a) controlling b) organising

c) planning d) decision making

3) The process of grouping activities in business is commonly known as ______

a) departmentation b) centralisation

c) de-centralisation d) none of the above

4) The authority is delegated to subordinates in the organisation, this process is
called as ___________

a) division of labour b) centralisation

c) de-centralisation d) all of the above

5) Management is _____________

a) only an art

b) only a science

c) only a profession

d) an art, science and a profession
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6) Introduction of a new product, change in the methods of production are the

examples of _____________ planning.

a) short term b) long term

c) profit d) none of the above

7) _____________ is deciding in advance, the future course of action.

a) Organising b) Planning

c) Decision-making d) Controlling

8) ________________ is the function which a manager perform to arrive at a

conclusion and judgement.

a) Planning b) Decision-making

c) Organising d) Controlling

9) Authority and ____________ are two sides of the same coin.

a) direction b) responsibility

c) discipline d) control

10) The first stage in the process of decision-making is ___________

a) to find out remedies

b) to find out the alternatives

c) to identify the problem

d) none of the above

11) ________________ is the art of getting things done through and with the

people.

a) Management b) Administration

c) Profession d) All of the above

12) Planning is a _____________ process.

a) Social b) Psychological

c) Continuous d) Only one time
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13) ______________ is the selection based on some criteria from two or more

alternatives.

a) Administration

b) Management

c) Planning

d) Decision-making

14) Decision-making authority concentrated in few hands at the top is called as

_________________

a) centralised authority

b) decentralised authority

c) centralised and decentralised authority

d) none of the above

2. Write short notes on : 14

a) Decision making process

b) Management as an art.

3. Answer in brief : 14

a) Explain the functional areas of management.

b) Types of organization structure.

4. What is ‘Planning’ ? Explain the different types of plan. 14

OR

What is ‘Organising’ ? Explain the steps in the process of organising.

5. Define ‘Decision-making’. State the features and steps in the process of

decision-making. 14

OR

What is ‘Management’ ? Explain the need and importance of management.
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B.Com. – I (Semester – I) (Old) Examination, 2015
PRINCIPLES OF MARKETING

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives. 10

1) In ________ concept, all marketing efforts are concentrated on the customers.

a) traditional b) modern

c) ancient d) historical

2) Registration of brand name is  ____

a) compulsory b) mandatory

c) essential d) optional

3) _________ consists of those efforts which effects transfer in ownership of
goods and services and which provide for their physical distribution.

a) Production b) Marketing

c) Financing d) Planning

4) _______ is a generalised model of sales and profit trends for a  product class
or category over a period of time.

a) Demand cycle b) Price cycle

c) Product life cycle d) Trade cycle

5) Dividing the total market into different small parts is known as ______

a) market segmentation b) market information system

c) market research d) market analysis

6) In ________ market, transactions are mostly speculative.

a) local b) spot

c) unorganised d) future
P.T.O.
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7) ________ is the sum total of all factors that affects marketing functions and
marketing manager’s ability.

a) Marketing concept b) Marketing environment

c) Marketing research d) Marketing planning

8) ________ is the  value of the product or service to customer into quantitative
terms.

a) Profit b) Utility

c) Promotion d) Price

9) ‘Free-service and maintenance’ during warranty period is the  example of
_______

a) direct selling b) indirect selling

c) impersonal selling d) after-sale service

10) Every person spends major proportion of his income on ________ type of
commodities.

a) Convenience goods b) Luxury goods

c) Necessity goods d) Comfort goods

2. Write short answer :

1) Distinguish between selling and marketing. 5

2) State the types of consumer goods . 5

3. Write short answers :

1) Product life cycle. 5

2) State the  characteristics of marketing environment. 5

4. Answer any one of the following questions : 10

1) What is ‘Market Segmentation’ ? Explain the different bases for Market
Segmentation.

OR
2) Define the term ‘Price’. State the various internal factors affecting price of the

product.

5. Answer any one of the following questions : 10

1) Define term ‘Marketing’. State the importance of marketing as a business
function.

OR

2) What is ‘Marketing environment’ ? State any five factors of macro environment
in detail.
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Seat
No.

B.Com. – I (Semester – I) (Old) Examination, 2015
BUSINESS MATHEMATICS

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

N.B. : 1) All questions are compulsory.
2) Figures to right indicate full marks.
3) Graph papers will be supplied on request.
4) Use of calculators is allowed.

1. Choose the most appropriate alternative from the given alternatives for each
question. 10

1) Matrix addition (A + B) is possible only when

a) No. of columns in matrix A = No. of rows in matrix B

b) No. of rows in matrix A = No. of columns in matrix B

c) Order of matrix A = order of matrix B

d) none of these

2) Determinant value of an identity matrix is __________

a) 0 b) 1

c) –1 d) none of these

3) A matrix is said to be square matrix if ___________

a) No. of rows > No. of columns

b) No. of rows < No. of columns

c) No. of rows = No. of columns

d) None of these

4) The value of 11

25

−  is __________

a) –3 b) –7

c) 7 d) none of these
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5) A sequence in which the next term is obtained by adding a constant in the
preceding term is called as __________

a) Geometric progression

b) Arithmetic progression

c) Harmonic progression

d) None of these

6) If a and b are two quantities of the same kind (in same units) then the fraction

b
a  is called the ____________

a) proportion b) indices

c) ratio d) none of these

7) If a : b = c : d then a : c = ___________

a) d : b b) b : d

c) a : d d) none of these

8) In general compound interest is ____________ the simple interest.

a) less than b) more than

c) equal to d) none of these

9) Logarithm of ‘e’ to the base ‘e’ equal to __________

a) zero b) one

c) infinite d) none of these

10) The value of log10(100) is __________

a) 2 b) 10

c) 100 d) none of these

2. A) If ⎥
⎦

⎤
⎢
⎣

⎡
−

=
21

13
A  then find A2 – 9A + 7I. 5

B) Find the compound interest on �  400 at 3% p.a. for 5 years. 5

3. A) Find x, if 0

321

4x2

321

=
−

−
. 5

B) If a : b = 2 : 3 and b : c = 5 : 7. Find a : c and a : b : c. 5
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4. Attempt any one of the following : 10

a) Solve the L.P.P. by graphical method

Minimize Z = 4x + 5y

Subject to x + y ≥  24

3x + y ≥  21

x + y ≥  9

x ≥  0, y ≥  0.

b) Solve the following equations by Cramer’s rule. 2x – y + 3z = 4, x + y + z = 2,
3x – y – z = 2.

5. Attempt any one of the following : 10

a) Find the inverse of the matrix by adjoint method 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−−

−
=

760

543

101

A .

b) Find x and y if

⎥
⎦

⎤
⎢
⎣

⎡
=

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

⎭
⎬
⎫

⎩
⎨
⎧

⎥
⎦

⎤
⎢
⎣

⎡
−

−⎥
⎦

⎤
⎢
⎣

⎡
−− y

x

3

2

1

316

413
3

310

305
4 .

_____________________



�������� ��������	


��
����������������������������������������	 !"
�#�$�%#
�

�����������	�
���
�������������� ����������
���

�
�	�
�����������������������

��������	
���� �� �

�����	
���
���
�
���
�
���

�� �
�����
	�
	��
�	����
��
��	�
��

�������

�� � ���	�� 	�!���	!���"�	����
#	�$����� 	�%
#	���"�	����
#	�
 ! 

�& '��	�����!���
��(�	

�& '��)���*������	���

)& +�"�� 
���,������	���

!& +�"��� �������	����
��, 
! � 	�
��
��	�	��	�

�& +�"��� �������	����
��, 
! � 	� ���$
���!
�"�
��	�	��

�& -----------�
��� 	�	�!	��
������� 	���
�!
�"	��$�
��	��
���

�& �
�	�
��(���!	 )& ���
�	�
��(���!	

!& .
$	�
��(���!	 �& ������
��(���!	

�& � 	����(����$�
��(���!	�!��������	!	
#	��$����� 	�
��(�	��
��!�""	�

�& /�	�
(� )& .���

!& 0(��	��	��#�"(	 �& 1��	��$�� 	�	

2& � 	�3��(���!	�4	%("�����������	#	"���	���'(� ��
���'!��,��������
��� 	

-----------��	���

�& �5�6 )& �5�7 !& �575 �& �555

�& 3��.
$	�3��(���!	��$�	���	�� ��$�
��(�	��� 	����(����$�!�����!��
��%
#	����

�& 4	"��
#	 )& 1��
�		 !& ��
	��� �& 3���
�(�
��

&�'���

����

#��



��������	
 ��� ��������

7& '!!���
�%����� 	���
�!
�"	��$���������%����$�
� �� 	�
��(�	��� �("���
�!"��	

� 	

�& ���	�
�"�$�!� )& 0�!
�"�
�$�����
��

!& 1��
���"�
�$�����
�� �& ���	�����
�$�����
��

�& 3��-----------�8�#����$�3��
�����
���"
�	��"
$	�
��(���!	�)(�
�	���

�& �57� )& �5�7 !& �5�6 �& �526

6& � 	�9	���+$$
!	��$� 3��(���!	�4	%("�����������	#	"���	���'(� ��
��� 
�

�
�(��	����

�& :��%�"(�( )& ;�"���� !& 9��	��)�� �& �(�)�


5& '�"
!	�!	�$���-----------�
��%����	��$���� �		��	����

�& 3��(�	� )& 3��(���!	�!��

!& 3��(���!	��%	�� �& '""��$�� 	��)�#	

��& � 	�)�����$�3��(���!	�4	%("�����������	#	"���	���'(� ��
���<34�'&�� 	

�	�(�	��$��	�)	��-----------��	����

�& � )& �� !& � �& �

�� =�
�	�� �������	����
 ! 

�& 3�������!	��$�
��(���!	�

�& 3��(���!	��������!
�"��	!(�
������"�

�� =�
�	�� �������	�����
 ! 

�& �(�!�
�����$�
��(���!	��%	���

�& = �"	�"
$	�
��(���!	���"
!��

2� >��"�
��� 	�$(�!�
�����$�3�4���'� ! 

+4

= ���
��"
$	�
��(���!	�?�>��"�
��� 	����!	�(�	����
�%���"
$	�
��(���!	���"
!��

�� >��"�
��� 	�!��	��$�!���(!���$�
��(���!	��%	��� ! 

+4

= ���
��
��(���!	�?��
�!(���
���	��
"�� 	���!
�"�����	!����
!��
%�
$
!��!	��$


��(���!	�



�������� ��� ��������	


������� 	
���
�

������� �� ���	����
����
�		
��
�
�� ����
������	��������
��������	���	�����


��

�� ������	��
����
������
�����	����������� ��

�� ����������------------��
��� �!��"�����
#� ����$%���&� ����'��(�
)� *���� +
��,��� ����'��(�
��� *����#"������%�&���-�.���/���%��(������#���
��� *����#"&�����'�&���-�.���/���%��(��#��0
�������#���

1� �------------�������&23$��%
����#	
�4�5�6���6����
#� #�7��
�� )� 5�83&� �
�� ��� #����

�� ��� ���9��3� �
��

:� �
��4�3����������
����;�	�&5���<$�=���#��0
������)4>��5�------------�?�$����
#� �
����@�� )� ��6
 ��� 5���������;� ��� ��	A��-����&

B� �
���������
��
���5�C�����3$�����4��------------�5��&�#�+�%
���#����
#� �D:E )� �DFG ��� �DGD ��� �DDD

F� #����

?���� �
��4�3� ����&5� ��3�3�(&� ��4��5;	H��	�
I� �J%���#���� �3�� ��3�3�(&� 3����
%��,����------------��4�&�6����
#� ����
�K
���5 )� 
�35�5 ��� ��L�5 ��� 5;+0�0

G� 	3���M��
N�5��%
���5�3��
��4�3����------------�4��$��#	��O��#5���
#� 
+����PQ�� �����& )� 5����6��� �����&
��� 3�P9R�&�������& ��� #��0
��� �����&

S� 2�3����#����

�����
5���(��3�P9R�&����------------��/�����3H����#����
#� �DG1 )� �DFG ��� �D:E ��� �DBE

E� �
���������
��
���5�C�����3$�(����T�������
���------------���0��#����
#� );8��U� )� �������%�� ��� �AV�)�4 ��� ��;)K


D� �------------������
5���	3
����:�
W�
5�Q�&��;6�3�������6�����
#� �
��4�3 )� �
����;�	�& ��� �
���C�����& ��� 
X3��5



�Y� �
���������#��$��
���5�C�����3$�,���5;(������;��<�(�������
�&�------------

W
�#5����

#� S )� �Y ��� F ��� 1



��������	
 �2� ��������

1� 9�&	�������� ��

�� �
?��(&�#�
Z������

1� �
�������5����6���5�3O��5����

:� 0��������� '�3�������� ��

�� �
���C�����&(������
�

1� #�6&
���
������6���

B� �
���������
��
���5�C�����3$�(��[34�'��(������
�+	P9����3�� ��

��
��

#����

���?�$6�������\�#����

���]�H��(&�����
�	^�&�+	P9����3��

F� �
���C�����&5�Q�&�#5���&�#�(�3�5;�&���+	P9����3�� ��

��
��

�
���?�$6�������\��
?��,���#��0
���
�5����6�����%
�;(&�((�
���3��

-----------



�������� ��������	


��
������������������������������������������	 !"

#��#�$%&'

�(�����(�
�����(����#��)��*+,

�(�����(�#��)��*+,� �%�*����� ��

�����������	�
���
�������������� ������������
���

�
�	�
�����������������������

��������	
���� �� �

�����	
���
���
�
���
�
���

�� �
�����
	�
	��
�	����
��
��	����


������

�� ����
 �
������
 ���
����
 ������
 ��
 �����
 ��������

����������

��  ������
�!
����
"	���
�

�
�


����

�� �	 �
�	��!	�"���� 
�#��	��	�$	�$!���
�#��������
��	� �����
 ��

�% &��'�����
��((((((����	��"�	$����
$��$�
)
�
	��

�% *�
���� +% ,	$������

$% �	��
��� �% ��'��!

�% -�,�.�������((((((�
��
����������		��
��'�����
���!	� �����

�% �
��� +% ,	$���

$% �!
�� �% ��'��!

�% &���!	�	/������"�&������	�((((((������"
����
���!	� �����

�% &��
� +% -�,�.�

$% �'��
� �% ����$	

0% *������������
�������	��!	�((((((((((����	��"��	��'�$	��

�% �
�	��� +% 1
�

$% *� 	� �% 2����

�% (((((((((�������"
����
��&������	��	���
���

�% 3���� +% -�,�.�

$% 4!
�� �% &��
�

��-���

��	

.��



��
������� ��� ��������

5% (((((((((�
���	$����!
#!�6'��
����"�&������	�

�% 7
���
�	 +% 2	���
�	

$% 4
�	�
�	 �% ��#�	�
�	

�% (((((((((�
��*
��		���"�$��$	����"��	��'�$	�$���	�)��
���

�% 8
������� +% 9	�
�

$% ����	)	�� �% �	��	�

:% (((((((((�
����"��!	���"�	$����
$�#	�#���!��

�% 4!
�!��� +% ,�
�!

$% 2	��	� �% ����!�

;% �	)	����	����"�((((((((�
��'���
	��
���!	�+��	��"�
��'���
����	)	����	���

�% &����������		� +% .'����+
�	

$% 4	�	�� �% <�	$����
$

��% �
�
�#�
����((((((((�	$����
$��$�
)
�
	��

�% *�
���� +% ,	$������

$% �	��
��� �% ��'��!

�� .�� 	���!	�"���� 
�#�


.% 4����
"
$��
����"��	��'�$	�� �

1% ,$��	��"�	$����
$�#	�#���!�� �

�� .�� 	���!	�"���� 
�#�


.% �
���
+'�
��������'$�
����"�&������	� �

1% =		���"��	��'�$	�$���	�)��
��� �

0� �% ���	��"�	$����
$��$�
)
�
	��
�����
�����	$������ ��

>�

�% 4�������	/�
�	�
��'�����
��&��
�� ��

�� �% �	�$�
+	��!	��
���
+'�
�����������'$�
����"�&����������		��
��'���
	��
��&��
�

����3����� ��

>�

�% �	�$�
+	��!	�?	+	�@���!	����
���	��
��� ��



������� 	
���
�

������ � �� ��	�����
����
����	
��
�� ����
��������
��������
����	��������������
�� ���
����
������
���������������
��
�
�
����
����	
�
�� �
����� � �
!"�#���$%&����$%���'(���	
�

�� ������������	
��
�
����������	����� ��

�% ������
��������(((((((((�����������	�����������������

�% ���	 �� !% 	"���

��% �#��� �
% ��$��

�% �������	%��������&'��()*�
+����$��,���,�����-(���AAAAAAAA��.� �*��������

�% �	��� !% �$���

��% 	���� �
% ��/��

�% -(� 0����1$2������	
����� 0���AAAAAAAA�������1�����.� ��.� �*��������

�% 3��� !% �$��,���,�

��% �	1�� �
% 4.��5�

0% �
6�������.�%��AAAAAAAA������������)
�*�7��������

�% )��$��	
- !% -/	���

��% 1��� �
% -�

�% �����	
-���8
����AAAAAAAA�����-(����.� ��.� �*�����%����

�% -��
 !% �$��,���,�

��% ��
 �
% 3���

5% AAAAAAAA������$9� ��	���������	
-������

�% 	� ��
�:�;
 !% �� <;
�:�;


��% 	��
���:�;
 �
%  <�
�;
�:�;


�% AAAAAAAA������)
�*�7����*�)�
��*��=�
����-
��� �
���-����

�% 	>? � 
 !% ���	
�

��% @����=;
 �
% ��
�

�������� ��� ���������	



:% �AAAAAAAA����*
����	�����3�(�������-
���?�%����

�% 	�1��= !% A6 �

��% ��;

� �
%  4�B�

;% &'��()*�+����	��������������AAAAAAAA����&'��(�C���	������������*!�
������

�% �������	%������� !% 6��*��	��� ���%�

��% 	� D;
 �
% :���;E
�<	
��

��% ��%��� ����AAAAAAAA���������� �
�����	�����������������

�% �.��	 �� !% �$9� 

��% �#��� �
% ��$��

�� �������.F
����&7����	�����

.% ��)
�*�7����� �(G���%� 


1% ��	����� 3�(������� ���H��� 


�� �������F
�*���&7����	�����

.% �����	
-���� 	���%���&I���
� 


1% ��)
�*�7����*�)�
����(�-� 


0� �% ��	�����	�.���*�����J;E����������6��������3�(� 
 ��

��
���

�% 3�������������6K��'��(���� �#7��*�� �+�� ��

�� �% 3������	%�-��
� )����������	%��������&'��(����	���%���&I���
��	�6���	���� ��

��
���

�% ���!����	�2�*������	�6��� 	����	���� ��

(((((((((((((((((

���������	 ��� ��������



P.T.O.

�������� SLR-Q – 25

Seat
No.

 B.Com. – I (Semester – II) (CGPA Pattern) Examination, 2015
ENGLISH (Compulsory) (New)

On Track-English Skills for Success

Day and Date : Friday, 20-3-2015 Max. Marks : 70
Time :  11.00 a.m. to 2.00 p.m.

Instructions : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Rewrite the following sentences by choosing the correct alternatives : 14

1) The first V-2 missile was tested unsuccessfully in ______________

a) May 1942 b) June 1942

c) August 1942 d) Sept. 1942

2) ____________ is the common denominator among all successful men and
women, according to Dr. Kalam.

a) Wealth b) Fame

c) Knowledge d) Total Commitment

3) Wernher Von Braun was _________ scientist who produced the Jupiter missile.

a) An American b) A German

c) A Russian d) A Roman

4) The first session of the parliament of religions opened on

a) 11 July, 1893 b) 31 May, 1893

c) 31 April, 1893 d) 11 September, 1893

5) Swami Vivekanand was the disciple of ____________

a) Ramkrishna b) Dayanand Saraswati

c) The Maharaja of Khetri d) None



SLR-Q – 25 -2- ��������

6) The main reason for serious economic problems of the majority is
___________

a) famine b) drought

c) negligence d) ignorance

7) ______________ is the poet of ‘Full Moon’.

a) Ralph Waldo Emerson b) Robert Hayden

c) W. B. Yeats d) Walt Whitman

8) “And I the ______________ the Brahmin sings.”

a) song b) prayer

c) poem d) hymn

9) ‘die’, ‘dye’ are the examples of _____________

a) homonyms b) homophones

c) homographs d) none

10) _______________ is the antonym for ‘diffident’.

a) difficult b) tolerant

c) confident d) weak

11) Who won the race ? The _____________ or the tortoise.

a) hare b) hair

c) here d) heir

12) Maharastra is one of the _____________ states in the country.

a) large b) largest

c) larger d) none

13) The gentleman would not drink ______________ tea without your company.

a) my b) her

c) his d) our

14) Shankar went to the tailor to ____________ his trousers which was a bit
too long.

a) altar b) alert

c) alterr d) alter

2. Answer the following questions in brief (any seven) : 14

1) Who were the other Indians present at the parliament of religions ?

2) Summarise the points of advice that Von Braun gave Dr. Kalam.
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3) Why is it difficult to defend human rights ?

4) What is the central theme of the poem, “Brahma” ?

5) What is the theme of the poem ‘Full Moon’ ?

6) Describe Vivekanand’s meeting with J. H. Wright. How did wright help him out ?

7) What is Dr. Kalam’s attitude towards work culture ?

8) ‘I keep, and pass, and turn again’. What does it mean ?

3. A) Write short notes on any two of the following : 6

1) The speech that Swami Vivekanand gave at the parliament of religions.

2) Comment on the appropriateness of the title ‘Brahma’.

3) Examine Palkhivala’s evaluation about human rights.

B) Attempt any two of the following questions : 8

1) You have been appointed as the Assistant Professor at Shivaji University
Kolhapur. Draft a three paragraph e-mail accepting the appointment and
promising diligent service.

2) What is an e-mail ? Give four guidelines. Which will help to write e-mail
letter ?

3) Write an e-mail application letter for the post of Accountant. Imagine the
details.

4. A) Write a suitable CV for the post of Manager in Swami Samarth Nagar Sugarcane
Factory Works Ltd., Solapur. 14

OR

B) Imagine that you are applying for the post of Librarian in a reputed institution.
Prepare CV for the said post. 14

5. You are the secretary of Dreamland Co-operative Housing Society, Shivajinagar-
Pune. Prepare the notice and agenda for the 2nd meeting. Imagine the business
to be discussed. 14

_____________________
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B.Com. (Part – I) (Semester – II) (New) CGPA Pattern Examination,  2015
PRINCIPLES OF BUSINESS MANAGEMENT

Day and Date : Monday, 23-3-2015 Max. Marks : 70
Time : 11.00 a.m. to 2.00 p.m.

                     N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select the most appropriate alternative from given alternatives. 14

1) The leadership style where in the leader exercise absolutely no control is
called _________ leadership.
a) Autocratic b) Free-rein c) Democratic d) None

2) Effective communication must be
a) clear b) adequate

c) in understandable language d) all of the above

3) ________ helps in planning and evaluating the activities.

a) Budget b) Communication
c) Managerial change d) None

4) Salary, Bonus are ____________ means of motivation.
a) Non-monetary b) Monetary c) Negative d) None

5) Critical Path Method (CPM) is ___________ technique of controlling.
a) Historical b) Traditional c) Modern d) None

6) Change is __________ process.
a) Traditional b) Continues c) Economic d) None

7) The leadership style which is based on consultation with group is called
a) Autocratic style b) Free Rein Style
c) Democratic style d) None

8) Sending Reports, Letters and Mails are the examples of _________ type of
communication.
a) Informal b) Oral c) Written d) None

P.T.O.

Seat
No.
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9) The process of passing information from one person to another is called as
a) Leadership b) Communication

c) Motivation d) None

10) Fear and punishment treatment among the workers is used by ___________

leadership style.

a) Functional b) Autocratic c) Democratic d) None

11) In managerial changing process forgetting of old things in order to learn new

things is known as

a) Unfreezing b) Changing c) Refreezing d) None

12) _________ is an essential part of human and organisational life.

a) Stability b) Change c) Regidity d) None

13) ___________ is a process of stimulating people to act to accomplish desired

goals.

a) Controlling b) Planning c) Motivation d) None

14) Creating a sense of achievement is a ___________ incentive of motivation.

a) Financial b) Non-financial c) Political d) None

2. Write short notes on : 14
a) Economic factors of motivation

b) Resistance to change.

3. Answer in brief. 14
a) Traits in Leadership

b) Discuss the non-financial motivating factors.

4. Define ‘Leadership’. Explain the important types styles of leadership. 14

OR

What is ‘Communication’ ? Explain in detail the communication process.

5. Explain the concept of ‘Controlling’. Explain the Traditional and Modern techniques
of control. 14

OR

What is ‘Management of change’ ? Explain the process of planned change.
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Seat
No.

B.Com. – I (Semester – II) Examination, 2015
FINANCIAL ACCOUNTING (New) (CGPA Pattern)

Day and Date : Tuesday, 24-3-2015 Max. Marks : 70
Time :  11.00 a.m. to 2.00 p.m.

          N. B. : 1) Attempt all questions.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.

1. Choose the correct alternative : 14

1) A statement send by the consignee to the consignor showing details of the

goods sold by him is called ___________

a) Proforma Invoice b) Account sale

c) Statement of sale d) Statement of affairs

2) Bills receivables as endorsed having been dishonoured are debited to _______

a) Bills receivable A/c b) Bills payable A/c

c) Total Debtors A/c d) Total creditors A/c

3) A statement of affairs is a statement of ___________

a) Assets and liabilities b) Expenses and losses

c) Profit and Loss d) Incomes and Expenditure

4) Stock reserve in relation to closing stock appears on the __________ A/c.

a) Debit side of the Branch b) Credit side of the Branch

c) Branch profit and Loss A/c d) None of these

5) Cash remitted by branch but not received by the Head-Office is debited by the

H.O. to ___________ account.

a) Goods in Transit b) Head Office

c) Cash in Transit d) Cash



SLR-Q – 27 -2- ��������

6) The primary objectives of ____________ organisation is to provide services.

a) Partnership b) Company

c) Trading d) Non-Profit

7) The term __________ includes those basic assumptions or conditions upon

which the science of accounting is based.

a) Accounting b) Concepts

c) Conventions d) All of the above

8) On goods returned by consignee ____________ is debited.

a) Goods sent on consignment A/c

b) Consignment A/c

c) Consignee A/c

d) None of these

9) The amount of credit purchases is determined by preparing __________ A/c.

a) Total creditors A/c b) Total debtors A/c

c) Bills payable A/c d) Bills receivable A/c

10) The person who sends goods on consignment is called ___________

a) Vendor b) Consignee

c) Consignor d) None of these

11) Under __________ concept it is assumed that the business is expected to

continue for a long period in future.

a) Realisation b) Going concern

c) Accrual d) Business entity

12) Proportionate amount of ___________ expenses of consignee is added to

the cost of closing stock with consignee.

a) Recurring b) Non-Recurring

c) Selling d) Re-Recurring
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13) If goods invoiced at 20% less than the list price, the list price is cost plus

100% profit, then the invoice price is Rs. _____________

a) Rs. 160 b) Rs. 120

c) Rs. 80 d) Rs. 200

14) Consignee gets _________ for his work.

a) Profit b) Salary

c) Remuneration d) Commission

2. Write short notes (7 marks each) : 14

A) Goods-in Transit and cash-in-Transit in relation to Branch.

B) Accounting conventions.

3. A) Prepare an Account Sales from the following information : 7

Consignor – M/S. Suyog Trading Co. Pune

Consignee – M/S. Shravani Traders, Solapur

Sale – 50 machines at Rs. 2,000 each

Commission – 12% on sales

Expenses of the consignee :

a) Railway freight Rs. 5,000

b) Insurance Rs. 5,000

c) Godown Rent Rs. 3,000

Advance sent Rs. 15,000

Balance remitted along with the Account Sale by bank draft dated on

4th May 2013.



B) From the following particulars relating to Branch of M/S. Akash Traders, Pune.

Prepare the Branch Account in the books of Head Office to ascertain profit. 7

Particulars Rs.

Debtors on 1-4-2012 12,000

Stock on 1-4-2012 10,000

Petty cash on 1-4-2012 100

Transactions during the year were

Goods sent to branch during the year 2012-2013 30,000

Cash sent for

Salary 6,000

Rent, Rates 2,000

Petty cash 900          8,900

Goods returned by branch 1,800

Cash remitted by branch

Cash sales 16,000

Received from Debtors 28,000

Credit sales 34,000

Closing Balances on 31-3-2013

Debtors 16,000

Stock 9,000

Petty cash 200

SLR-Q – 27 -4- ��������



4. A) From the information given below of Mr. Udayraj prepare his Trading, Profit
and Loss A/c and Balance sheet for the year ended on 31-3-2013.

I) Assets and liabilities as on :

Particulars 31.3.2012 31.3.2013

Debtors 80,000 74,000

Creditors 30,000 24,000

Rent payable 500 300

Plant 50,000 60,000

Stock 75,000 80,000

Cash 7,500 32,500

II) Cash Transactions :

i) Receipts :

Cash sales 5,000

Collection from Debtors 3,55,000

ii) Payments :

Purchases of plant (on 1-10-2012) 10,000

Rent paid 6,200

Cash purchases 10,000

Payment to creditors 1,56,000

Salaries 1,00,000

Wages 30,000

Electricity charges 10,000

Drawings 12,800

III) Adjustments :

a) Bad debts written off Rs. 1,000

b) Depreciate plant by 10% p.a. 14

OR
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B) M/S Ajanta Agencies of Akola sent consignment of 1,500 cases of Toys
costing Rs. 400 per case to M/S Ganesh Traders, Solapur and paid Railway
freight Rs. 13,000, Carting Rs. 3,000 and other expenses Rs. 27,000. The
goods were charged at pro-forma invoice price. So as to show a profit of 20%
on sales.

Consignment is entitled to a commission of 7.5% on total sales and 2% on
credit sales. He accepted bill for Rs. 3,00,000 drawn by consignor.

An account sales was received from M/S Ganesh Traders informing as under :

1) 1,200 cases were sold for Rs. 6,90,000 out of which cash sales were for
Rs. 3,40,000.

2) Expenses incurred :

Advertisement Rs. 7,350

Discount Rs. 6,500

Other expenses Rs. 3,000

3) Commission is charged as per terms –

M/S Ganesh Traders sent a Bank draft for Rs. 3,00,000 together with
account sales.

Prepare :

1) Consignment A/c and

2) Consignee’s A/c in the books of consignor. 14

5. A) M/S Mahalaxmi Traders, Pune has a branch at Satara. The goods are invoiced
to the Branch so as to show a profit of 30% on Invoice price, under the strict
instructions of selling goods only at invoice price.

Following are the particulars relating to the branch :

Particulars Rs.

Stock on 1-1-2014 (Invoice price) 1,20,000

Debtors on 1-1-2014 62,000

Goods sent to Branch during the year (at Invoice price) 3,50,000

Goods returned by the Branch (I.P.) 10,000

Credit sales during the year 2,10,000

Cash sales during the year 2,00,000

Goods returned by customers 6,000
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Cash received from Debtors 1,90,000

Discount allowed to Debtors 3,000

Allowances made to Debtors 2,000

Bad debts in the year 6,000

Cheques sent to Branch for :

Salaries 33,000

Rent and Rates 20,000

Shortage of goods at branch (I.P.) 4,000

Ascertain the profit or loss  made by the branch by preparing

1) Branch Stock A/c

2) Branch Adjustment A/c

3) Branch Debtors A/c

4) Branch Expenses A/c

5) Branch Profit and Loss A/c. 14

OR

B) The following is the summary of receipt and payment A/c of Prabhat Club,

Solapur for the year ended 31-3-2013.

Receipts and Payment A/c

Dr. Cr.

Receipts Rs. Payments Rs.

To cash in hand (1-4-2012)    150 By Salaries 3,000

To cash at Bank (1-4-2012) 1,670 By Repairs 1,400

To subscriptions 5,600 By Sundry Expenses 500

To donations 7,000 By Purchase of Motor Car 9,500
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To Social Events 3,000 By Postage and Telegram 500

By Insurance 200

By Social Event

Expenses 1,600

By cash in hand

(31-3-2013) 220

By cash at Bank

(31-3-2013) 500

17,420 17,420

Adjustments :

1) Subscription Rs. 1,400 is outstanding on 31-3-2013 and subscription of

Rs. 400 are received in advance.

2) Rs. 1,000 and Rs. 600 is to be provided for depreciation on Lease hold

premises and Equipments respectively.

3) As on 31 March 2012 the book values of fixed assets were :

Lease hold premises Rs. 24,000 and Equipments Rs. 8,000.

4) Insurance prepaid upto 30th June 2013 Rs. 50.

5) Capitalise Donation fully.

You are required to prepare –

a) A statement showing capital fund as on 31-3-2012.

b) The Income and Expenditure A/c for the year ended 31st March 2013.

c) The Balance Sheet as on 31st March 2013. 14

_____________________
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Seat
No.

B.Com. – I (Semester – II) (CGPA Pattern) (New) Examination, 2015
ECONOMICS

Business Economics

Day and Date : Wednesday, 25-3-2015 Max. Marks : 70
Time : 11.00 a.m. to 2.00 p.m.

           N. B. : 1) All questions are compulsory.
2) Figures to the right shows full marks.
3) Draw diagram whenever necessary.

1. Choose the correct alternative : 14

1) Total cost of production ÷  No. of production = ____________
a) Marginal cost of production b) Average cost of production
c) Fixed cost of production d) None of these

2) Production function is a functional relationship between ________
a) Input and output b) Agriculture and industry
c) Labour and capital d) None of these

3) Internal economies arises due to ____________
a) Centralisation b) Localisation
c) Large scale production d) None of these

4) The concept “External Economies” is related with the ___________
a) Firm b) Industry c) Service sector d) None of these

5) In perfect competition, average revenue curve is __________
a) Parallel to ‘Y’ axis b) Parallel to ‘X’ axis
c) Convex to the origin d) None of these

6) In __________ market, producer himself is a price maker.
a) Duopoly b) Perfect competition
c) Monopoly d) None of these

7) Product differentiation is done in __________ market.
a) Monopolistic competition b) Monopoly

c) Perfect competition d) None of these



SLR-Q – 28 -2- ��������

8) Law of variable proportion assumes ___________ situation.

a) Short run b) Medium run c) Long run d) None of these

9) The concept of transfer earning is introduced by ___________

a) Mrs. John Robinson b) Ricardo

c) Keynes d) None of these

10) The concept of quasi rent was first introduced in economics by __________

a) Ricardo b) Marshall c) Adam Smith d) None of these

11) ____________ means the labour paid remuneration for their work.

a) Rent b) Profit c) Wages d) None of these

12) Innovation theory of profit is put forth by ____________

a) Hawley b) Schumpeter

c) Marshall d) None of these

13) Break-even point means _____________ point.

a) No profit no loss b) Only profit

c) Only loss d) None of these

14) _____________ introduced the liquidity preference theory of interest.

a) J. B. Say b) Prof. Knight c) Keynes d) None of these

2. Write short answer of the following questions :

A) State the internal economies. 7

B) Explain the features of perfect competition. 7

3. Write short notes :

A) Price discrimination. 7

B) Product differentiation. 7

4. Answer any one of the following (Long answer) : 14

i) Discuss the law of variable proportion.

ii) Explain the price determination under monopoly.

5. Answer any one of the following (Long answer) : 14

i) Explain the wage determination under perfect competition.

ii) Discuss fully the innovation theory of Schumpeter.
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B.Com. I (Semester – I) Examination,  2015
(CGPA Pattern)

FINANCIAL ACCOUNTING

Day and Date : Tuesday, 24-3-2015 Max. Marks : 70
Time : 3.00 p.m. to 6.00 p.m.

            N. B. : 1) Attempt all questions.

2) All questions carry equal marks.

3) Use of calculator is allowed.

1. Choose correct alternative : 14

1) In conversion of partnership firm into a limited company the accumulated  ̀

losses and profits of a vendor firm are transferred to ___________

a) Purchasing Co. A/c b) Realisation A/c

c) Partners capital A/c d) Cash A/c

2) Rent due to the landlord is a preferential creditors under presidency Towns

Insolvency Act for a period of ____________ month.

a) 3 months b) 1 month c) 4 months d) 2 months

3) The main objectives of conversion of the firm into a limited Co. is _________

a) Need for expansion of business

b) Need for reduction of unlimited liabilities

c) Facilitate transfer of ownership

d) All the above

4) The unsecured creditors who shall paid in full in priority to all other unsecured

creditiors are called __________

a) Fully secured creditors b) Partly secured creditors

c) Preferential creditors d) None of the above
P.T.O.

Seat
No.
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5) A Statement of Affairs shows the assets at _________

a) Book value

b) Realisable value

c) Book value as well as realisable value

d) None of these

6) Every debit has a corresponding credit this is applicable as per __________
concept.
a) Monetary unit b) Realisation
c) Going concern d) Dual aspect

7) Investment of staff provident fund of credit co-op. society are shown on
__________
a) Assets side b) Liabilities side
c) Profit and Loss A/c Debit side d) Profit and Loss A/c Credit side

8) Out of bills discounted of Rs. 8,800, Rs. 4,000 are likely to be dishonoured
in this case Rs. __________ amount is shown under the other losses of
deficiency A/c.
a) Rs. 12,800 b) Rs.8,800 c) Rs. 4,000 d) Rs. 4,800

9) Shares received from Purchasing Co. as a part of Purchase consideration
are distributed among the partners of vendor firm in the ratio of __________
a) Final claim b) Equal
c) Profit sharing ratio d) Capital

10) The Credit Co-op. Society may invest the fund under Section ___________ of
the Co-operative Societies Act.
a) 60 b) 65 c) 33 d) 70

11) A separate Bank A/c called clients Bank A/c is opened in Accounts of ________
a) Partnership firm b) Professionals
c) Company d) Co-operative Society

12) The Co-operative Credit Societies Act was laid down in ________
a) 1940 b) 1930 c) 1904 d) 1920
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13) Stock of Drugs of a professional Doctor’s are shown on __________

a) Receipts side b) Expenditure side

c) Liabilities side d) Assets side

14) Financial statements of Co-op. Societies are prepared in the __________ form.

a) ‘A’ form b) ‘B’ form c) ‘N’ form d) None of these

2. Write short notes on : 14

A) What is meant by Purchase  consideration ? State its methods for calculation.

B) Write note on Accounting concepts.

3. A) From the following information prepare List – B and List–C in statement of Affairs. 7

1) Creditors holding a first charges on the shares of Solapur Co. Ltd. Rs. 60,000.

2) Creditors holding a second charge on the shares of Solapur Co.Ltd.
(to the extent of Rs. 45,000) were Rs. 52,500.

3) Shares in Solapur Co. Ltd. Rs. 1,27,500 (estimated to produce Rs. 1,14,000)

B) From the following information calculate Purchase consideration and settlement
of Purchase consideration. 7

Balance Sheet as on 31-3-2013

Liabilities Rs. Assets Rs.

Capital A/c’s Fixed Assets 50,000

     Ram 32,000 Loose Tools 4,000

     Shyam 17,000 Bills Receivable 8,000

General Reserve 12,000 Stock 15,000

Creditors 20,000 Debtors 12,000

Bills Payable 10,000 Cash in hand 2,000

91,000 91,000



The partnership was converted in Limited Company on that date subject to the
following adjustments.

1) The company agreed to take over Fixed Assets at Rs. 52,000, Stock at
Rs. 14,000 and Debtors at Rs. 13,000

2) The company also agreed to pay Creditors and Bills payable at 10%
discount.

3) Bills Receivable were taken over by Ram for Rs. 7,000 and Shyam took
loose tools for Rs. 3,000.

4) Goodwill was valued at 3 years Purchases of the average Profit at last
4 years.

2010 – Rs. 4,000 (Profit)

2011 – Rs. 8,000 (Profit)

2012 – Rs. 2,000 (Loss)

2013 – Rs. 14,000 (Profit)

5) The P.C. was discharged by issuing 7,500 equity shares of Rs. 10 each
at Rs. 6 per Share paid up and balance in cash.

4. A) Shri Anuj filed his bankruptcy petition on 30th Sept. 2012.

From the following information prepare his Statement of Affairs and Deficiency A/c.

Particulars  Rs.
1) Creditors for Goods supplied 80,000
2) Bills Payable 10,000
3) Creditors secured by Lien on Shares 40,000
4) Creditors secured by Lien on Stock 15,000
5) Liability on Bills Discounted

(estimated to rank Rs. 3,000) 7,000
6) Mortgage on factory Building 10,000
7) Creditors  for Rent, Rates and Taxes (All preferential) 3,000
8) Book-Debts – Good 35,000

Doubtful and Bad (estimated Rs. 2,000) 10,000

9) Shares (estimated to realise Rs. 16,000) 15,000

10) Stock (estimated to realise Rs. 40,000) 60,000
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11) Cash at Bank 100

12) Bills Receivable (estimated to realise 100%) 1,400

13) Factory Building (estimated to realise Rs. 11,000) 20,000

14) Machinery (estimated to realise Rs. 12,000) 15,000

15) Fixtures (estimated to realise Rs. 1,500) 3,000

16) Motor Car (estimated to realise Rs. 6,000) 9,000

On 1st Oct., six years ago, he had a capital of Rs. 50,000. During the
six years Profits were made totalling Rs. 55,500 and losses incurred totalling
Rs. 25,000. His Interest on Capital Rs. 3,000 per year and total withdrawals
amounted to Rs. 88,000. 14

OR

B) Dr. Raman is a Child specialist commenced practice in April 2013 . He prepared
the following Receipts and Payments A/c for the year ended 31-3-2014.

Receipts and Payments A/c

                                         Dr.        Cr.

Receipts Rs. Payments Rs.

To Balance b/d 60,000 By Furniture 10,000

To Receipts from By Assistant’s Salary 12,000

Dispensing 58,000 By Equipments 40,000

To visiting fees 80,000 By Drugs 20,000

To Miscellaneous 2,000 By Rent 10,000

By Conveyance 6,000

By Stationery 1,200
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By Drawings 56,000

By Light Bill 1,400

By Journals 1,800

By Balance c/d 41,600

2,00,000 2,00,000

On account of visits Rs. 8,000 were still outstanding. Assistant’s Salary payable
Rs. 1,200. Stock of drugs on hand was estimated at Rs.4,000 Furniture and
Equipments are subject to depreciation at 10%. Out of conveyance 50% is for
domestic  purpose.

Prepare Receipts and Expenditure A/c for the year ended 31-3-2014 and
Balance Sheet as on that date. 14

5. A) Om, Jay and Jagdish were partners sharing profits and losses in the ratio of
3 : 2: 1 respectively. The Balance Sheet of the firm as on 31-12-2013 was as
under.

Balance Sheet 31-12-2013

Liabilities Rs. Assets Rs.

Sundry Creditors 12,000 Cash at Bank 8,800

Capital Reserve 4,800 Debtors 30,000

Investment fluctuation Plant and Machinery 32,000
fund 6,000
Capitals Stock 24,000

             Om 45,000 Furniture 18,000

             Jay 30,000

             Jagdish 15,000

1,12,800 1,12,800
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The partners  of the firm decided to dissolve the firm and to form private Ltd.
company called ‘Bhakati Ltd’. Subject to the following adjustments.

1) The assets are transferred to the Bhakati Ltd. at following values.

Debtors Rs. 28,000, Stock Rs. 20,000, Plant and Machinery Rs. 40,000.

2) Furniture was sold at Rs. 16,000.

3) The Goodwill valued at Rs. 4,000.

4) The Creditors of the firm are to be transferred to Bhakati Ltd. at Rs. 11,200.

5) Realisation Expenses amounted to Rs. 1,200.

6) Purchase consideration is to be given in the form of 7,200 equity shares of
Rs. 10 each and balance in Cash.

Prepare Necessary Ledger Accounts to close the books of the firm with working
notes of Purchase consideration. 14

OR

B) From the following Trial Balance of Bharat Credit Co-operative Society Solapur.
Prepare Profit and Loss A/c and Balance Sheet.

Trial Balance (31-3-2011)

Particulars Dr. Rs. Particulars Cr. Rs.

Cash in hand 74,600 Share Capital 5,00,000

Fixed Deposit in M.S.E.B. 1,25,000 Building fund 28,000

Loans to Members 3,11,000 Charitable fund 12,000

Provident fund Members Deposits

Investment 1,82,000      Saving Deposits 54,000

Land and Building 1,40,000      Current Deposits 58,000

Dead stock 16,000      Recurring Deposits 1,50,000

Staff Salary 86,000 Interest on Investment 87,000



Postage and Telegram 2,500 Education fund 3,000

Meeting Expenses 6,000 Profit and Loss A/c

Light Bill 5,500 (Balance) 28,000

Printing and Stationery 6,400 Sundry Incomes 1,000

Advertisement 2,000 Share Transfer fees 2,000

Travelling Expenses 3,000 Interest on Loans 98,000

Interest on Deposits 35,000 Unclaimed Dividend 2,000

Contribution to P.F. 5,500 Commission 2,000

Insurance Premium 1,500

Furniture 8,000

Cash at Bank 7,000

Sundry Expenses 8,000

10,25,000 10,25,000

1) Interest on Investment accrued Rs. 3,500.

2) Interest due on member Deposits Rs. 5,000.

3) Salary paid in Advance Rs. 6,000 and outstanding on 31-3-2011 Rs. 10,000.

4) Depreciation on Building and furniture by 10% and 5% respectively.

5) Commission payable Rs. 1,500. 14

____________
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Sahityadhara Aur Vyavharik Hindi
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Time :  11.00 a.m. to 2.00 p.m.
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Seat 
No. 

 

 

B.Com. (Part – I) (Semester – II) Examination, 2015 

URDU (Compulsory) (New) 

(CGPA Pattern) 

(Prose, Poetry and Communication) 

Day and Date : Thursday, 26-3-2015 Max. Marks : 70 

Time : 11.00 a.m. to 2.00 p.m.       

N.B.   1) All questions are compulsory. 

2)  All questions carry equal marks. 

Ï.  ı ı ظ   ↑ د ل  ا    ĿԹ ѥѵ εБ ̳ӎ
й

Ņ؋   ı ب   Խا  ╒„ђ ی Ņ   µ  ı  ▤ Ŭ ҿ Ẁ  ̳ؗ
ԗ

 :               14  

Ï(    " Ĵ  «   ŜФӉ ыҢ  "  _____________ қ  Ҥ š   ı   Š  ı ҁ؋    Ҁ▲҂ Թ аїБÜ  

  )ţ  Ł   Ł  ĩ Ł ˘Ѳر  Э В Аӧ ң    ر Њ ԗ∂ ק ل   ˤίԗ      Ī ا Ĵ  ŉŲ ӈ ̜ŜΟ    ŝ  ĩ ŁеѶ┼Ġ Јѕ(  

 Ð (       Ẁ   Ȝ   ∟ ŉ   ≡ ĩ د  ¨ ť ϴѶ  ا » ر   ҇Οԗ ԱՓС ̘ ђ гҀ  _____________ş Ņ ء    ť ش     ґїė Խ ŨÜ  

  )ŝ  ŅдУ
ƒ ▤  ŝ «еԗ    دا ↓Ң  ő  šЯѳ     )خ

Ñ(    ĩ Ł   ¨ ٙ  ŉ   ō  « ŅЈѕ ̨ ΕЯѣ ▤ӌѹ  Š  «  ≤ ı ı  آ    Ĳ  ı   ŀ   ŝс ╜ Թ Эӈ
̳ң е  _____________ қÜ 

  )ȥѕ
ВҰ

ı د   ╜Ł ر آ  Аӈ  ą ıЙѕد ı š ر  ╜ آ    )خҜ ק 

Ò(   ا  Ͷрˇ  د ی ı ╜ͯ  آ  ԕ  ____________² Қ  ĩ Ł   şΟŵ їБÜ  

  )ÏÖÑÎ ء  ÏÖÑñ ء   ÏÕÑñ ء     ÏÕÑÎ ء(  
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ñ(  Ï×ÔÑ   ؤ Ł   Ĵ  š   š ˪Ν ء    Ѿ ԡ ԙҾ  ____________  šԙ'ی ō  ¨ ŁΔ Ŧ  'Üĩ ا ز š    Ҕ  ز ĩ ŋ ˇ؋   ا  ̘  

↑ ل(    ĩ µ  ťѨ ؈ ё  ŝ ŁеѶ┼Ġ ا  Јѕ  ţ  Ł  Ł  ĩ Ł ˘Ѳر  Э В Аӧ ң    µ  ĩ ٚҺţ  ı  Š  ҂ рˇ Уӈ(   

Ô(  ¨ ı   µ  ĩ ٚ ō ت     Ćı Ẅр  د ر  Ժˇ Һ ΒӔ Уż  ϴ   ş ∂ ء   Ł ٲ  ا »  гҀ  ا  їБ ѵ ѳ  ___________  

    ∂   ∂   ą š  Ł   šԘ ԗ ѫ ԙБÜ  

  )ţ  Ł  Ł  ĩ Ł ˘Ѳر  Э В Аӧ ң    Ŝ  Ī ا Ĵ  ŉΟŲ ӈ ̜    ţ  ı  Š   µ  ĩ ٚ҂ рˇ Уӈ Һ         ر ی ı ŉ س   ╒Ұ ̖ǽ(  

     Õ(   " µ  ı   ţ ؈آ د  Ŭ ҂  "  _____________ қ  Ś š ر     ґҭѶ╒Β ˥ЬѾÜ  

  )Ғ ıҾ   ا Ͷ؈őЯŬ     Ͷрˇ     ل ↑  ĩѨ(  

ô(   " ĩ د ر  Ŝ  ıŬ қ  Ҥ š ______________  "  ء ╜ ŉ ی   ť  ا ر د »     ıҁ▲҂ ̚Ц ˣ˓ ԹÜ  

↑ ل(    ĩѨ     Ғ ıҾ     Ͷрˇ      ı┼҂ز(  

×(    Şы
ˇ

"ҟ
ѶѥѾ

  "   _____________ қ  ȥ    ţ    ş   Ĵ   ґԘ ҋԱ؆ їБ МιתÜ  

  )őѿ○҂     س ŁПѾ     ŗ رǼ     ĶѶюѾ( 

ÏÎ(     Şы
ˇ

  "¨ ť ŋ ر  ا   « ŁН ̐ Б   "  Ś  ı   ıѷ ҿ Թ___  ________ қÜ  

↑ ل(    ĩѨ     Ғ ıҾ     Ͷрˇ     ∑ԟŮ≡ Ł  ё(  

ÏÏ(     Şы
ˇ

"¨ ı   ı ŉ د ی     ª ا ٗԹ Թ ̨  "  š ı پ     Ł   Ĺ ş  د »    Ĺ  ı ԙا س   ╜ Ѿ ԻΝ ѵ Żї Б ӈ  ___________Ł ŉŬ ز  ̜ Ü Ť  ҉̨  

  )ŠїŨ     « ؼ     د ıŦ     ت ıН(  

ÏÐ(     Ś   ı   ¦ ŉ   ķ  ŉ ı ل     ͶФѕ Թ Н̨ ̝Ż ͣ  _____________ı  ťŨ ˣԛ Ü қ  

  ) šзѧŚ  µ  ∂Фѕ Ŭ     µ  ı ѕ» ا  Ŭ ˣѻŚФ    ıђŚ   µ  ↑Фѕ Ŭ ź  Ś  ≡ ı Фѕر »  Ҿ(  
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ÏÑ(    ی Ͷ   µ Ͷ ی  »Ć  آ    ţ µ  ر  ҏ ıѽ ͤк Ν ŬЯŭ ؉ ╜!  

Ͷ ی      «  ≤ ť   «  ≡ ı   µ    Ċ ͣا Б пѸН ьεРԗ  

      ŉ ı ק     µ Ł̚Ц ر  ╜ ѾҺ Ν  _____________Ü қ ا Қ  ı   ı҅ ԹԱ؆  

  )Ғ ıҾ  Ͷрˇ  ő  ĩ ͶЯŬ ↑ ل  ؈  ĩѨ(  

ÏÒ(    ___________ ا ť   šˣ˓ ԙÜ қ  ı  ı   ∂   Ş   ŉ  ı   ţ  ĩ š Ũر د »   Һ Оԗ ˜ѶПž ̘ ҂ љ  

↑ ل(    ĩѨ     Ғ ıҾ     Ͷрˇ     ز ı┼҂( 

Ð.     Ẁ ı ت   ٗ ا  µ  ذ ڂ  Ҙ ا ק ت  ؋    Ł ر 
Ա҇؆ ╜ ѾҺ Ν :)   ≤ šԙت ıН  (  14   

 Ï(   ı  ı š ڑ    ∂    Ť    Ȝ ا  š    қ ı  ŉ   ķ š ≥  ا د    ą ↓  « ŁŨ Һ Ũ ˪҉ Ǿ ԙٵ ԗ Ң҉˟ ŵ ؑ ̨ Ż ΝÍ   қ    

Ð(       ª ı    ª ı ı ر ĩ ت    ş   ا     Š  «    Ȝ ا
Ա؆ ˣ ˣ ˣԛ ԛ άң ї сБ ؑ Ť҉Í  ş ŉ   آ ء       ² Қ  ї ė ̗ˇ  

Ñ(      Şы
ˇ

ı ء" ŉ ی  ґ  ا  ō┼„ѵ ت   ̛з ΒӔ   " қ  ≤ ↓     Ĵ     ≡ ı Ņ د ĩ ر » ґ  ª  ز  Š   د »      ŉ  ı     şŲ Мѩҭԗ Խ╜ Оԗ ї̘ БÍ  

Ò(   Í   қ  Ĵ  ı   ª А    ş    ª « ŉ  ı ª « ŉѪǼ  ا » ر    п ОҀ ԗ ̘ ҍїБ ▼҂  

ñ(  ŀ   ŝ  ĩ Ł    ¨ ٙ  ŉ
̳ң еѶ┼Ġ Јѕ ̨Í  ş      џ ı     ∂ ş   آ پ         Ċ ر ı Ĳ   ؋       ı    ї їė БŹ Һ ╜ Эԗ ӈ  

Ô(   ر Ҙ   ؤ  ϴгҀ ĩÍ  ş Ņ ء    ŉ ح     ő   Ĵ  ı  «  ґ  ی А    µ  ı    Ş    ≡ ↓  « Ł їėج  ا » ر   Խ ̔ ԗ ӈ Ю Ů ˪Ų Κѧ ˜ѶѓǾ Ң Ν  

Õ(  Í   қ ∫ Қ  ض ĩ ر ı   ª А    Ҕ  ϴ   ≤ ť   ı Ŭد  Ůԗ гҀ Н  

Ö(   ņ   ş ∂ د ت     ґ  ő Ŝ  آ ز ĩ د ی     ғ   ґ  ą ↓  « Ł̎ ї Б Ѩ ӓ Ңԗ ы ˣ˓ Ν˪Í ţ   ȥ ҋ̨ی   Ԙ 

Ñ .ř ѷ   (Ẁا  ı ت   ٗ ا    ō
Ա҇؆ ╜ ΑҨӏ҂:   ) « د  ≤ šԙ(            8  

  Ï( "ش ť   ґ  د ↓ Ũا  Ң  "Í  ş    џ د  ¨ ı   ∂   ϴ   şї Ҁ їė Бؒ є׭ŵ ԗ г  

Ð(       Şы
ˇ

 " ҟ
ѶѥѾ

    " Ȝ ا  µ  ť   ıؑ Э ҿ Թ Ẁ   Ņ  ŉ   ş ı ظ    ԗ̳ؗا  ̉ Β̶ ї Б ѥѵÜ  
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Ñ(       ی Ň  Ņ ̉ا  Ղՙ  ı Թ↑ ر ت    ѕ« ا ر د Ẁ    µ  Ņ    ş    ̳ؗԗ ѽӥ ▣ їБ  

 
The  babies  of  some  animals  can  stand  and  walk as  soon  as   
they are born. A  baby  deer  and  a  calf  can stand  on  four  legs  and   
walk when they are just one day old. But some other animals have   
to  carry  their  babies  till  they  grow  up  and  become  strong. A cat 
carries its kittens from place to place. Mother cat picks up a kitten by   
the neck and  carries  it  around  holding it  in  its mouth. Though the  
cat has  sharp teeth, the  kitten does  not  get hurt  at  all. 

Ẁ  )  ب ı ت   ٗ ا     ō
Ա҇؆ ╜ ΑҨӏ҂:  ) « د  ≤ šԙ( 6  

      Ï(     ı  Թ  ķ  ı ļ ѵ  ؋    н ѹ
 šҁѺ
ё

ı ر ªˣъ   Í  ş  ؋   ا  Қ   ҕ ء       Ť ŉ Ĵ  ؋      їė їԕ Ѯڕ ̔ Дӎ҂   

    Ð(    ı  Ņ   ↨  ı   ı   ª А  ı  Ņ   Š   Š   Ĵ Ņ ء   »  ť ش     ґ  د ↓ š  ا    ≡ ĩ د  ¨ ť ϴŬ  ا » ر   Н Թ РԽ ▤ ԽѾ ҢŹ ǻ ԗ ԗ ҀѨ Ũ ђԙ гÍ   қ  ı  ņŨ ▤  

    Ñ(    " ≤ ť   ı Нد  Ů  " Ņ  ŉ ∂ ل   Ň ی   ŉ   ı̉ ̶ Խ ̨Β Ӊ Թ ÜẀ ̳ؗ
ԗ

  

Ò.     ś šŮ ≥  ا  ԙ  Ẁ ٗ ا ب     ŝ
Ա҇؆ ЯѭҀ :               14  

   Ï(      µ  ŉΟŸ ŉ ی" ̨ ơ̄з ت  ΒӔ ґ    ı ı  "ءѵ„┼ا   Թ µ  ť  Э ҿş ı ظ  ї  ا Ȝ   ا  Б ѥѵ ؑŅ  ŉ   ̉ Β̶  Ẁ ̳ؗ
ԗ

Ü  

Ð(  Ł   ¨ ٙ  ŉЈѕ ̨   ą š   Ćد Ņ   Ņ  ŉ   ı   Ĳ  ı   ŝ ҁлҀا  Խ ̉ Β̶ Թ Эӈ еѶ┼Ġ" آ  Ŝыӓµ   ı ŉ ی    ı ş  ا ر د »   ЯӔز ĩ د ی   Թ О̘ їБ "  

 ĩ ڈ  ỳ ŝ  ر »    Ņ  ң ѭЯ Ҁ ▤ẀѵÜ  

Ó.      ą š   Ćد Ņ   Ņ  ŉ   ı   ţ  Ł   Ł  ĩ  Ł ҁлҀر  Խ ̉ Β̶ Թ Ѳ˘ Э В Аӧ ң  "≤ ı ıŦ ر  Ҽ  "Ẁ  Ł   ş ı ظ   µ  ا Ȝ   ا   ť   ıؗ ̳ؑԗ
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B.Com. I (Semester – II) (New) Examination, 2015
(CGPA Pattern)

PRINCIPLES OF MARKETING

Day and Date : Thursday, 26-3-2015 Max. Marks : 70
Time : 11.00 a.m. 2.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks of questions.

1. Choose the correct alternative from given alternatives. 14

1) Consumer Protection Act in India was passed in the year

a) 1966 b) 1976 c) 1986 d) 1996

2) Attitude is a _____ factor affecting consumer behaviour.

a) Cultural b) Non-Economical

c) Economical d) Psychological

3) Auction sale is a kind of _____ selling.

a) Personal b) Impersonal c) Tender d) None of these

4) _____ is a systematic attempt to get information useful in solving marketing
problems.

a) Customer Research b) Marketing Research

c) Product Research d) Sales Research

5) All disputes of compensation amounting to more than Rs. 20 lacs but less
than Rs. 1 crore are settled at

a) District Forum b) State Commission

c) National Commission d) None of these

6) Good Health is a _____ quality of successful salesman.

a) Physical b) Ethical c) Social d) None of these

7) Manufacturer →  Retailer →  Ultimate consumer is a ______ channel of
distribution.

a) Direct b) Indirect c) Door to Door d) None of these

Seat
No.
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8) _______ creates time utility.
a) Warehousing b) Transport c) Insurance d) Banking

9) The purchase quantity in case of customers having saving habit is
a) Less b) High c) Reasonable d) None of these

10) Felicitation of salesman for his good work is a ________ means of motivation.
a) Financial b) Compulsory c) Non-financial d) Indirect

11) ________ is the first step of Marketing Research.
a) Collection of information b) Setting up of objectives
c) Follow up d) None of these

12) _______ is an art of persuading the customers to buy goods and services.
a) Sales promotion b) Leadership
c) Control d) Salesmanship

13) ______ is observed as ‘World’s Consumer Day’.
a) 15th April b) 15th March c) 16th April d) 16th March

14) A ______ is an end-user of a product or service.
a) Customer b) Buyer c) Consumer d) Mediator

2. Write short notes :

A) Qualities of a successful salesman. 7

B) Importance of consumer behaviour. 7

3. Write short answers  :

A) Explain the objects of Marketing Research. 7

B) State the importance of salesmanship. 7

4. Answer any one of the following questions : 14

A) What do you mean by channel of distribution ? Explain the factors affecting
the choice of distribution channel.

B) What do you mean by Consumer Behaviour ? Explain in brief the factors
affecting Consumer Behaviour.

5. Answer any one of the following questions : 14

A) Define the term Marketing Research. Explain in brief the steps involved in
the process of Marketing Research.

B) State the various financial and non-financial methods of stimulating salesman.
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B.Com. I (Semester – II) (Old) Examination, 2015
PRINCIPLES OF BUSINESS MANAGEMENT

Day and Date : Monday, 23-3-2015 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

               N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Select the correct alternative from  the given alternatives : 10

1) Forgetting of old things means

a) Refreezing b) Unfreezing c) Freezing d) None

2) Motivation deals with ________ of workers.

a) Psychological b) Sociological

c) Historical d) Economical

3) Most people dislike

a) Management b) Controlling

c) Change d) Planning

4) ________ is the non financial incentive.

a) Basic salary b) Increments

c) Bonus d) Extra responsibility

5) _________ is the form of business communication.

a) E-mail b) Letter c) Reports d) All

6) Under ________ leadership style the leader have full power to take decision.

a) autocratic b) democratic c) free-rein d) intellectual

P.T.O.
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7) _________ is the modern technique of controlling.

a) Observation b) Critical path method

c) Internal Audit d) Audit

8) _________ is the passing of information.

a) Supervision b) Communication

c) Controlling d) Directing

9) ________ is the basic requirement of effective controlling.

a) Understanding the object b) Participation

c) Economical d) All

10) Process of planned change given by

a) George Terry b) Kimbal

c) Taylor d) Louis Allen

2. Answer the following.

A) Motivation : Need 5

B) Democratic Leadership. 5

3. Answer the following.

A) Effective controlling 5

B) Forms of Business Communication. 5

4. Answer any one of the following.

A) Explain the process of planned change. 10

B) Explain the techniques of controlling. 10

5. Answer any one of the following.

A) State the traits and functions of a leader. 10

B) Explain the process of communication. 10
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B.Com. I (Semester – II) (Old) Examination, 2015
FINANCIAL ACCOUNTING

Day and Date : Tuesday, 24-3-2015 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

Instructions : 1) Attempt all questions.
2) Out of Q. No. 4(A) and Q. No. 4(B) solve any one.
3) Out of Q. No. 5(A) and Q. No. 5(B) solve any one.
4) Figures to the right indicate full marks.

1. Choose the correct alternative and complete the given sentences. 10

1) The balance in the goods sent to branches A/c is transferred to ________
Account.
a) Branch A/c b) Purchase or Trading A/c
c) Branch Stock A/c d) Branch Cash A/c

2) Credit purchases can be traced out by preparing ________ A/c.
a) Total debtors b) Bills receivables
c) Total creditors d) Bills payables

3) _______ branches are working under the instructions of the Head Office.
a) Dependent b) Independent
c) Agency d) Foreign

4) To cancel loading in the branch stock __________ A/c is opened.
a) Branch debtors b) Branch expenses
c) Branch adjustment d) None of the above

5) ________ commission is allowed to the consignee to bear the loss of bad
debts.
a) Special b) Extra c) Additional d) Del-credere

6) The relation between the consignor and consignee is of
a) Debtor and Creditor b) Principal and Agent
c) Agent and Co-agent d) Drawer and Drawee

7) In accounts for non-profit organisation the excess of income over expenditure
is termed as
a) Profit b) Loss c) Surplus d) Deficit

P.T.O.
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8) The primary objectives of _____ is to provide services.
a) Sole Trader b) Partnership firm
c) Company d) Non-profit organisation

9) Opening capital is ascertained by preparing
a) Opening statement of affairs
b) Opening cash A/c
c) Opening receipts and payment A/c
d) All of the above

10) A loss which is natural and unavoidable is called ________ loss.
a) Normal loss b) Contingent loss
c) Abnormal loss d) Miscellaneous loss

2. Write short notes on : 10

1) Stock and Debtors method of Branch Account.

2) Account sales and proforma invoices.

3. A) Following are the particulars relating to a Mumbai Branch of Radheya and
Company, Rajasthan, for the year ended 31st March 2013. 5
Particulars                                                                     Rs.
Stock at Branch on 1-4-2013 30,000
Stock on 31-3-2013 25,000
Goods supplied to the branch during the year 4,80,000
Remittances received from the Branch 5,50,000
Salaries 24,000
Rent 7,200
Telephone expenses 2,000
Petty cash (remittance) 3,000
Petty cash balance on 31-3-2013 200
Petty expenses 2,800
All the Branch expenses are paid by H.O., petty cash being supplied on
imprest system. Prepare Branch A/c in the H.O. Books.

B) M/s Onkar Trading consigned 2000 LED sets @ Rs. 12,000 each to
M/s Anjum and Co. Onkar Trading Co. paid Rs. 20,000 as freight. Due to normal
wastage only 1950 sets were received by M/s Anjum and Co. M/s. Anjum and
Co. paid Rs. 5,000 as unloading and carriage charges. 5
The unsold LED sets are 650.
You are required to calculate the value of closing stock.



4. A) Mr. Rajaram keeps his books on single entry basis. Following is the analysis
of his cash book for the year ending 31-12-2007. 10
            Receipts                                Rs.        Payment                        Rs.
To Bank Balance on 1-1-2007 2,800 By paid to creditors 35,000
To Received from Debtors 48,000 By Salaries 6,500
To cash sales 11,000 By General expenses 2,300
To capital brought during the year 6,000 By Rent and Taxes 1,500
To Interest on Investment 200 By Drawings 3,600

By Cash purchases 12,000
By Bank and Cash bal. 7,100

68,000 68,000
Particulars of other Assets and liabilities are as follows :
Particulars                          1-1-2007                  31-12-2007
Sundry Debtors 14,500 17,600
Machinery 7,500 7,500
Sundry creditors 5,800 7,500
Furniture 1,200 1,200
Investment 5,000 5,000
Stock 3,900 5,700
Prepare Trading, Profit and Loss A/c for the year ended 31-12-2007 and
Balance Sheet as on that date, after providing depreciation at 10% on machinery
and furniture and Rs. 800 against doubtful debts.

OR

B) On 1st April 2014 Uday and Sons of Solapur consigned goods of Rs. 11,000 to
Raj and Co. Bangalore at a proforma invoice value of Rs. 15,000. Uday and
Sons paid Rs. 400 for freight and insurance. Raj and Co. paid Rs. 1,000 for
carriage and other expenses. Raj and Co. sent a bank draft of Rs. 2,000 to
Uday and Sons as an advance Raj and Co. sold all goods for Rs. 16,000 and
get a commission at 5% on sale proceeds. Raj and Co. remitted balance after
deducting its commission and expenses.
Prepare consignment Account Raj and Co. A/c in the books of Uday and
Sons.

5. A) The Novelty Stores Ltd., invoices goods to their various Branches at cost and
the branches sell on credit as well as for cash. From the following details
relating to the Satara Branch. 10
Particulars                                                                Rs.
Debtors on 1-1-2012 52,400
Debtors on 31-12-2012 66,200

�������� -3- SLR-Q – 39



Stock on 1-1-2012 30,000
Stock on 31-12-2012 27,800
Goods from Head Office 1,01,600
Goods returned to Head Office 1,400
Cash Sales 67,000
Credit Sales 1,20,000
Allowances to customers 640
Returns from customers 1,160
Discounts to customers 4,800
Bad debts 1,200
Cash received from customers 98,400
Rent, rates etc. 3,600
Wages and salaries 12,000
General Trade charges 2,600
Prepare the Branch Stock A/c, Branch Expenses A/c, Branch Debtors A/c
and Branch profit and Loss A/c in the the H.O. Books.

OR

B) Following information is given in respect of Youth Club, Solapur. You are
required to prepare Income and Expenditure Account for the year ended
31-3-2013 and the Balance sheet as on that date.

Receipts and Payments A/c for the year ended 31-3-2013
Receipts Rs. Payments   Rs.
To Opening Bal. at Bank 12,000 By Rent 8,800
To Entrance fees 1,000 By Salaries 28,000
To Subscriptions : By Printing 6,800

Previous year 1,800 By functions and celebrations exps. 14,000
Current year 36,000 By Travelling 6,800
Next year 2,000 By Fixed Deposits with Bank 20,000

To Interest on Debentures 2,250 By cash at Bank 14,650
To Sale proceeds of motor car 44,000

99,050 99,050
1) Other information :

Particulars                               31-3-2012            31-3-2013
Cash at Bank 12,000 14,650
15% Debentures 30,000 30,000
Furniture 14,000 14,000
Subscriptions Receivables 2,400 3,000
Motor car 40,000 –

2) Entrance fees and profit on sale of car to be transferred to capital fund.
3) Rent paid in advance Rs. 800.
4) Interest on Debentures is received upto 30-9-2012.

–––––––––––––––––
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 B.Com. – I (Semester – I) Examination, 2015
BUSINESS ECONOMICS (CGPA Pattern)

Day and Date : Wednesday, 25-3-2015 Max. Marks : 70
Time : 3.00 p.m. to 6.00 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to the right shows full marks.

3) Draw diagrams where necessary.

1. Choose correct alternatives given below : 14

1) ______________ is the mechanism to solve the basic economic problems in
a free market economy.
a) Production mechanism b) Distribution mechanism
c) Price mechanism d) None of these

2) The right of making private property is the feature of ______________ economy.

a) Free market b) Socialistic c) Dictatorship d) Closed

3) The ratio between income and demand is called ______________
a) Price elasticity b) Income elasticity

c) Cross elasticity d) Advertisement elasticity

4) Anticipation of future demand is called ______________
a) Demand forecasting b) Derived demand
c) Demand d) None of these

5) Dr. Marshall’s utility analysis is based on ______________
a) Cardinal utility b) Ordinal utility

c) Marginal utility d) None of these

6) Which are the factors affecting the elasticity of demand ?
a) Nature of goods b) Uses of goods

c) Availability of substitute d) All above
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7) Basic concept of indifference curve is Firstly propounded by ______________

a) J. M. Keynes b) Dr. Marshall c) Edgeworth d) None of these

8) The coordination between traditional economics and real business is called
as ______________economics.

a) Agriculture b) Industrial c) Business d) International

9) Generally the trend in marginal rate of substitution is ______________

a) Decline b) Increasing c) Stable d) None of these

10) The basic objective of a firm to earn ______________
a) Profit b) Social welfare c) Cost d) None of these

11) Price income line is also called as ______________
a) Budget line b) Parallel line c) Contract line d) None of these

12) The demand for the commodity salt is ______________
a) Elastic b) Inelastic c) Less elastic d) None of these

13) In difference curve is ______________ at origin.
a) Plane b) Concave c) Convex d) None of these

14) Generally the demand forecasting for one year is called  as _____________
forecasting of demand.
a) Short term b) Medium term c) Long term d) Contemporary

2. Write short answer :

A) Explain the features of free market economy. 7

B) Explain the importance of demand forecasting. 7

3. Write short note :

A) Cross elasticity of demand. 7

B) Defects of utility analysis. 7

4. Answer any one : 14

A) Explain the types of price elasticity of demand.

B) What is business economics ? Explain the nature and scope of business
economics.

5. Answer any one : 14

A) Give the  properties of indifference curve.

B) Explain the types of demand forecasting.
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P.T.O.

SLR-Q – 40

Seat
No.

B.Com. – I (Semester – II) (Old) Examination, 2015
BUSINESS ECONOMICS (Paper – I)

Day and Date : Wednesday, 25-3-2015 Max. Marks : 50
Time :  11.00 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right shows full marks.
3) Draw diagram where necessary.

1. Choose correct alternative given below : 10

1) Production means creation of ___________

a) Utility b) Labour

c) Rent d) Interest

2) The law of variable proportions occurs in ___________ period.

a) Very short b) Short

c) Long d) None of these

3) Iso quants are always ___________ to origin.

a) Parallel b) Concave

c) Convex d) Straight

4) The concept of transfer earnings is developed by ___________

a) Walker b) Ricardo

c) Benham d) Mrs. Joan Robinson

5) Price discrimination is the feature of ___________ competition.

a) Monopoly b) Perfect competition

c) Oligopoly d) Monopolistic competition

6) The concept of monopolistic competition was introduced by ___________

a) Keynes b) Malthus

c) Prof. Chamberlin d) Ricardo
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7) In innovation theory of profit is introduced by ___________

a) Prof. Schumpeter b) Prof. Knight

c) Prof. Hawley d) Lord Keynes

8) ___________ is the reward of parting with a liquidity.

a) Interest b) Rent

c) Wage d) Profit

9) The break-even point means ___________ point.

a) No profit no loss b) Maximum profit

c) No profit d) No loss

10) Selling cost is the important feature of ___________ competition.

a) Perfect b) Monopoly

c) Monopolistic d) None of these

2. Give short answers :

a) Define price discrimination. 5

b) What are the features of perfect competition ? 5

3. Give short notes on :

a) Production function. 5

b) The Keynesian three motives of demand for money. 5

4. Give answer on any one :

a) Explain the uncertainty bearing theory of profit. 10

b) Explain the law of variable proportions. 10

5. a) Explain the break-even point. Give its importance. 10

OR

b) Give the features of monopolistic competition. 10
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Seat 
No. 

 

 

B.Com.( Part – I) (Semester – II) Examination, 2015 

URDU (Compulsory) (Old) 

Guldast-e-Adab (Prose, Poetry and Communication) 

Day and Date : Thursday, 26-3-2015 Max. Marks : 50 

Time : 11.00 a.m. to 1.00 p.m.       

N.B.  i) All questions are compulsory. 

ii)  Figures to the left indicate full marks. 

Ï. ی Ņ   µ  ı Ņ؋   ı ب   ı ا  ı ظ   ↑ د ل  ا    Ŀ▤ ԽŬ ҿ ╒ Թ ѥ„ђ ѵ ε Б ̳ӎ
й

 Ẁ  ̳ؗ
ԗ

 :               10  

 (i   ∂ ί҇ԗ  ر Њ ԗ  ______________² Қ  ĩ Łק ل     şΟŵ їБÜ  

  )Ï×ÏÎ ء   Ï×ÐÎ ء  Ï×ÏÓ ء  Ï×ÏÕ ء(  

 (ii      Ł  ĩ Ł Эر  В Аӧ ң  ţ  ŁѲ˘  _______________  Ť   Ş ş  ا ر د » ؋     ļ  ı  ¯ņ  ғ   ş҉̨ ѺѓҀ ї їБ Бѹ Թ Ծ ёÜ  

  )Ï×ÐÐ ء  Ï×ÐÓ ء  Ï×ÏÖ ء    Ï×ÒÕ ء(    

  (iii    µ  ĩ ٚҺ   ¨ ı   ŝ ı  ا    ţ  ı   ŠŬ Թ рЭ ҂ ˇ Уӈ  _______________ı̨҅Ü 

  ) Ͷ͢ ғͯ؈  ё  ғ  ͯ Łё ا ԕ АҢ  Š  ғ  ŁУӈ ё АҢ  Ĭ Ғ « ŁАҢ(  

(iv    Şы
ˇ

"¨ ť ŋ ر ا   « ŁН ̐ Б  "___________  ____ қ Ś  ґҭѶ╒ΒÜ  

  )Ғ ıҾ  Ͷрˇ  ő  ĩ ͶЯŬ ↑ ل    ؈  ĩѨ(  

(v  "ء ĩ د ر Ŝ  ıŬ ╜"  ______________   қ  Ҥ š ŉ ی     ť  ıҁ▲҂ ̚Ц ˣ˓ ԹÜ  

  )Ŝ  Ī ا Ĵ  ŉΟŲ ӈ ̜  ҾҒ ı  ل ↑  ĩѨ  ţ  ı  Š  µ  ĩ ٚ҂ рˇ Уӈ Һ(  

P.T.O.  
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(vi    د ی  » ק د ت ı ͯ  آ  ╜Ͷ  ا ԕ рˇ  _______________ Қ  şїБ≤Ü  

  )ÏÕÑÓ ء  ÏÖÖÐ ء  ÏÖ×Î ء    ÏÕÒÓ ء(  

       (vii  œ   ı   ғ  ͯ  ͶѸ╒Β Թ ё ͢   қÜ ________________  ؈

  )Ͷ ő  ͢د  ЯŬ  Ͷѽк  ỳїا 
Пӈ

(  

 (viii  ŀ  ŝ  ĩ Ł  ¨ ٙ  ŉ
̳ң еѶ┼Ġ Јѕ ̨   Š  «  ≤ ı ı  آ    с ╜ Թ  ________________ қÜ  

ı د(   ╜ą ı آ  Йѕ  د ı ╜Ł ر آ  Аӈ  ر š µ    خҜ ק   šŬ   )خ

 (ix   ŝ Ŝ آ ز ĩ د ی   ғєҀ ыӓ ˣ˓ ĩ Ł  ıҺ Ũر_     _________________ş ņ ی    ş ∂ د ت    ґт їԖ ̎ Б ѨÜ  

  )ͯ Ł ٲ ا ťԕ ل ا  ѳ Һ  ª ı  Ćıˣ Оٴ   ķ Ŝ ز  Żا » ر  Ŭ  ŉ  Ćı ı̪ц د ر  О ˣ˒( 

(x "Ĵ  ґ  ţ  ťҫ ђїѷ ҂"  ________________   қ  Ş š ر    ґыˇ ˥ЬѾÜ  

  )ō  ı  ¨ ĩ ر ¥šΏ Ŭ κН    ŝ ı د   Ņ  ¨ ĩ رѽЫż Н  )ŔМѧ    ٗ ش    ▤

Ð.     Ẁ ı ت   ٗ ا  µ  ذ ڂ  Ҙ ا ק ت  ؋    Ł ر 
Ա҇؆ ╜ ѾҺ Ν)  ؼ ı   ≤ šŦ ԙ:  (    10   

 (i     Ẃ Ņ   ²ĩ ŋ  ĩ   ؋  µ  ŉ
Ա҇؆ Яԕ ▣ ̐ ΟŸ ̨ ճÜ  

 (ii      £ ر ı   ō   ı   Ĳ  ı   ŀ  ŝ  ĩ Ł   ¨ ٙ  ŉ
Ա҇؆ ѓ Թ ЭǾ ΑҨӏ҂ ӈ ̳ң еѶ┼Ġ Јѕ ̨ ճÜ  

 (iii   'Şы
ˇ

'ş    џ     ҕ   ї ė ˤԛ ԗÍ   

(iv     Şы
ˇ

"ҟ
ѶѥѾ

" ÜẀ  Ņ  ŉ ∂ ل   Ň ی   ŉ   ı   ̳ؗԗ ̉ ̶ Խ ̨Β Ӊ Թ  

(v  "≤ ı ıŦ ر  Ҽ "ÜẀ ĩ ڈ  ỳ ō  ر »    Ņ   Ĺ ı د   ĩ «  Ĵ ґѵ ا ң ΑҨӏ҂ ▤ Ż ѣ Мѿ؉  

(vi  ί҇ԗ∂  ↓   ş  ỳ   ґ  ª « ŉ  ı Њ ر ؤ    Ųק ل   їВЫѨ оԕ ̘ ԗО≤ ճ   Š   ≤ š   Í ş   
Ա҇؆ ї їŨ ėԙÜ 

Ñ  . « د  ≤ šԙŝ ̳ؗ  Ҙ  Ҿ   Ẁ ا ل  
ԗ

:                10   

  (i "≤ ť  ı Нد  Ů" Ņ  ŉ  ş ı ظ   µ ا Ȝ  ا   ť  ı  ̉ Β̶ їБ ѥ Թѵ ؑ Э ҿ Ẁ  ̳ؗ
ԗ

Ü  
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(ii     ÜẀ   µ  Ņ   ş ı ا ر د »   ↑ ر ت   Ň ی   Ņ ԗ̳ؗا  ѽӥ ▣ їБ Թ ѕ ̉ Ղՙ 

Once a fox trying to fined a cover while being chased by hunters, 
entered the house of a woodcutter and himself under a bed. He  
requested the woodcutter, who was standing nearby to help him 
save his life. The woodcutter agreed. Soon the hunters arrived there 
and asked the woodcutter if he had seen any fox near his house. 
The woodcutter, although spoke in audibly loud tone that he had not 
seen any fox around, he signalled towards the fox which was hiding in 
his house. 

 (iii  ر ت ↑ ѕ  ≤ ıذ ڂ     ś ı ا   ˣ Թ˛ ŮẀ   µ
Ա҇؆ ЯӔ:  

ı د     ώŬ ԤΟѾş  ї Бı   µ  ń  ∟ ť ś ا  ̨҅ ا  ╜ Һ Ѧƒ Ů ٗ Ł  ѓǼ ş  ؊ Ł ґ ї ا ґ ą ز  Б Ŭ ą ا « Ņ ń ؟  ▤  Üı ا س  Ŋ  Һ ҄ ̑  ś ٴ̔ ґ ا  ŮѴ ا س ś  

  Ĵ  «Ѩ  د 
Ա҇՛  Ȝ š  ԙ  Ĵ  š Ň ی   Ņ Ĳ ا   ғѾ ӓԡҾ ̉ Ղՙ БÏ×ÎÓ ل ء ı   ş   ԼКŲ ї Б Ş  ґ ˜УѪǾ ı  Թ ą ť ё Ņ ا   Խ Üı Ů  Ťد  ѸЯМѧ £ ťا س    ҿ ؋  

   ª š  šБ Ԛ ѷşї Қ   Ċ ō ı  µ  µ  Üı   µã  « Ş  Ҏ ı  ė р ҅ ԹҀ Ԟ Ԟ ЯҺ Һ ˛ њ ў  қر  ĩ Ŋ ı ل   ĩ ر ı   ş   Ĵ  ı  ґ  Ť Ü Ť ҍԳ ا س  Լ Н ╒КŲ ї Б ѩѷ ҂ Ѹ ҉ЯМѧ ˛
  Қ   

  ∂Ԙ  د ı  ώ   ŉ  š  ÜıŬ ҅ԤΟѾ ѝ̩ ˇ ∂Ü  ا » ر ا ą ؋  ˛ ҙ س   š ı د ∫  ґ Ĵ ز   š ª š ؤ   ԗد »  ӎ҂ ԙ ԡ εŮ Ѿ Ҿ Н £ ť Ť  ؋   Ć«ҿ ا س  ѸЯМѧ   

   Ćō ı  ė рҀ   Ť   џ ı   ş   µ   Ņ   Ü Ť   џı   ı  Ņ҉ ҉˛ ˛Ź Һڃ Ҽ ŬїˣŴ Ů Հ ԽБ Üٳ Ņ   Ćō ı    ҕ   Ć«  µ  Խ ė рҀ їԕ ԕÏ×Î×ؤ  ء ª š ş  ا    ˥Ŵ їБ µ ı ԕڈ ҄  

  ∂   µ  ĩ د ş  ļ  ı   ѵ Ѵҿ їБ ѹ ԹÜą ı Š ز   ŉ ª š ؤ    ª ı ا  « ╜ ėѾ ̐ Ŵ˥ع « ō  ỳ ņ  Δ ҆ Üґ   µ ا س ▤   ş Ĵ  ا   «Ů їˣŴ Ѩ  ı   ı  Қ  س ı  ĩ҅ Ի П˛ ӊ ӈ

 ı  ĩ  ا » ر   қ   ، آ  ỳ  ŉ   ş   ą ĩ Ł ő  ؋     ı   µ҅ Ѿ Нٵ ̐Ѿ їБ Ο сŭ ԕı  ỳ  ą ı Š ز   ŉ   Ẁ   Ȝ ª ĩ د ő  ı  Ҽ ╜ Н
Ա҇ՓС Ѿ ̐ Ѷ ЪΟ сԗ ů ŭ Ẁڃ Ü 

 ı  šŮ Ԛ  Ĵ ѨśŨώا س »   ԤΟѾ ą ĩ د ő  ı  ı  ı ıсŭ د  Н ˣ Н Ŭ҂ µ  ı    Ȝ ѴЯМѧ Թ Ъů Ņ  Խ  Ťԡؚ  Ü Ť  ҉̨Ï×ÏÏ  Ń  Ņ   Ć«  ş АҢء   ▤ їБŮθ
ҟı   Թ ļ 

ѹ
   ş  ї Б

² Қ  ŝ  ĩ دҿÜı  ı  ĩ Ҏ ı ٙ ل    ı  ª ı   ҅ ҅ Թ Б ˣ˛ ٵ ΅Ü  ر ؤ ı  š  Ĵ  ª ı҅ ˣԱՙ гԙ М ╠Ъ ΅  ı  Թ ı  ŗ š  ı  ĩ Ćد ı ҅ز  ҅ Ů˛ Ѭٵ Ҁ Ü   ؋ ą ا 
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B.Com. I (Semester – II) (Old) Examination, 2015
BUSINESS MATHEMATICS

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

            N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Graph paper will be supplied on request.
4) Use of soundless calculator is allowed.
5) Assume suitable data, if required.

1. Choose most appropriate answer from the alternative answer. 10

1) A function x + y = ey is of the type

a) explicit function b) implicit function

c) parametric function d) none of these

2) If f (x) = f (– x) then the function f (x) is called

a) even function b) odd function

c) both (a) and (b) d) none of these

3) If the total cost of producing x units is C = ax + b then the Average Cost (AC) is

a)
x
c

ax + b)
x
c

b + c)
x
b

a + d)
x
c

a +

4) If X and Y both increases in the same direction then the function Y = f (x) is
called as
a) increasing function b) decreasing function
c) neither (a) nor (b) d) none of these

5) If f (x) = x2 + 2x + 3 then f (– 1) =
a) 2 b) – 2 c) 0 d) 1

P.T.O.

Seat
No.
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6)
x3 1lim

x 0 x
⎛ ⎞− =⎜ ⎟→ ⎝ ⎠

a) log 3 b) (log 3)2 c) 3 d) 0

7) If Y = ax then =
dx
dy

a) ax b) xax ⋅ c) alogax ⋅ d) alogxa ⋅

8) ( )=3x
dx
d

a)
4
x4

b) 2x3 c)
3
x3

d) none of these

9) ∫
−

=
a

a

0dx)x(f , if f (x) is

a) an odd function b) an even function
c) constant function d) none of these

10) =∫ dxex

a) ex b)
1x

e 1x

+

+

c) xex – 1 d) none of these

2. Attempt each of the following :

a) Evaluate ⎥
⎦

⎤
⎢
⎣

⎡
−

−+
→

1x
65xlim

1x . 5

b) Draw the graph of the function y = f (x) = x2 + x – 6. 5

3. Attempt each of the following :

a) Find )x(f′  by first principle if f (x) = x + 5. 5

b) If f (x) = x2 – 3x + 4, find x when f (x) = f (x + 1). 5
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4. Attempt any one of the following :

1) If y = u.v. where u and v are differentiable functions of x then prove that

dx
du

v
dx
dv

u
dx
dy ⋅+⋅= . Hence find )xlogx(

dx
d ⋅ . 10

2) i) Evaluate dx
x5x

x5

0
∫ −+

. 5

ii) Evaluate dx
e1

e
x

x

∫ +
. 5

5. Attempt any one of the following :

1) At what point the function f (x) = x3 – 3x2 – 9x + 12 will be maximum ? Find
the maximum value. 10

2) State the rule for integration by parts (ie. u.v dx∫ . Hence integrate ∫ ⋅ dxex x . 10

_______________
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Seat
No.

B.Com. (Part – I) (Semester – II) (Old) Examination, 2015
INSURANCE

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time :  11.00 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figure to the right indicate full marks.

1. Select the appropriate alternative from given below : 10

1) Reinvestment value policy is a type of ____________ policy.

a) Life Insurance b) Marine Insurance

c) Fire Insurance d) Theft Insurance

2) In Marine Insurance Time Policy is more useful for ____________

a) Cargo Insurance b) Freight insurance

c) Hull Insurance d) Third party insurance

3) The loss due to Jettison is compensated under a ____________ policy.

a) Marine Insurance b) Life Insurance

c) Fire Insurance d) Fidelity guarantee

4) According to the principle of utmost good faith the insured should disclose
the ____________

a) Social Information b) Monetary Information

c) National Information d) Material facts

5) In fire insurance policy one must have insurable interest ____________

a) At the time of taking the policy

b) At the time of occurence of the accident

c) Both a) and b) above

d) None of the above



6) ____________ is the Chairman of “Insurance Regulatory and Development
Authority”.

a) C. R. Rao b) Rangachari c) R. H. Malhotra d) J. Hari Narayan

7) The principle of cause proxima is applies to ____________ policy.

a) Whole life b) Endowment

c) Fire Insurance d) None of above

8) A person insured his goods worth Rs. 1,00,000 for Rs. 50,000 against fire,
his actual loss by fire is Rs. 30,000 assuming that there is average clause
then his claim is Rs. ____________

a) 7,500 b) 8,000 c) 30,000 d) 15,000

9) The Head Office of “Insurance Regulatory and Development Authority” is
situated at ____________

a) Mumbai b) Delhi c) Chennai d) Hyderabad

10) The GIC of India was formed on ____________

a) 1973 b) 1956 c) 1938 d) 1999

2. Write short notes on : 10

a) Voyage Policy

b) Fidelity guarantee.

3. Answer in brief 10

a) Group Insurance

b) Cattle Insurance.

4. Answer any one of following : 10

a) Describe the types of marine losses.

b) Describe the procedure for claim settlement in fire insurance.

5. Answer any one of the following : 10

a) Explain Role and Development of General Insurance Corporation of India.

b) Explain in brief different types of fire insurance policy.

SLR-Q – 47 -2- ��������	�
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Seat
No.

B.Com. – I (Semester – II) (Old) Examination, 2015
GEOGRAPHY

Economic and Commercial Geography
Economic Geography (Paper – II)

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

           N. B. : 1) All questions are compulsory.
2) Neat diagrams and maps must be drawn wherever

necessary.
3) Figures to the right indicate full marks.
4) Use of stencils is allowed.

1. Rewrite the following sentences by choosing appropriate words : 10

1) Commerce and transport are ____________ type of economic activities.

A) Primary B) Secondary
C) Tertiary D) Quarterly

2) The Mediterranean Sea and the Red Seas are joined by the canal __________

A) Panama B) Suez
C) Keal D) Bhima

3) Marketing geography is the new branch of ____________ geography.

A) Agriculture B) Commercial
C) Urban D) Human

4) Tirupati Tourism Centre is located ____________ state in India.

A) Tamil Nadu B) A.P.
C) U.P. D) Kerala

5) The first rail line started in the cities ____________ in India.

A) Mumbai and Thane
B) Mumbai and Nasik
C) Mumbai and Delhi
D) Pune and Solapur
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6) Tourism is ____________ types of trade.

A) Visible B) Invisible
C) Balanced D) Active

7) Adivasi people do ____________ type of farming.

A) Commercial B) Irrigated
C) Migrating D) Mixed

8) The Head Office of World Trade Centre is in ____________

A) Paris B) London
C) Geneva D) Mumbai

9) ____________ farming is based on an rain water.

A) Dry B) Humid
C) Commercial D) Mixed

10) ____________ country is first rank in Sugarcane production in the World.

A) India B) U.S.A
. C) U.K. D) Japan

2. Write short answer : 10

a) Nature, scope of commercial geography.

b) OPEC.

3. Write a short answer  : 10

a) Importance of tourism.

b) Commercial farming.

4. Give an account of air transport in the world. 10

OR

What is tourism and explain the influencing economic and physical factors ? 10

5. State the object of EEC and GATT. 10

OR

Describe the geographical condition for the growth and area of production of
rice in the world. 10
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B.Com. II (Semester – III) (New) Examination, 2015
ENGLISH (Compulsory)

Keeping Pace

Day and Date : Monday, 13-4-2015 Max. Marks : 50

Time : 3.00 p.m.to 5.00 p.m.

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the right answer from the alternatives given below : 10

i) ‘Always have a cheerful attitude’ was the principle of ______ at high attitude.

a) survival b) life c) living d) peace

ii) The buildings in Ladakh were clustered together in patches of _______ amid

apricot trees and willows.

a) yellow b) brown c) green d) red

iii) ‘The three dancing Goats’ is a folktake of ________ authorship.

a) unknown b) strange c) known d) famous

iv) Sindhu was a hardworking __________ who lived with his widowed mother.

a) school boy b) farmer

c) musician d) businessman

v) The lesson Education: Indian and American’ is written by

a) Anurag Mathur b) Pico Iyer

c) Unknown author d) Largston Hughes

vi) ‘I, Too’ is a poem about racial discrimination in

a) Africa b) America c) UK d) Harem

Seat
No.

P.T.O.
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vii) When I ___________ my friend in the college canteen yesterday, he already

had eaten his lunch.

a) met b) meet c) was meeting d) had met

viii)  He __________ to bed at 11 p.m. everyday.

a) goes b) gone c) had gone d) is going

ix) Manoj shouted in excitement. The underlined word is

a) transitive verb b) intransitive verb

c) irregular verb d) adjective

x) The American education system encouraged

a) originality and questioning b) learning by rote

c) discipline d) repetition

2. Answer any five of the following questions in two to three sentences each : 10

i) What does half the population of Ladakh consist of and why ?

ii) Describe the three goats given by the woman to Sindhu.

iii) How did Sindhu qualify the test set by the landlord for the suitors who wanted
to marry his daughter ?

iv) Why does Gopal find the Indian system of education useful ?

v) Mention the reasons that could contribute to brain drain from India, as seen
by Gopal.

vi) Describe the contrast between the traditional world and modern civilization in
Ladakh.

3. A) Answer any two of the following questions in about fifty words each : 6

i) What is the understanding between the poet and his neighbour for springtime,
as seen in the poem ‘Mending Wall’ ?

ii) Explain the lines

     “I , too, sing America

     I am the darker brother”.

iii) What is the attitude of the speaker in the poem ‘I, Too’ ?
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B) Attempt any two : 4

i) Write a permanent message for your voice mail informing the caller that
you are not available and unable to take the call.

ii) Imagine that you are Shrikant More, Jr. Sales Executive. Leave a recorded
message (voice mail) for your boss reminding him about the meeting of
regional managers.

iii) Write a temporary message for your voice mail informing that you are not
available for the next five days (specify dates). Imagine the necessary
details.

4. Answer any one of the following : 10

i) Write a letter of complaint to the Consumer Services Manager, Planet
Electronics, M.G. Road, New Delhi about the defects detected in the refrigerator
recently purchased from their showroom. Request for replacement of the
defective refrigerator.

ii) Write a letter to the Assistant Manager, Insurance Claim Division, Safety
Insurance Company Chennai, claiming insurance for the damage of your car
which was involved in an accident. Imagine the necessary details.

5. Write a review on a film which you have seen recently. You can organise your
review by giving details, your opinion, comparison, performance, over all
rating etc. 10

__________________
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Seat
No.

 B.Com. – II (Semester – III) (New) Examination, 2015
CORPORATE ACCOUNTING

Day and Date : Thursday, 16-4-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of calculator is allowed.

1. Choose the correct alternative from given below :

1) Stock in trade is valued at ______________ price.

a) Cost price

b) Market price

c) Fair market price

d) Cost price or market price whichever is less

2) Profit on sale of fixed assets is transferred to ______________

a) Revenue Reserve

b) General Reserve

c) Capital Reserve

d) Contingency Reserve

3) Incorporation  means ______________of a Joint Stock Company.

a) Solvency b) Registration c) Deficiency d) Starting

4) Accounting standard – 6 relates to______________

a) Disclosure of accounting policies

b) Valuation of inventories

c) Depreciation accounting

d) Accounting for fixed assets
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5) Accounting standards in India are issued by ______________

a) Institute of Cost and Works Accountant

b) Accounting Standard Board

c) International Accounting Standards Committee

d) None of the above

6) ______________ are those Preference shares which cannot be redeemed
during the time of the company.

a) Redeemable Preference shares

b) Bonus shares

c) Participating Preference shares

d) Irredeemable Preference shares

7) ______________ is that part of the authorized capital which is issued to the
public for subscription.

a) Called up capital

b) Reserve capital

c) Issued capital

d) Subscribed capital

8) According to the Companies Act, the shares which are not______________
are  equity shares.

a) Debentures

b) Preference

c) Redeemable shares

d) Convertible shares

9) According to ______________Section of Company Act 1956 it is compulsory
to prepare Final Accounts at the ends of Accounting period.

a) Section 215 b) Section 211

c) Section 210 d) Section 218

10) Loss prior to incorporation  is debited to ______________

a) Goodwill A/c b) Loss prior to Incorporation A/c

c) Suspense A/c d) All above 10
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2. Write short notes on (any two) : 10

1) Accounting Standard – 4 (AS-4) (contingencies and event occurring after
Balance Sheet date)

2) Types of  Preference shares

3) Forfeiture of shares.

3. a) The Sai Industrial Engineering Co. Ltd., Delhi with a registered capital of
Rs. 3,00,000 in shares of Rs. 100 each, issued 2000 shares payable Rs. 10
per share on application, Rs. 20 per share on allotment, Rs. 30 per share on
first call and the balance on final call.

One shareholder paid the entire Balance on his holding at 30 shares along
with allotment money.

Five share holders with a total holding of 100 shares failed to pay both the calls.

Give journal entries, including cash transactions in the books of the company.  5

b) Calculate the period ratio and sales ratio. Shreeram Traders Ltd. was registered
on 1st January 2013 to take over the business of M/s Ram and Sham as from
1st October 2012. The company received its certificate for commencement of
business on 1st February 2013. The accounts of the company are  prepared
for the year ending 30th September 2013.

Total turnover of the year amounted to Rs. 2,40,000 of which Rs. 40,000
related  to the period from 1st October, 2012 to Ist February 2013. 5

4. A) Gujrat Transport Company Ltd., invited application for 40,000 equity shares
of Rs. 100 each at discount of Rs. 4 per share. The amount was to be paid as
follows :

     Rs.

On application 20

On allotment 36

On first and final call 40

The public applied for 36000 shares and these were allotted. All money due
were collected with the exception of the first and final  call on 4000 shares
and these were forfeited. 2000 of these shares were reissued as fully paid for
a payment of Rs. 80 per share. Pass Journal Entries in the books of Co. 10

OR



B) Jaihind Co. Ltd. was incorporated on Ist May 2013 to take over the business
of Modern Co. as a going concern from Ist January 2013. The Profit and Loss
A/c for the year ending 31st December 2013.

Profit and Loss Account of Jaihind Co. Ltd.

Particulars     Rs. Particulars    Rs.

To Rent and taxes 12,000 By Gross Profit 1,55,000

To Insurance 3,000

To Electricity Charges 2,400

To Salaries 36,000

To Directors fees 3,000

To Auditors fees 1,600

To Commission 6,000

To Advertisement 4,000

To Discount 3,500

To Office Expenses 7,500

To Carriage 3,000

To Bank charges 1,500

To Preliminary expenses 6,500

To Bad debts 2,000

To Interest on loan 3,000

To Net profit 60,000

1,55,000 1,55,000

The total turnover for the year ending 31st December 2013, was Rs. 5,00,000
dividend into 1,50,000 for the period upto Ist May 2013 and Rs. 3,50,000 for
the remaining period. Ascertain the profit earned prior to incorporation and
after incorporation of the Co. 10
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5. a) XYZ Company Ltd. has an authorized capital of Rs.10,00,000 divided into
2,000, 5% Preference shares of Rs. 100 each and 8,000 equity shares of
Rs. 100 each. The whole of Preference shares were issued and fully paid but
only 7000 equity shares were issued and fully called.

Following is the Trial Balance of the Company on 31st March 2013.

Trial Balance

Dr. Cr.

Particulars Rs. Rs.

Equity share capital 7,00,000

5% Preference share capital 2,00,000

Share premium 55,000

Calls in arrears 5,000

Reserve fund 1,20,000

Purchases less returns 6,00,000

Sales less returns 10,00,000

Stock on 1-4-2012 1,00,000

Carriage inward 5,000

Wages 25,000

Salaries 20,000

Bad debts 8,000

Directors fees 7,000

Debenture interest (upto 30-9-12) 5,000

5% Mortgage debentures

(secured by charge on fixed assets) 2,00,000

Loans unsecured 1,84,500

Insurance charges 2,300
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Postage and telegrams 3,000

Machinery (at cost) 15,00,000

Building (at cost) 3,00,000

Furniture (at cost) 50,000

Machinery depreciation

(1-4-2012) 3,00,000

Building depreciation

(1-4-2012) 1,08,000

Furniture depreciation

(1-4-2012) 30,000

Goodwill 80,000

Investment

(market value Rs. 70,000) 60,000

Debenture reserve fund 90,000

Unclaimed dividend 3,000

Sundry debtors and creditors 1,00,000 12,000

Debenture Red. Fund invest 90,000

Bills receivable and payable 25,000 5,000

Discount 2,000

Sundry Exps. 6,000

Repairs 14,000

Managing directors remuneration 20,000

Audit fees 4,000

Provision for doubtful debts 4,000

Interest on investments 3,000

Transfer fees 1,000
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Discount issue of debentures 7,000

Interest on Deb. Red. fund invest. 4,500

Profit and Loss account 59,000

Cash at bank 35,000

Cash in hand 5,700

30,79,000 30,79,000

Adjustments :

1) Stock on 31st March 2013 was valued Rs. 2,00,000.

2) Salaries unpaid on 31st March 2013 Rs. 2,000.

3) Insurance paid in advance Rs. 300.

4) Provision for doubtful debts to be maintained at 5% on debtors.

5) Provide depreciation for the year as under :

a) Machinery Rs. 50,000

b) Building Rs. 18,000

c) Furniture Rs. 5,000

6) Provision for taxation to be made at 50% of the net profits of the company.

7) Directors decide to appropriate out of Profits of the  company :

i) Transfer of Rs. 20,000 to reserve fund.

ii) Transfer of Rs. 10,000 to Deb Red. Fund.

iii) To pay a dividend of 5% on Preference shares and Rs. 8 per share on
equity shares.

8) Rs. 2,000 to be written off from discount on issue of Debentures.

Prepare Profit and Loss A/c for the year ended 31st March 2013. 10

OR

B) Prepare Balance Sheet of XYZ Co. Ltd. as on 31st March 2013 in vertical
form from the above information as per Co. Act, 1956. 10

––––––––––––––––––––
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B.Com. II (Semester – III)  (New) Examination, 2015
MONEY AND FINANCIAL SYSTEM

Day and Date : Monday, 20-4-2015 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

N.B. :  1) All questions are compulsory.
2) Figures to the right shows full marks.

1. Objective type question. 10

Choose the correct alternative and rewrite the sentence.

1) _______ is the secondary function of money.

a) Medium of exchange b) Measure of value

c) Store of value d) Basis of credit

2) According to Seligman “Money is one thing that possesses general”

a) acceptability b) price c) value d) rent

3) ________ is essentially a market for short run funds.

a) Money market b) Capital market

c) Share market d) None of these

4) According to Encyclopaedia Britanica ________ as the act of providing the
means of payments.

a) Loan b) Interest c) Finance d) Bank rate

5) __________ is the narrow money.

a) M1 b) M2 c) M3 d) M4

6) Monetary policy is policy of

a) Commercial Banks b) Cooperative Banks

c) Central Bank d) NABARD

Seat
No.
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7) Hawala market is known as _________ market.

a) Illegal b) Legal

c) Government d) None of above

8) Financial market is divided into _______ markets.

a) two b) three c) four d) money

9) __________ is the selective weapon of monetary policy.

a) Bank rate b) Cash reserve ratio

c) Consumer credit control d) Open market operation

10) Central Bank ________ the Bank rate to control the inflation.

a) increases b) decreases

c) keeps stable d) none of the above

2. Answer the following questions briefly.

A) Explain the kinds of finance. 5

B) Explain the objectives of monetary policy. 5

3. Write short notes.

A) High powered money. 5

B) Call money market. 5

4. Answer any one question. 10

A) Explain the features of Indian Money Market.

B) Explain the monetary policy in inflation period.

5. Answer any one question. 10

A) What is money ? Explain the functions of money.

B) Explain the role of finance in economy.
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B.Com. II (Semester – III) Examination, 2015
ENGLISH (Compulsory) (Old)

Keeping Pace

Day and Date : Monday, 13-4-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

           N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the right answer from the alternatives given below and fill in the blanks. 10

1) The dark blue sky in Ladakh _________ when one looks at it.

a) Shines b) Hurts

c) Attracts d) Hearts

2) Half of the Ladakh’s population is

a) Hindu b) Islamic

c) Christian d) Buddhist

3) The landlords daughter summoned Sindhu with his goats for

a) entertainment b) deal

c) show d) discussion

4) The American System of education to Gopal stressed __________

a) analysis b) retention

c) theory d) practical

5) _________ is responsible for the brain drain of the Indians.

a) Comfortable life in US b) High salaries in US

c) Secured life in US d) Work environment in US

Seat
No.
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6) The narrator found no need of the wall because _________

a) the fields were separated by the crops

b) they had the mutual understanding

c) there was an agreement

d) the land was not fit for cultivation

7) Sending the dark brother to eat in the kitchen shows _________

a) colour discrimination b) caste discrimination

c) class discrimination d) national discrimination

8) Narrow domestic walls stand for

a) boundaries of caste and creed b) boundaries of states

c) boundaries of nations d) boundaries of hatred

9) He reached the station after the train __________

a) had left b) has left

c) leaves d) left

10) The goats danced to the tune of the flute. The underlined verb is

a) transitive b) intransitive

c) irregular d) non-finite

2. Answer any five of the following in 2 to 3 sentences each : 10

1) What did the king think about the development of Ladakh ?

2) What efforts has Helena Norberg – Hodge taken to protect Ladakh ?

3) Why did Sindhu’s mother suggest him to sell their cows ?

4) What did the old woman advise Sindhu ?

5) What made Gopal a passionate lover of study ?

6) How did Gopal start enjoying his studies in America ?

3. A) Answer any two of the following questions : 6

1) Why does the narrator not love the wall ?

2) Comment on the attitude of the speaker in, “I, Too”.

3) Comment on ‘Where the Mind is Without Fear’ as a patriotic song.
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B) Attempt any two : 4

1) Imagine that you are Mayur. Write a permanent message for your voice-
mail.

2) You are doctor Jadhav and you are busy in the operation theatre. Write a
message for your voice-mail.

3) Imagine that you are Dr. Shah chairing the teleconference for the doctors.

Start the conference using suitable expressions and state the objectives
of the conference.

4. 1) As a Manager of Bharat Electronics Solapur, write a letter of enquiry to
Videocon company requesting for the catalogue. 10

OR

2) On behalf of Sipla company write a letter to Mr. Kiran Pai to attend an interview
for the post of sales manager.

5. Write a review on a film you saw recently. 10

_______________
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No.

 B.Com. – II (Semester – III) (Old) Examination, 2015
ECONOMICS

Business Economics

Day and Date : Wednesday, 15-4-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

            N.B.: i) All questions are compulsory.

ii) Figures to the right indicate full marks.

1. Objective type question : 10

Answer the following questions by choosing the correct alternative given below :

1) The study of total economy means ______________economics.

a) Micro b) Macro c) Variable d) None of these

2) With the data of National Income we can understand _____________ of a Nation.

a) Agricultural Progress b) Population Progress

c) Economic Progress d) Social Progress

3) Net National product means ______________

a) Total production b) Per capita income

c) Gross National product – depreciation d) None of the above

4) Who quoted that “Every supply create its own demand” ?

a) Prof. Shumpiter b) J. B. Say

c) Prof. Hawtray d) Lord Keynes

5) In the equation V,
T

VMMV
P 11+=  stand for  ______________

a) General price level b) Value of money

c) Velocity of money d) Total transaction

6) Restatement of quantity theory of money is related with the name of ____________

a) Dr. Marshall b) Lord Keynes

c) Milton Fridaman d) Pigou
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7) Marginal efficiency of capital is related with ______________

a) Supply of money b) Liquidity

c) Investment d) Deficit financing

8) According to the Keynes, when effective demand increase then level of
employment will be______________

a) Increase b) Decrease

c) Constant d) None of the above

9) Disposable Income = Personal Income – ______________

a) Indirect taxes b) Direct taxes

c) Local taxes d) None of the above

10) Unemployment ratio = 100
ntUnemploymeTotal ×
−−−−−−−−−−−−

a) Total labour force b) Total employment

c) Total population d) Total production

2. Answer the following questions briefly :

A) Explain the methods of computing National income. 5

B) Explain the causes of inflation. 5

3. Write short notes :

A) Say’s Law of Market. 5

B) Construction of simple index numbers. 5

4. Answer any one question : 10

A) What is National Income ? Explain the various concepts of National Income.

B) What is deflation ? Explain the causes and effects of deflation.

5. Answer any one question : 10

A) Explain the nature, scope and significance of macro economics.

B) What is consumption function ? Explain the types of consumption function.
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B.Com. II (Semester – III) (Old) Examination, 2015
CORPORATE ACCOUNTING

Day and Date : Thursday, 16-4-2015Saturday 19-4-2014 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.3.0011.00 a.m. 1.00 p.m.

Instructions :  i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Use of calculator is allowed.

1. Choose the correct alternative from the given below : 10

1) Accounting standard ____ relates to disclosure of accounting policies.

a) 1 b) 2 c) 3 d) 4

2) Inventories are valued at cost or market price whichever is ____

a) equal b) more

c) less d) all above

3) The part of issued share capital which is agreed to take up by the public is

known as ____ capital.

a) authorised b) subscribed

c) paid up d) reserved

4) A _____ days notice of demand must be issued before forfeiture of shares.

a) 7 b) 14 c) 21 d) 30

5) Discount allowed on reissue of forfeited shares is debited to ____

a) Discount on issue of Shares A/c b) Capital Reserve A/c

c) Profit and Loss A/c d) Forfeited Shares A/c

Seat
No.
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6) Money paid in anticipation of call is known as ______

a) Calls on shares b) Calls in arrears

c) Calls in advance d) All above

7) Expenses which are payable but not paid upto year end are known as ______
expenses.

a) prepaid b) outstanding

c) capital d) revenue

8) Dividend is generally paid on _____

a) Issued capital b) Called up capital

c) Paid up capital d) Subscribed capital

9) Goodwill is shown in the schedule of ___

a) Current assets b) Fixed assets

c) Investment d) Miscellaneous expenditure

10) Gross profit is divided in the ratio of _______

a) Fixed b) Current

c) Period d) Sales

2. Write short notes on any two : 10

a)  Accounting standard for Fixed Assets.

b) Depreciation Accounting.

c) Profit prior to incorporation.

3. a) A Ltd. issued for subscription 5000 shares of Rs. 10 each payable as under :

On application Rs. 2

On allotment Rs. 3

On first and final call Rs. 5

Applications were received for 8000 shares. The directors rejected 3000
application and money was refunded. All the amounts were duly received.
The first and final call was not yet made by the company.

Pass necessary journal entries in the books of the company. 5
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b) A Ltd. was formed to take over a running business of Modern Company with

effect from 1st April 2012. The company was registered on 1st August 2012

and the certificate of commencement of business was received on

1st October 2012. The company prepared Final Accounts on 31st March 2013.

Total sales for the year which amounted to Rs. 9,60,000 arose evenly upto

the date of the certificate of commencement, whereafter they spurted to

record an increase of two thirds during the rest of the year.

Calculate period ratio and sales ratio. 5

4. Maharashtra Transport Company Ltd. invited application for 40,000 Equity shares of

Rs. 100 each at a discount of Rs. 4 per share. The amount was to be paid as follows :

On application Rs. 20

On allotment Rs. 36

On first and final call Rs. 40

The public applied for 36,000 shares and these were allotted. All money due were

collected with the exception of the first and final call on 4000 shares and these were

forfeited. The forfeited shares were reissued as fully paid for a payment of Rs. 80

per share.

Pass the entries in the books of company. 10

OR



‘X’ Ltd. was registered on 1st January 2011 to take over business of M/s A and B as

from 1st  October 2010. The company received its certificate for commencement of

business on 1st February 2011. The accounts of the company prepared for the year

ending 30th September 2011 showed the followings  :

i) Total turnover for the year amounted to Rs. 2,40,000 of which Rs. 40,000

related to the period from 1st October 2010 to 1st February 2011.

ii) Trading Account showed Gross Profit of Rs. 96,000.

iii) Following expenses were debited to Profit and Loss A/c

Particulars Rs.

Salary 12,000

Rent 4,800

General expenses 1,800

Printing and stationery 2,400

Advertising 4,200

Travelling expenses 8,400

Bad-debts 1,500

(Rs. 500 related to debtors taken

over from vendors)

Directors fees 2,000

Audit fees 800

Debenture interest 5,000

Depreciation 3,600
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Preliminary expenses 3,000

Commission on sales 3,600

Interest to Vendors 4,000

(upto 31st May 2011)

Find out profit made by the company prior to after incorporation. 10

5. Rajvardhan Company Ltd. was registered with capital of Rs. 2,00,000 divided in

2000 equity shares. The Trial Balance of the company as on 31st
 March 2013

was as follows :

Trial Balance

Particulars Dr. Rs. Cr. Rs.

Issued share capital – 1,00,000

Motor car 37,000 –

Sundry Debtors 9,600 –

Salaries 15,000 –

Bank Interest 400 –

Rent Received – 3,500

Travelling Expenses 4,000 –

Machinery 80,000 –

Sales – 1,05,000

Building 50,000 –
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Discount allowed 1,500 –

S. Creditors – 16,800

Wages 8,000 –

Bank overdraft – 12,200

Stock on 1-4-2012 7,000 –

Profit and Loss Appropriation A/c – 22,500

Purchases 30,000 –

Carriage 2,000 –

Cash in hand and at bank 1,000 –

Printing and stationery 2,000 –

Repairs and renewals 1,500 –

Directors remuneration 2,500 –

Audit fees 500 –

Calls in Arrears 3,000 –

Interim Dividend 5,000 –

2,60,000 2,60,000

Prepare Profit and Loss A/c for the year ended 31-3-2013 after considering the

followings :

1) Stock on 31-3-2013 was Rs. 6,000.
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2) Create R.D.D at 5% on Debtors.

3) Depreciate machinery by Rs. 2,000, Building by Rs. 7,000 and Motor car by

Rs. 620.

4) Outstanding wages Rs. 1,000.

5) Directors declared a final dividend at 20% on paid up capital. 10

OR

Prepare Balance Sheet of Rajvardhan Ltd. as on 31-3-2013 from the above

Trial Balance and adjustment after considering that surplus carried forward

from Profit and Loss A/c to the Balance Sheet for the year ended 31-3-2013

amounted to Rs. 27,100. 10

__________________
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B.Com. (Part – II) (Semester – III) (Old) Examination, 2015
FUNDAMENTALS OF ENTREPRENEURSHIP

Day and Date : Friday, 17-4-2015 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

  N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Choose the correct alternative from given below alternatives : 10

1) The key characteristics of successful entrepreneur is
a) Innovation b) Decision
c) Motivation d) All of above

2) Maharashtra Industrial Development Corporation (MIDC) was established in
the year
a) 1961 b) 1962 c) 1963 d) 1964

3) _______________ is a person who develops and owns his own enterprise.
a) Manager b) Entrepreneur
c) Director d) None of above

4) A ___________ is a business that owned by one person.
a) Partnership firm b) Co-op. society
c) Sole trading concern d) None of above

5) The word ‘Entrepreneur’ is first time used in _________ language.
a) Marathi b) English c) French d) Hindi

6) The main aim of any organisation is
a) Charity b) Maximum production
c) Maximum profit d) Increase the assets

7) Company Act was passed in the year
a) 1947 b) 1956 c) 1974 d) 1965

Seat
No.
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8) Which are incentives given by Government for small scale units ?

a) Subsidies b) Tax concessions

c) Technical assistance d) All of above

9) Need for achievement theory is presented by

a) Peter Druker b) Joseph Shumpeter

c) David McCleland d) None of above

10) Entrepreneur is always in search of

a) Opportunity b) Profit

c) Capital d) None of above

2. Write short notes : 10

a) Creativity

b) Forms of Business Organisation.

3. Write short answers : 10

a) What are the sources of idea generation ?

b) Write advantages becoming entrepreneur.

4. Answer any one of following : 10

a) Define the term ‘entrepreneur’. Write characteristics of entrepreneur.

b) What is entrepreneurship ? Write factors motivating Entrepreneurship.

5. Answer any one of following : 10

a) Qualities of successful entrepreneur.

b) Role of entrepreneur in economic development.
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B.Com. (Part – II) (Semester – III) (Old) Examination, 2015
BUSINESS STATISTICS

Day and Date: Saturday, 18-4-2015 Max. Marks : 50

Time: 3.00 p.m. to 5.00 p.m.3.00 p.m. to 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to right indicate full marks.
3) Use of soundless calculator is allowed.
4) Graph papers will be supplied on demand.

1. Choose the most appropriate alternative amongst the given for each question : 10

i) Arrangement of data into different rows and columns is called as
a) classification b) tabulation
c) frequency distribution d) none of these

ii) The way in which total frequency is distributed into different classes, is called
as
a) classification b) tabulation
c) frequency distribution d) none of these

iii) Heading of columns refer as
a) Caption b) Stub
c) Head note d) None of these

iv) Data collected by direct observations are called as
a) Primary data b) Secondary data
c) Both a and b d) None of these

v) Which one of the following is based upon all the values of data ?
a) Arithmetic mean b) Median
c) Mode d) None of these

vi) Which one of the following is lies at the intersection of less than and greater
than ogive curves ?
a) Arithmetic mean b) Median
c) Mode d) None of these

Seat
No.

P.T.O.
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vii) For entirely homogeneous data, which one of the sampling methods is preferred ?

a) Simple Random Sampling b) Stratified Random Sampling

c) Systematic Sampling d) None of these

viii) Quartiles divide the given data into ___________ equal parts.

a) 2 b) 3 c) 4 d) none of these

ix) For a perfect positive correlation between the two variables, the Karl Pearson’s

correlation coefficient ‘r’ is equal to

a) –1 b) +1 c) 0 d) none of these

x) If one regression coefficient is positive, then the other regression coefficient

must be

a) negative b) positive c) equal to zero d) none of these

2. A) State various advantages of sampling over the census method. 5

B) Find the missing frequency in the following distribution of sales of shops,

given that the median sale of shops is Rs. 24.

Sales in Rs. : 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50

No. of shops : 5 25 ..... 18 7 5

3. A) What are the requirements of a good average ? 5

B) The two regression coefficients bxy and byx are 1.2 and 0.3 respectively.

Find correlation coefficient between the variables X and Y and S.D. of Y if

S.D. of X is 4. 5

4. Attempt any one of the following : 10

A) Define mean, median and mode with their merits and demerits. Also state the

empirical relation amongst them. For the following data, compute A.M, Median,

Mode.

Marks : 140 – 150 150 – 160 160 – 170 170 – 180 180 – 190 190 – 200

No. of Students : 4 6 10 18 9 3
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B) Compute S.D. and C.V. for the following data :

Marks :0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70

No. of Students : 8 20 32 50 42 28 20

5. Attempt any one of the following : 10

A) Define histogram. Explain the procedure of finding mode from the histogram.

For the following data, draw  a histogram and locate mode from it.

Classes : 0 – 50 50 – 100 100 – 150 150 – 200 200 – 250 250 – 300

Frequency : 6 14 30 41 22 9

B) Define Karl Pearson’s correlation coefficient. State various properties of it.

For the following bivariate data, compute the value of Karl Pearson’s correlation

coefficient.

X : 28 45 40 38 35 33 40 32 36 33

Y : 23 24 33 34 30 26 28 31 36 35

————————
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B.Com. I (Semester – I) Examination, 2015
HINDI (CGPA Pattern) (Compulsory)
Sahityadhara aur Vyavaharik Hindi

Day and Date : Thursday, 26-3-2015 Max. Marks : 70

Time : 3.00 p.m. to 6.00 p.m.
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B.Com. II (Semester – III) (Old) Examination, 2015
MONEY AND FINANCIAL SYSTEM

Day and Date : Monday, 20-4-2015 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right shows full marks.

1. Objective type questions.
Choose the correct alternative and rewrite the sentence. 10

1) ‘Money is one thing that possesses general acceptability’ is defined by

a) Seligman b) Crowther

c) Walker d) J.M. Keynes

2) Medium of exchange is a ______ function of money.

a) secondary b) primary

c) contingent d) none of these

3) M3 is referred as ______ money.

a) narrow b) bad c) broad d) all of these

4) In money market maximum period of loan are ______ days.

a) 15 days b) 30 days c) 90 days d) 365 days

5) _______ market is illegal.

a) call b) bill c) hawala d) all of these

6) RBI implements ______ policy.

a) monetary b) fiscal

c) state d) none of these

P.T.O.

Seat
No.
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7) _______ is the instruments of monetary policy.

a) public debt b) bank rate

c) deficit finance d) public expenditure

8) ________ is the source of long term capital.

a) overdraft b) promissory note

c) cash credit d) equity share

9) In India 14 banks nationalised in ________ year.

a) 1969 b) 1955 c) 1980 d) none of these

10) __________ is apex institution in Indian money market.

a) SBI b) NABARD

c) RBI d) None of these

2. Give short answers :

a) Types of money. 5

b) Instruments of monetary policy. 5

3. Write short notes :

a) Role of money market in economic development. 5

b) Money lender. 5

4. Answer any one : 10

a) What is money ? Explain the functions of money.

b) Explain the objectives of monetary policy.

5. Answer any one : 10

a) State the objectives of fical policy.

b) Meaning of finance. Explain the role of finance in economy.
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Seat
No.

B.Com. – II (Semester – IV) Examination, 2015
ENGLISH (Compulsory) (New)

Keeping Pace – English Skills for Success

Day and Date : Monday, 30-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Fill in the blanks with suitable words from the alternatives given in each
sentence : 10

1) In 1919, Raman wondered about the connection between the phenomenon of
diffraction and __________

a) molecules b) molecular scattering

c) scattering d) optics

2) In their experiment, Keen and Porter passed a beam of __________ coloured
light through a tank containing a solution.

a) white b) red c) blue d) green

3) Uncle Podger leaned over an angle of ____________ degree and tried to
reach a point on the wall three inches beyond his reach.

a) ninety b) forty-five c) sixty d) thirty-five

4) Employee retention capability at Infosys was because of its rigorous
__________ and a proactive HR department.

a) selection procedure b) innovation

c) foreign contracts d) achievements

5) In the role of a ___________ man is full of strange oaths and is bearded like
the pard.

a) justice b) soldier c) pantaloon d) young lover

6) Rabindranath Tagore prays for a country where the mind is without fear and
___________ is freely available.

a) knowledge b) reason c) shelter d) food
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7) The poem ‘The Seven Ages of Man’ is taken from _________ famous comedy
‘As you Like it’.

a) Shakespeare’s b) Tagore’s

c) Jacques’ d) Frost’s

8) Neither the girls nor the boys ____________ any knowledge of this matter.

a) have b) has c) is with d) is having

9) Everyone has finished _____________ work.

a) their b) his c) her d) one’s

10) She is writing stories. (Change the voice and select the write answer)

a) Stories are being written by her

b) Stories have been written by her

c) Stories are written by her

d) Stories were being written by her

2. Answer any five of the following questions in two or three sentences each : 10

1) Why and how did Narayan Murthy focus on the overseas market at the outset ?

2) What is the ‘global delivery model’ developed by Murthy ? How did it reduce
‘body shopping’ ?

3) What was Lord Rayleigh’s explanation of the blue colour of the sky ?

4) Why does the school boy whine and cry in the poem ‘The Seven Ages of Man’ ?

5) What is the universal message given by Tagore in the poem ‘Where the mind
is without fear’ ?

6) What are the things Uncle Podger loses and finds in the preparation for hanging
the picture ?

3. A) Answer any two of the following questions in about fifty words each : 6

1) Explain the seven ages of man.

2) What type of a country does Tagore pray for ?

3) Why do railways use red light instead of blue for signaling a stop ?

B) Edit and rewrite any two of the following paragraphs : 4

(Make necessary corrections in spellings, punctuations etc.)

1) Communication is an exchange of ideas information messages and
emotions, people communicate with the help of words, actions, signs or
symbols. the term ‘communication’ is derived from the latin word
communicare which means to impart, to participate and to share.
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2) Charles Peirces article “Fixation of Belief” 1877), asserts that there are
psychological and social mechanisms designed to protect and cement our
beliefs in his article Charles pierce has used technical language and has
addressed well-educated audience with some knowledge of philosophy
and history.

3) Planet Earth is known for its biodiversity. The earths surface is surrounded
by water and land. There are animals which live on land as well as water
They depend on water and food for their survival.

4. Attempt any one of the following : 10

1) Frame questions for an interview with a well-known businessman and write
the responses to draft a write up to be published in a popular magazine.

2) Write the transcript of your interview for the post of marketing executive,
consisting of questions asked by the members of the interview panel and
your responses.

5. The annual sales of your company product have declined during the past two
years draft the transcript of the meeting of sales executives of the company to
discuss the problem and find solutions to promote sales. As the chairperson of
the meeting start with appropriate opening remarks, the purpose of the meeting
and the agenda. Also invite opinions and suggestions from participants. 10

_____________________
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Seat
No.

 B.Com. – II (Semester – IV) (New) Examination, 2015
BUSINESS ECONOMICS

Day and Date : Tuesday, 31-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

           N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Objective type question. Answer the following questions by choosing the correct
 alternative given below : 10

1) According to Prof. Hawtrey, trade cycle is  purely _____________ phenomenon.

a) Trade b) Production c) Monetary d) Cost

2) Innovation theory of trade cycle was propounded by _____________

a) Hawtrey b) Hayek c) Keynes d) Schumpeter

3) Public finance is the _____________ science.

a) Social b) Positive

c) Normative d) All of the above

4) The principle of maximum social advantage was initially propounded by __________

a) Dr. J. M. Keynes b) Prof. Pigou

c) Dr. Dalton d) Prof. Chemberlin

5) In India, initially _____________ state has implemented Value Added
Tax (VAT).

a) Punjab b) Maharashtra c) Gujarat d) Haryana

6) When impact and incidence of tax falls on the same person means
_____________ tax.

a) Direct b) Indirect

c) Proportional d) Regressive
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7) The comparative cost theory of international tarde is related to _____________

a) Solow b) Harrod-Domar

c) Hecksher-Ohlin d) None of these

8) In _____________ budget income of the government is greater than their
expenditure.

a) Zerobase b) Surplus c) Deficit d) Balanced

9) The value of one currency is expressed in the value of other currency is
called as _____________

a) Terms of trade b) Exchange rate

c) Bank rate d) Price index

10) The basic concept of purchasing power parity theory is introduced by____________

a) Gustav Cassel b) Devid Ricardo

c) John Vhittle d) None of these

2. Answer the following questions briefly :

A) Explain the phases of trade cycle. 5

B) Explain the causes of growth of public expenditure. 5

3. Write short notes on :

A) Ricardian theory of International Trade. 5

B) Purchasing power parity theory. 5

4. Answer any one question of the following : 10

A) What is balance of payments ? Explain the causes of disequilibrium in the
balance of payments.

B) What is budget ? Explain the kinds of budgets.

5. Answer any one question of following : 10

A) What is business cycle ? Explain the Hawtrey’s theory of business cycle.

B) What is direct tax ? Explain the merits and demerits of direct tax.
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B.Com. II (Semester – IV) Examination, 2015
CORPORATE ACCOUNTING (New)

Day and Date :Wednesday, 1-4-2015Saturday, 26-4-2014 Max. Marks : 50
Time :11.00 a.m. to 1.00 p.m.3.00 p.m. to 6.00 p.m.

Instructions : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Use of calculator is allowed.

1. Choose the correct alternative from the following : 10

1) Decrease in working capital is shown under ________ in Funds Flow Statement.

a) Application of Fund b) Sources of Fund

c) P & L Adjusted A/c d) Balance Sheet

2) Redemption of Preference shares is ________________ of fund.

a) Application b) Source

c) Profit d) All of these

3) In case a company is solvent interest on debentures is paid up to date of

a) Balance Sheet b) Winding up

c) Repayment of debenture d) Financial year end

4) Discount on issue of Debentures is ______________ loss.

a) Actual b) Preliminary

c) Revenue d) Capital

5) Liquidators final Statement is prepared

a) In all modes of winding up

b) Only in case of compulsory winding up

c) In Voluntary winding up

d) In insolvency of company

Seat
No.



SLR-Q – 63 -2- ��������

6) debenture Holders are _________ of the company.

a) Owner b) Creditors

c) Debtors d) Directors

7) Break up value of shares can be determine by

a) Fair value method b) Yield method

c) Net Assets method d) All of these

8) The balance of Sinking Fund A/c after redemption of debentures is transferred to

a) Debentures A/c b) Sinking Fund Investment A/c

c) Profit and Loss A/c d) General Reserve A/c

9) Net Assets =

a) Fixed Assets – Fixed liabilities b) Fixed Assets – Current Liabilities

c) Assets – Liabilities d) All assets

10) Debenture holders rank for payments before payment of

a) Liquidators remuneration b) Preferencial creditors

c) Equity share holders d) Unsecured creditors

2. Write short note (Any two) : 10

a) Redemption of Debentures

b) Voluntary winding up

c) Advantages of Funds Flow Statement.

3. a) X Ltd. issued 1000 5% Debentures of Rs. 100 each payable Rs. 30 on

application and balance on allotment. Applications were received for 1200

debentures. The Directors rejected excess applications and money received

on them were refunded. The remaining applicants were allotted fully. All sums

were duly received journalise the transactions in the books of X Ltd. 5
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b) On 31st March 2013 The ABC Ltd. has a paid up capital of Rs. 4,00,000

divided into 40,000 shares of Rs. 10 each. The net assets of the company as

on 31st March 2013 were Rs. 4,90,000 as per Balance Sheet. It was discovered

that stock of goods was undervalued by Rs. 20,000.

Calculate the value of shares. 5

4. Following are the Balance Sheets of Aakash Ltd. as on 1st April 2013 and

31st March 2014.

Balance Sheets

Assets and Liabilities 1-4-2013 31-3-2014

Liabilities

Share Capital 1,00,000 1,50,000

Preference Share Capital 1,00,000 1,20,000

General Reserve 50,000 70,000

Profit and Loss A/c 70,000 90,000

S. Creditors 1,20,000 1,50,000

Bank Overdraft 50,000 30,000

Provision for Taxation 30,000 40,000

5,20,000 6,50,000

Assets

Plant and Machinery 2,00,000 2,50,000

Land and Building 1,50,000 1,35,000

Furniture 50,000 40,000

S. Debtors 60,000 80,000
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Stock 55,000 1,23,000

Cash 5,000 17,000

Discount on Issue of Equity Shares – 5,000

5,20,000 6,50,000

Additional Information :

1) All fixed assets are subject to depreciation at 10% on the opening balance.

2) Preference shares are issued in part consideration of new machinery

purchased. The balance of the amount due of the new machine is paid in

cash.

3) Taxes paid during the year Rs. 35,000.

4) Interim Dividend paid Rs. 15,000.

5) During the year Furniture of Rs. 5,000 is destroyed by fire

You are required to prepare. Funds Flow Statement. 10

OR

XYZ Ltd. issued on 1st January 2003 Rs. 5,00,000, 10% Debentures at 5% discount

and repayable at the end of 5th year at a premium of 6%. The Debenture

Redemption Fund was created by transferring Rs. 1,00,000 from profit each year

and it was invested in 10% Government securities. The accounts are closed on

31st December. You are require to prepare :

i) Debenture Redemption Fund A/c.

ii) Debenture Redemption Fund Investment A/c. For the first three years. 10



5. Following is the summerised Balance Sheet of X Ltd. as on 31-3-2013.

Balance Sheet

Liabilities Rs. Assets Rs.

Share capital Debtor’s 2,25,000

100000 shares of Stock 7,25,000

Rs. 10 each 10,00,000 (Market Value Rs. 7,50,000)

General Reserve 2,50,000 Plant 5,30,000

Profit and loss A/c 1,65,000 Premises 5,60,000

Bank Overdraft 1,50,000

Creditor’s 2,25,000

Provision for Taxation 1,00,000

Depreciation Fund : Plant 50,000

Workmens saving A/c 1,00,000

20,40,000 20,40,000

The assets are revalued at :

Goodwill Rs. 7,75,000, Plant Rs. 5,50,000 and Premises Rs. 6,00,000. Net profit

of the company after providing for taxation but before deduction of amount of

dividends were :

31-3-2011 Rs. 3,50,000

31-3-2012 Rs. 4,25,000

31-3-2013 Rs. 5,00,000

�������� -5- SLR-Q – 63



Normal profit in this type of business is 10%.

Calculate :

i) Intrinsic value

ii) Yield value

iii) Fair value of shares. 10

OR

Following is the Balance Sheet of ABC Ltd. as on 31-3-2013.

Balance Sheet

Liabilities Rs. Assets Rs.

Equity Shares Capital Goodwill 5,000

4000 share of Rs. 10 each 40,000 Building 30,000

Less-calls in arrears            1000 39,000 Plant and Machinery 10,000

Bank Overdraft (Unsecured) 1,000 Stock 35,000

Creditors secured by Debtor’s 20,000

  Mortgage on Building 16,000 Cash in hand 500

Creditor’s party secured Cash at Bank 5,000

  on Plant and Machinery 15,000 Profit and loss A/c 22,000

Taxes due to Govt. 500 Preliminary Expenses 1,500

Workmens Pension and

  Gratuity Fund 4,500

SLR-Q – 63 -6- ��������



Salaries and Wages for

  six months 2,400

Trade creditor’s 50,600

1,29,000 1,29,000

The company went into liquidation and assets realised by the liquidators were
Plant and Machinery Rs. 8,500, Stock Rs. 22,500 and Debtor’s Rs. 10,000.

The Building was realised by secured creditors for Rs. 35,000. Expenses of
liquidation amounted to Rs. 4,075. The liquidators remuneration was agreed at
2% on the amount realised by him and 2.5% on the amount paid to unsecured
creditors other than preferencial creditor’s.

Prepare liquidators Final statement of Account. 10

__________________
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Seat
No.

B.Com. – II (Sem. – IV) (New) Examination, 2015
BUSINESS STATISTICS

Day and Date : Tuesday, 7-4-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of soundless calculator is allowed.
4) Graph papers will be supplied on request.

1. Choose the most correct alternative : 10

i)  The out come of tossing a coin is a

a) simple event b) mutually exclusive event

c) complementary event d) compound event

ii) A time series is a set of data recorded

a) Periodically b) at time or space intervals

c) at successive points of time d) all the above

iii) Cyclic variations in a time series are caused by

a) Earthquakes b) War in a country

c) Floods in the states d) None of these

iv) The area under the normal curve μ  – 3 σand μ  + 3σ  is

a) 0.9 b) 0.0027 c) 0.9973 d) None of these

v) Index number is a

a) Measure of relative change b) Special type of an average

c) Both a) and b) d) None of these

vi) ___________ type of causes can be detected and removed from the production
process.

a) Chance causes b) Assignable causes

c) Both a) and b) d) None of these
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vii) Probability of an impossible event is always equal to

a) 1 b) 0.5 c) Zero d) None of these

viii) For binomial distribution

a) mean > variance b) mean < variance

c) mean = variance d) none of these

ix) The variance of the binomial distribution with parameters n and p is

a) npq b) np c) npq d) none of these

x) In time series analysis ______________ component is totally unpredictable.

a) Secular trend b) Seasonal variations

c) Cyclic variations d) Irregular variations

2. A) Explain the terms with an illustration (any three) : 5

i) Sample space

ii) Mutually exclusive events

iii) Equally likely cases

iv) Independent events.

B) For a binomial distribution the mean is 20 and variance is 15. Find n, p and q
with usual notations. 5

3. A) Calculate three yearly moving average for : 5

Year : 1995 1996 1997 1998 1999 2000 2001 2002

Value : 32 17 57 92 42 45 27 32

B) Construct index number using simple aggregate method by taking 2001 as
base year : 5

Item Price in 2001 Price in 2006

Rice 35 47

Wheat 12 17

Oil 90 98

Potato 25 37

Coconut 32 30
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  4. i) What is Statistical Quality Control (SQC) ? 10

ii) State different types of control charts.

iii) Give the advantages of SQC.

OR

4. Compute 5 yearly moving averages for the following data : 10

Year   : 1952 1953 1954 1955 1956 1957 1958 1959 1960

Value : 280 130 350 360 240 180 210 230 280

5. State important properties of normal distribution. 10

OR

5. Define Laspeyre’s and Paasche’s price index numbers. Compute index number
of price by 10

i) Laspeyre’s method

ii) Paasche’s  method

from the following data :

Commodity
Base Year Current Year

Price Quantity Price Quantity

A 6 300 10 560

B 2 200 2 240

C 4 240 6 360

D 10 300 12 288

E 8 320 12 432

_____________________
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P.T.O.

SLR-Q – 66

Seat
No.

B.Com. – II (Semester – IV) (New) Examination, 2015
MONEY AND FINANCIAL SYSTEM

Day and Date : Wednesday, 8-4-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

           N. B. : 1) All questions are compulsory.
2) Figures to the right shows full marks.

1. Objective type questions : 10
Choose the correct alternative and rewrite the sentences :

1) ____________ is the secondary function of commercial banks.

a) Money transfer b) Saving account

c) Current account d) All above

2) Bank draft is always ____________

a) Bearer b) Crossed

c) Fixed d) None of above

3) Credit creation of commercial banks increases ____________

a) Real national income b) Percapita income

c) Supply of money d) None of above

4) In India Real Time Gross Settlement System (RTGS) is started in the year

____________

a) 1969 b) 1975

c) 1982 d) 2004

5) Society for World wide Interbank Financial Telecommunication (SWIFT) is

established in the year ____________

a) 1973 b) 1975

c) 1982 d) 1990

6) ____________ creates lending and lending creates deposits.

a) Deposits b) Investment

c) Money transfer d) None of above
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7) Generally banks pay high rate of interest on ____________

a) Saving deposit b) Recurring deposit

c) Time deposit d) All of above

8) Overdraft facility is given on ____________ account.

a) Saving b) Recurring

c) Current d) None of above

9) ATM means ____________

a) All Time Money b) All Time Mail Transfer

c) All Time Market d) None of above

10) ____________ is the main investment principle of commercial banks.

a) Utility function b) Agency function

c) Safety d) None of above

2. Answer the following questions : 10

A) Explain the utility services of banks.

B) State the objectives of know your customer.

3. Write short notes : 10

A) Net Banking.

B) Limitations of credit creation.

4. Answer any one of the following : 10

A) Explain the primary functions of commercial banks.

B) What is credit creation ? Explain the process of credit creation.

5. Answer any one of the following : 10

A) State the importance of technology in banking.

B) Explain the procedure for opening bank account.
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Seat
No.

B.Com. (Part – II) (Semester – IV) Examination, 2015
FUNDAMENTALS OF ENTREPRENEURSHIP (Old)

Day and Date : Monday, 6-4-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives below each question : 10

1) The type of Bank A/c required for new venture

a) Current A/c b) Saving A/c

c) Recurring A/c d) Loan A/c

2) Small scale industries in free trade zone get income tax holiday for

a) 5 years b) 2 years

c) 4 years d) 3 years

3) The Chairman of the Tharmax Co. Ltd., Pune is

a) Pooja Jain b) Priya Poal

c) Anu Aga d) Eakta Kapoor

4) The first state to introduce Collective Motivation Scheme (Samuhik Protshan
Yojana) for decentralisation of industry

a) Karnataka b) Uttar Pradesh

c) Maharashtra d) Kerala

5) The award of ‘Greatest Entrepreneur of all time’ by business weekly given to
___________

a) Dhirubai Ambani

b) JRD Tata

c) Laxmanrao Kirloskar

d) Dr. Ajim Premji
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6) For the new venture requiring large scale capital the business form suitable

a) Partnership b) Sole trader

c) Co-op. society d) Company

7) The office of ‘Maharastra Women Entrepreneur Organisation’ (WIMA) is in
___________

a) Pune b) Mumbai

c) Nashik d) Solapur

8) One of the most important problems of women entrepreneur is ___________

a) Need achievement b) Lack of capital

c) Family responsibility d) None of above

9) DIC of Solapur District established in

a) 1962 b) 1979

c) 1982 d) 1992

10) Prime Minister’s Employment Generation Programme declared in the year
___________

a) 15th Aug. 1993 b) 2nd Oct. 1993

c) 26th Jan. 1993 d) None of above

2. Write short notes : 10

a) Functions of MIDC

b) Women entrepreneurship in India.

3. Write short answers : 10

a) What are the objectives of DIC.

b) Write various forms of business organisation in brief.

4. Answer any one of the following : 10

a) Explain types of women entrepreneurs.

b) Write successful story of Laxmanrao Kirloskar.

5. Answer any one of the following : 10

a) Describe the incentives given for small-scale industries.

b) Write the steps of new venture set-up.
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Seat
No.

B.Com. (Part – II) (Semester – IV) (Old) Examination, 2015
STATISTICS

Business Statistics

Day and Date : Tuesday, 7-4-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

            N.B.  : 1) All questions are compulsory.
2) Each question carries equal marks.
3) Figures to the right indicate full marks.
4) Graph papers will be supplied on request.
5) Use of soundless calculator is allowed.

1. Choose the most appropriate alternative amongst the given alternatives : 10

i) The set of all possible outcomes of an experiment is called

a) event b) sample space c) probability d) none of these

ii) If event A happens, B will not happen and if event B happens, event A will not
happen i.e. both events A and B cannot happen simultaneously, then events
A and B are called as

a) Mutually exclusive events b) Independent events

c) Exhaustive events d) None of these

iii) Probability of drawing a card of king from a pack of cards is equal to

a)
3
1

b)
4
1

c)
5
1

d) None  of these

iv) For a Binomial distribution

a) mean = variance b) mean > variance

c) mean < variance d) none of these

v) Normal curve is a

a) bell shaped b) J shaped

c) U shaped d) None of these

vi) Control chart contains how many horizontal lines ?

a) 2 b) 3 c) 4 d) none of these



SLR-Q – 71 -2- ��������

vii) Control limits of d-chart are based on

a) Normal distribution b) Poisson distribution

c) Binomial distribution d) None of these

viii) In Laspreye’s price index number, what is used as weight ?

a) Current years price b) Current years quantity

c) Base years price d) Base years quantity

ix) Variations which appear due to accidental and unforeseeable happenings

like wars, earthquakes, floods etc. are called as

a) Seasonal variations b) Cyclic variations

c) Irregular variations d) None of these

x) There are large withdrawals on the first date of every month from a bank for

payment of salaries by government as well as private employees. This is an

example of

a) Seasonal variation b) Cyclic variation

c) Irregular variation d) None of these

2. A) For a binomial distribution, mean is 2 and standard deviation is 1. Find all the

parameters of the distribution. 5

B) What is a Time Series ? Explain various components of time series, in brief. 5

3. A) Draw a C-chart for the following data pertaining to the number of foreign

coloured threads (considered as defects) in 15 pieces of cloth 2m × 2m of a

certain make of synthetic fibre and state your conclusions. 5

7, 12, 3, 20, 21, 5, 4, 3, 10, 8, 0, 9, 6, 7, 20

B) Following are the infant mortality rates in a region from 1922 to 1931. Find the

progressive averages from the following : 5

Year : 1922  23 24 25 26 27 28 29 30 31

Infant
Mortality :     77   69 75 75 70 70 65 74 60 66
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4. Attempt any one of the following : 10

A) Define Normal distribution. State various properties of it.

B) Calculate Fisher’s price and quantity index number from the following data :

Commodity

Base Year 1990 Current Year 2001

Price in
Rs.

Quantity in
kg.

Price in
Rs.

Quantity in
kg.

Jawar 5 5 8 6

Wheat 5 6 10 6

Meat 60 2 100 2

Fish 50 1 80 2

Potato 4 2 5 4

5. Attempt any one of the following : 10

A) Compute 4 yearly centered moving averages from the following data :

Year : 1981   82   83   84   85   86   87   88   89

Values : 155 153 145 131 125 150 130 172 128

B) Construct X and R charts for the following data when n = 5

Sample no. : 1 2 3 4 5 6 7 8 9 10

Mean � : 43 49 37 44 45 37 51 46 43 47

Range R : 5 6 5 7 7 4 8 6 4 6

(Given : for n = 5, A2 = 0.58, D3 = 0, D4 = 2.11).

_____________________
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Seat
No.

B.Com. – II (Semester – IV) (Old) Examination, 2015
MONEY AND FINANCIAL SYSTEM

Day and Date : Wednesday, 8-4-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Objective type question.
Choose the correct alternative and rewrite the sentences : 10

1) Overdraft facility is given on ____________ account.

a) Saving b) Current c) Fixed d) None of these

2) Transfer of funds is the ____________ function of commercial banks.

a) Primary b) Utility services

c) Secondary d) None of these

3) Credit creations increases ____________

a) Wealth b) Supply of money

c) Purchasing power of currency d) National income

4) Banks generally do not pay any interest on __________

a) Current deposits b) Saving deposits

c) Time deposits d) Recurring deposits

5) The deposit created by banks which lending money is called ___________

a) Primary deposit b) Secondary deposit

c) Fixed deposit d) Saving deposit

6) Liquidity of a bank implies ________

a) Capacity to provide cash on demand

b) Cash credit

c) To create credit

d) None of these
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7) For withdrawing cash from saving or current account ________ is used.

a) Pass book b) Demand draft

c) Cheque or withdrawal slip d) None of above

8) Real Time Gross Settlement System (RTGS) is launched in India in ________
year.

a) 2004 b) 2006

c) 2008 d) 2010

9) ____________ is/are the fundamental principles of commercial banks.

a) Liquidity b) Profitability

c) Safety d) All above

10) The important mode of transferring funds from one place to another through
banks is/are _____________

a) Mail transfer

b) Demand draft

c) Electronic transfer of funds

d) All above

2. Answer the following questions : 10

a) Explain secondary functions of bank.

b) State the types of individual account holder.

3. Write short notes : 10

a) A.T.M.

b) Procedure of opening a bank account.

4. Answer any one : 10

a) Explain the primary functions of bank.

b) State the various methods of fund remittance.

5. Answer any one : 10

a) Explain the procedure of credit creation.

b) Explain the principles of investment banks.
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B.Com. (Part – III) (Semester – V) Examination, 2015
BUSINESS ECONOMICS

Day and Date : Monday, 23-3-2015 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m..m.

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Multiple choice question. 10

Choose the correct alternative given below.

1) Income inequality is measured by ________ curve.

a) Demand b) Supply c) Lorenz d) None of these

2) Liberalization, Privatization and Globalization has become popular in India
from ________ year.

a) 1951 b) 1991 c) 1981 d) none of these

3) In India rate of unemployment is _________ in urban area as compare to rural
area.

a) high b) low c) equal d) none of these

4) _______ has made detail analysis of regional imbalances in India.

a) Adam Smith b) Malthus

c) Dr. N. J. Kurian d) None of these

5) Thomas Malthus was famous for his theory of

a) Population b) Rent c) Profit d) None of these

6) Black money is known as _________ Economy.

a) horizontal b) parallel c) inverse d) none of these

P.T.O.

Seat
No.
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7) Adam Smith published his book _________ in 1776.

a) Wealth of Nation b) Das Capital

c) Population d) None of these

8) Business Economics ________ developed science.

a) recently b) ancient c) traditional d) none of these

9) Concept of Indian poverty firstly explained by

a) M.K. Gandhi b) Dadabhai Nauroji

c) N. Kaldor d) None of these

10) _________ was first who make an estimate of Black Money in India.

a) Poonam Gupta b) Suraj Gupta

c) N. Kaldor d) None of these

2. Write short note on : 10

A) Principles of business economics.

B) Causes of industrial sickness.

3. Answer the following. 10

A) Explain the impact of privatization on Indian Economy.

B) Explain the effects of black money on Indian Economy.

4. Answer any one of the following. 10

A) Discuss the causes of unemployment in India.

B) Discuss Rostow’s theory of economic growth.

5. Answer any one of the following. 10

A) Explain Ricardian theory of economic development.

B) What is Liberlization ? Explain its impact on Indian Economy.
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B.Com. (Part – III) (Semester – V) Examination, 2015
CO-OPERATIVE DEVELOPMENT

Day and Date :Tuesday, 24-3-2015 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

     N.B. :1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Choose the correct alternative : 10

1) The World Co-operative Movement started in the year ___________

a) 1844 b) 1904 c) 1948 d) 1960

2) In _____________ the First Co-operative Act was passed in India.

a) 1844 b) 1891 c) 1904 d) 1912

3) __________ society gives crop loan to the farmers.

a) PACC b) DCC c) LDB’s d) NABARD

4) National Federation of Industrial co-operatives established in the year

a) 1904 b) 1912 c) 1966 d) 1972

5) _________ Committee was formed by NABARD for recommendations in

respect of PACCs.

a) D.G. Karve b) Baidyanathan

c) A.D. Gorwala d) Mahajan

6) The structure of Indian Co-operative Marketing is of ___________ nature.

a) two tire b) federal c) branch d) unit

Seat
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7) District Central co-operative banks are member of _________

a) Primary Agricultural co-operative societies

b) Urban co-operative Banks

c) Industrial co-operative Banks

d) State co-operative Banks

8) The conference International co-operative Alliance 1995 was arranged at

a) Delhi b) Singapore

c) Manchester d) Washington

9) ____________ is the owner of co-operative society.

a) Director b) Member c) Govt. d) Chairman

10) England is famous for ___________ co-operative Movement.

a) Agricultural b) Labour c) Credit d) Consumer

2. Write short answers :

A) Baidyanathan Committee Report. 5

B) Features of Co-operation. 5

3. Write short notes :

A) Drawbacks of co-operative Marketing Society. 5

B) Merits of service co-operative Societies. 5

4. Answer any one of the following : 10

A) Explain recent principles of co-operation.

B) State the functions of Industrial co-operative Societies.

5. Answer any one of the following : 10

A) Explain the problems and remedies of consumer co-operative societies in
India.

B) Explain the progress of district central co-operative Banks.
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B.Com. (Part – III) (Semester – V) Examination, 2015
ADVANCED COSTING (Paper – I)

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

           N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. Select the most appropriate alternative from given alternatives : 10

1) The process of ascertaining cost from the point at which expenditure is incurred
is called ______________
a) Financial Accounting b) Management Accounting
c) Cost  Accounting d) All of the above

2) Direct material + Direct labour + Direct expenses =  ______________
a) Cost of production b) Prime cost
c) Factory cost d) All of the above

3) Factory cost + Office overhead = ______________
a) Cost of production b) Factory cost
c) Prime cost d) All of the above

4) Directors fees, Salesmens commission and Salaries paid to sweepers are
the examples of  ______________
a) Direct wages b) Prime cost
c) Indirect wages d) Factory cost

5) The objective of material management may be ______________
a) Lower cost of acquisition
b) Minimising investment in inventories
c) Assuring a high inventory turnover
d) All of these

6) When source of supply has been decided, the purchase manager prepares
______________
a) Invoice b) Purchase Order
c) Bin Card d) Material Requisition Note

P.T.O.
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7) Minimum Consumption × Maximum Reorder Period + Reorder Quantity =
______________
a) Reorder Level b) Minimum Stock Level
c) Maximum Stock Level d) All of these

8) The portion of basic raw-material lost in the process, having no recoverable
value is called ______________
a) Scrap b) Waste c) Spoilage d) None of the above

9) When prices are fluctuate widely the method that will smooth out the effect of
fluctuations is ______________
a) Simple Average b) Weighted Average
c) FIFO d) LIFO

10) The storekeeper should initiate a purchase requisition when stock reaches
______________
a) Minimum level b) Maximum level
c) Reorder level d) Average level

2. Write short note on :

a) Objectives of cost accounting. 5

b) Bin card. 5

3. A) From the following information calculate the prime cost. 5

�

Closing stock of raw material 4,000
Opening stock of raw material 5,000
Purchases of raw material 10,000
Returns to suppliers 1,000
Direct expenses 6,000
Direct wages 4,000

B) From the following data for the last 12 months, compute the average stock
level. 5
Maximum consumption 300 units
Minimum consumption 200 units
Average consumption 225 units
Reorder period – Maximum 6 months
Reorder period – Minimum 2 months
Maximum reorder for emergency purchases 1.5 month
Reorder quantity 750 units
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4. The following transactions took place relating to material during January 2013.
Date Particulars Quantity Rate per unit

k.g. �

Jan.
2 Received 2000 10
6 Received 300 12
9 Issued 1200 –

10 Received 200 14
11 Issued 1000 –
22 Received 300 15
25 Received 400 16
30 Issued 200 –
31 Issued 400 –

You are required to write up the Stores Ledger Account under the FIFO Method. 10

OR

4. From the following information prepare Stores Ledger Account under Weighted
Average Price Method.
Date Particulars Quantity Rate per unit
 2011 (Units) �

March
2 Received 2000 10
6 Received 300 12
8 Issued 1200 –

15 Received 200 14
18 Issued 1000 –
22 Received 300 15
31 Issued 200 – 10

5. From the following information prepare a cost sheet showing Prime Cost, Works
Cost, Cost of Production and Total cost. Assuming that all the products
manufactured are sold, determine the selling price to obtain a profit of 20% on
selling price.

�

Materials used in manufacturing 5,500
Materials used in primary packing 1,000
Materials used in selling the product 150
Materials used in the factory 75



Materials used in the office 125
Labour required in producing 1,000
Labour required for supervision of the management – Factory 200
Direct expenses 500
Indirect expenses 100
Office expenses 125
Depreciation – Office building 75
Depreciation – Factory 175
Selling expenses 350
Freight on materials 500
Advertising 125 10

OR

5. From the following figures prepare the cost sheet to show the cost of production
of each unit of the goods manufactured.

�

Opening stock (1-4-2012) :
  Raw materials 500 units 300
  Finished goods 500 units 1,610
Purchase of raw materials 10,000 units 9,635
Closing stock (30-4-2012) :
  Raw materials 300 units 755
  Finished goods 700 units 1,834
Office salaries, rent and rates 1,224
Repairs and depreciation of plant and machinery 1,020
Printing and stationery 918
Manufacturing wages 9,690
Coal consumed 2,958
Factory rent and taxes 1,734 10

_____________________
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Seat
No.

B.Com. – III (Semester – V) Examination, 2015
INDUSTRIAL MANAGEMENT (Paper – I)

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

             N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select appropriate alternative and rewrite the following sentences : 10

1) Who is called father of scientific management ?

A) F. W. Taylor B) Henry Fayol

C) Max Weber D) William Ouchi

2) Common man can bear the noise intensity maximum upto _________ decible.

A) 170 – 180 B) 70 – 80

C) 120 – 130 D) 210 – 310

3) Which type of layout is used for huge and bulky machinery ?

A) Product layout B) Mixed layout

C) Stationary layout D) None of these

4) For doing good work in the factory ____________ is appointed.

A) inefficient employee B) security man

C) researcher D) proper man for proper place

5) Existing rules are followed in the business organisation means ______________

A) Discipline B) Planning

C) Authority D) Responsibility

6) Who developed theory Z for management of industry ?

A) Max Weber B) William Ouchi

C) Peter Drukcer D) Henry Fayol
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7) The location of space and arrangement of equipment in such a manner that
overall operation cost be minimised is called _________

A) factory location B) Production planning

C) Plant layout D) Work environment

8) ____________ is science of safeguarding health of industrial workers.

A) Plant layout B) Noise control

C) Factory location D) Industrial sanitation

9) The factory ___________ is the primary tool with which to carry on production
and in to which all other production tools and mechanism must fit.

A) Building B) Planning

C) Environment D) Lighting

10) Factory Act was passed in the year ___________

A) 1984 B) 1948

C) 1884 D) 1848

2. Write short notes on : 10

1) Air conditioning

2) Types of factory building.

3. Answer the following : 10

1) Discuss the elements of industrial sanitation.

2) Explain the merits and demerits of process plant layout.

4. Answer any one of the following : 10

1) Explain the factors influencing plant layout.

2) Explain the importance of work environment.

5. Answer any one of the following : 10

1) State factors determining location of factory.

2) State the importance of plant layout.
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B.Com. (Part – III) (Semester – V) Examination, 2015
ADVANCED STATISTICS (Paper – I)

Day and Date : Thursday, 26-3-2015 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Graph papers will be supplied on request.
4) Use of soundless calculator is allowed.

1. Choose the appropriate alternative from the following. 10

1) In a pie diagram, the sum total of various components of a variable is taken as

a) 300° b) 360° c) 400° d) None of these

2) One dimensional diagrams are prepared on the basis of

a) length b) width c) both a and b d) none of these

3) An arrangement of some or all of a given number of things taken in order is
called

a) permutation b) combination

c) both a and b d) none of these

4) nC0
 = nCn

 is equal to

a) one b) zero c) both a and b d) none of these

5) The probability of an event can assume any value between

a) – 1 and 1 b) 0 and 1 c) – 1 and 0 d) none of these

6) All possible outcomes of a random experiment forms the

a) events b) sample space

c) both a and b d) none of these

P.T.O.

Seat
No.
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7) The probability space in tossing two coins is

a) {HH, HT, TH} b) {HT, TH, TT}

c) {HH, HT, TH, TT} d) none of these

8) Probability of occurance of atleast one of the events A and B is denoted by

a) )BA(P ∩ b) )BA(P ∪ c) P(A|B) d) none of these

9) The conditional probability of an event B on the assumption that event A has

actually occurred is given by

a) P(B/A) = P(AB)/P(A) b) P(B/A) = P(AB)/P(B)

c) P(B/A) = P(AB) d) None of these

10) The sum of probability mass function is equal to

a) – 1 b) 0 c) 1 d) none of these

2. a) Explain the construction of multiple bar diagram. 5

b) With usual notation, prove that nCr
 = nCn – r. 5

3. a) Find n, if nC2 = 55. 5

b) Draw a pie diagram to represent the following information of a company during

a year

Item of cost Rs. (in crore)

Labour cost 10

Overheads cost 30

Materials cost 60

5

4. Attempt any one of the following : 10

a) Define the terms i) event ii) mutually exclusive events. Also, show that

)BA(P)B(P)A(P)BA(P ∩−+=∪ .



b) A random variable X has the following probability distribution

Values of X : − 2 − 1 0 1 2 3

P(x) : 0.1 k 0.2 2k 0.3 3k

i) Find the value of k

ii) Obtain P(X < 2) and P(X > 0)

iii) Construct the distribution function xF ( )⋅  of X.

5. Attempt any one of the following : 10

a) Define probability mass function and cumulative distribution function of random
variable X. Also state their properties.

b) For the following probability distribution.

X

Y
− 1 0 1

− 1 0 0.1 0.1

0 0.2 0.2 0.2

1 0 0.1 0.1

Obtain :

i) Marginal probability distribution of X and Y.

ii) Conditional distribution of X given Y = 0.

–––––––––––––––––
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 B.Com. (Part – III) (Semester – V) Examination, 2015
ADVANCED BANKING  (Paper – II)
Banks and Financial Institutions

Day and Date : Friday, 27-3-2015 Max. Marks : 50
Time : 3.00 p.m. to 5.00 p.m.

             N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Objective Type Question :

1. Answer the following questions by choosing correct alternative given below : 10

1) __________ Committee recommended the establishment of a State
Cooperative Apex Bank.
a) The Maclagan b) Gadgil
c) Murthy d) Rangarajan

2) _____________ Act as a intermediary between the State Cooperative Bank
and Primary Credit Societies.
a) The Central Cooperative Banks
b) The District Bank
c) Urban Cooperative Bank

d) Land Development Cooperative Bank

3) The Land Development Cooperative Bank provides __________ loan to
agriculture.
a) Short-term b) Medium-term
c) Long-term d) Short and Medium term loan

4) ____________ is the first Development Bank in India.
a) IFCI b) IDBI
c) ICICI d) SBI

5) NABARD is established in _____________

a) 1982 b) 1882

c) 1890 d) 1950

P.T.O.

Seat
No.
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6) The Narasimhan Committee has recommended, to classify bank assets into
________________ groups.

a) 2 b) 3

c) 4 d) 5

7) The Reserve Bank of India is established in

a) 1935 b) 1934

c) 1930 d) 1940

8) ‘Note issue’ is the monopoly of

a) Reserve Bank of India b) State Bank of India

c) Bank of India d) Bank of Baroda

9) Indian Money Market is also known as ___________ money market.

a) Mumbai b) Delhi

c) Chennai d) Kolkatta

10) In ___________ big 14 private banks are nationalised.

a) 1970 b) 1969

c) 1965 d) 1964

2. Write short notes : 10

a) Indigenous bankers.

b) Classification of assets

3. Write short notes : 10

a) Recommendations of Narasimhan Committee.

b) Progress of Commercial Banks after nationalisation.

4. Answer any one : 10

a) Explain the role of Reserve Bank of India in the development of Indian economy.

b) Explain the main features of Indian Money Market.

5. Answer any one : 10

a) Explain the role of State Bank of India in the development of Indian agriculture.

b) Discuss the concepts of productivity, profitability and efficiency in case of
Public Sector Banks.
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B.Com. III (Semester – V) Examination, 2015
ADVANCED ACCOUNTANCY (Paper – II)

Auditing

Day and Date : Friday, 27-3-2015 Max  Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

Instructions :  1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. 1) __________ is one  where the auditor attends only at the end of the financial
period and finishes his work at a stretch without any interval. 10

a) Interim Audit b) Internal check

c) Final Audit d) All of above

2) The Directors of a newly started company have to forward Statutory Report
to share-holders and the registrar ________ before the holding of the statutory
meeting.

a) 30 days b) 25 days c) 31 days d) 21 days

3) The term ‘Audit’ is derived from a Latin word Audire; which means to

a) Tear b) Wear c) Hear d) There

4) Audit conducted at the initiative of Management is called

a) Internal Audit b) Continuous Audit

c) Balance-Sheet Audit d) Special Audit

5) Chartered Accountants Act was passed in _______ year.

a) 1950 b) 1949 c) 1918 d) 1930

6) Verification of assets includes _________ of assets also.

a) Valuation b) Vouching c) Recording d) Checking

P.T.O.

Seat
No.
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7) ____________ audit is compulsory to  Joint Stock Company.

a) Special Audit b) Interim Audit

c) Balance-Sheet Audit d) None of above

8) Under Section 228 ; of Companies Act; _________ has right to visit the
branches of the company.

a) Debenture holders b) Share holders

c) Auditor d) Customer

9) __________ starts where Book-keeping ends.

a) Auditing b) Accountancy c) Checking d) All of above

10) ___________ arise when a transaction is wholly or partly omitted to be
recorded.

a) Errors of Commission b) Compensating Errors

c) Errors of Omission d) Errors of Principle

2. Write short notes/ answers.

A) Difference between verification and valuation. 5

B) Removal of Auditor. 5

3. Answer the following :

A) How would vouch the following

i) Receipt from Debtors

ii) Bills Receivable 5

B) Qualifications of Auditor. 5

4. A) What is meant by  Auditing ? Explain the objects of Auditing. 10

OR

B) “Two main purpose of an audit are prevention and detection of errors and
frauds”.  Discuss.

5. A) What are the special points to be kept in view while conducting the audit of
Banks ? Explain. 10

OR

B) What is meant by qualified report of the Auditor ? Explain the details in qualified
report of auditor.
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Seat
No.

B.Com. (Part – III) (Semester – V) Examination, 2015
ADVANCED STATISTICS (Paper – II)

Day and Date : Friday, 27-3-2015 Max. Marks :50
Time :  3.00 p.m. to 5.00 p. m.

           N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of soundless calculators is allowed.
4) Graph papers will be supplied on request.

1. Select the most appropriate alternative amongst the given for each question. 10

i) The maximum probability of Type-I error is called as
a) Power of test b) Level of Significance (L.O.S.)
c) Critical value d) None of these

ii) When sample size is more than 30 and population s.d. is known, then to test

H0 : 0μ = μ , V/s H1 = 0μ ≠ μ , generally, we use

a) t-test b) 2χ -test

c) normal test d) none of these

iii) In testing H0 : 1 2μ = μ  V/s H1 : 1 2μ ≠ μ , for small samples, H0 is rejected if

a) Cal.|t| > table t(n1 + n2–2)
 ; α

b) Cal.|t| < table t(n1  + n2–2)
 ; α

c) Cal.|t| = table t(n1  + n2–2)
 ; α

d) None of these

iv) In testing independence of attributes with 4×5 contingency table, the d.f.

associated with 2χ -test statistic is

a) 20 b) 12 c) 19 d) None of these

v) A statistical constant derived from the sample observations, eq. sample mean,
sample variance, etc. is called as
a) statistic b) parameter
c) test-statistic d) none of these
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4. Attempt any one of the following : 10

A) Explain the procedure step wise in testing H0 : 1 2μ = μ  V/s H1 : 1 2μ ≠ μ  for large
samples.

B) Two researchers adopted different sampling techniques while investigating
the same group of students to find the number of students falling in different
intelligence levels. The results were as follows :

                                      No. of students in each level
Researcher Below average Average Above Average Genius Total

  X 86 60 44 10 200

  Y 40 33 25 2 100

Total 126 93 69 12 300

Would you say that the sampling techniques adopted by the two researchers
are significantly different ?

(Given : 2χ3;0.05 = 7.82)

5. Attempt any one of the following : 10

A) Explain various measures of fertility with their merits and demerits.

B) For a 2×2 contingency table 
a b

c d
, prove that a 2χ -test statistic, for testingthe

independence of attributes A and B is given by 2χ  =
2N(ad bc)

(a b) (a c) (b d) (c d)
−

+ + + +
.

_______________________
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Seat
No.

 B.Com. – III (Semester – VI) Examination, 2015
BUSINESS REGULATORY FRAMEWORK

Day and Date : Friday, 20-3-2015 Max. Marks : 50
Time :  11.00 a.m. to 1.00 p.m.

          N.B.  : 1) All questions are compulsory.
2) Figures to right indicates full mark.

1. Choose the correct alternative : 10

1) Minimum _______________ members are required to form a public company.

A) Five B) Two

C) Seven D) Unlimited

2) SEBI is established in the year ______________

A) 1956 B) 1992

C) 2000 D) None of these

3) National Commission consists of a President and ____________ other
members.

A) Two B) Three

C) Four D) None of these

4) The jurisdiction of District Forum is Rs. _______________

A) Up to 5 lakh B) Above 5 lakh

C) Up to 20 lakh D) Above 20 lakh

5) Listing of securities is the function of _____________

A) Central Government B) State Government

C) SEBI D) Recognised Stock Exchange

6) ______________ is the first meeting of company.

A) Statutory meeting B) Annual general meeting

C) Extraordinary meeting D) Director’s meeting
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7) A public company requires minimum ____________ Directors.

A) Seven B) Three

C) Two D) Ten

8) The Consumer Protection Act is passed in the year _____________

A) 2000 B) 1986

C) 1956 D) 1992

9) The duration between two Annual General meetings is _____________

A) One year B) Fifteen months

C) Eighteen months D) Two years

10) Head office of SEBI is situated at ______________

A) Delhi B) Mumbai

C) Kolkata D) Chennai

2. Write short notes : 10

1) District Forum

2) Essentials of a valid meeting.

3. Write short notes : 10

1) Articles of Association.

2) Types of Capital.

4. Explain powers and functions of SEBI. 10

OR

Who is Consumer ? Explain his rights.

5. Define company. Explain types of company. 10

OR

What is Memorandum of Association ? State the Clauses of Memorandum  of
Association.
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B.Com. III (Semester – VI) Examination, 2015
BUSINESS ECONOMICS

Day and Date : Monday, 23-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternative : 10

1) The duration of 11th Five Year plan was

a) 2005 – 10 b) 2006 – 11

c) 2007 – 12 d) 2008 – 13

2) The main failure of Indian planning is

a) Depression

b) Unemployment

c) Unfavourable balance of payment

d) Rising prices

3) Human development index is based on

a) Life b) Education

c) Standard of living d) All of the above

4) IMF was established in the year

a) 1944 b) 1945

c) 1947 d) 1950

5) At present the number of members of IBRD is

a) 109 b) 137 c) 184 d) 200

Seat
No.
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6) Basic concept of SAARC was putforth by

a) Indira Gandhi b) Rajiv Gandhi

c) Manmohan Singh d) None of the above

7) Govt. of India liberalised its policy towards foreign investment in the year

a) 1975 b) 1991

c) 1995 d) 2000

8) Human poverty index is highest in the country

a) Pakistan b) India

c) Bangladesh d) Niger

9) World Trade Organisation (WTO) was established in the year

a) 1985 b) 1991

c) 1995 d) 1996

10) _________ country is not included in the SAARC.

a) India b) Pakistan

c) Srilanka d) Japan

2. Write short notes on : 10

a) Importance of foreign capital.

b) Human poverty index.

3. Write short answers on : 10

a) Explain the objectives of IBRD.

b) What are the objectives of 11th Five year plan ?

4. a) Explain the objectives and performance of IMF. 10
OR

b) Discuss the achievements and failure of Indian Planning.

5. a) Explain the objectives and performance of WTO. 10

OR

b) Explain the role of human resources in Economic development of India.
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B.Com. (Part – III) (Semester – VI) Examination, 2015
CO-OPERATIVE DEVELOPMENT

Day and Date : Tuesday, 24-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

             N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives : 10

1) For the study of Co-operative Sugar Industry _______ Committee was formed
by Central Govt.

a) Gorwala b) Mahajan c) Karve d) Khushro

2) In LPG process _________ country was participated in July 1991.

a) India b) Chaina c) France d) America

3) _________ is the pioneer society of Dairy Co-operatives in Maharashtra.

a) Gokul b) Arre c) Warna d) Anand

4) The structure of Dairy Co-operatives in Maharashtra are _________ levels.

a) Two tire b) One tire c) Four tire d) Three tire

5) For the success of co-operative movement _________ type of remedy is

needed.

a) Urban leadership b) Govt. leadership

c) Political leadership d) Self disciplined leadership

6) The minimum number of members required for the registration of co-operative
society is

a) 7 b) 10 c) 15 d) 20

P.T.O.

Seat
No.
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7) Vaikunthlal Mehta National Institute of Co-operative Management and Research
is situated at _________ in Maharashtra.

a) Pune b) Sangli c) Kolhapur d) Solapur

8) All trading should in cash is a

a) Rochdale principle b) Schultze principle

c) Raiffeisen principle d) None of these

9) The first Urban Co-operative Bank was established in

a) 1904 b) 1912 c) 1960 d) 1947

10) _________ state has implemented “Dudh Mahapur Yojna”.

a) Gujarat b) Rajastan

c) Karnataka d) Maharashtra

2. Write short notes on :

A) Function of Urban Co-operative Banks in Maharashtra. 5

B) Dairy Co-operatives in Denmark. 5

3. Write short answers on :

A) Need of co-operative education. 5

B) Defects of co-operative movement in India. 5

4. Answer any one of the following : 10

A) Explain the problems and remedies on Sugar Co-operatives in Maharashtra.

B) Review of the Credit Co-operative Movement in Germany.

5. Answer any one of the following : 10

A) State the impact of globalisation on Co-operative Movement in India.

B) Explain the main provisions of Maharashtra Co-operative Societies Act, 1960.
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B.Com. III (Semester – VI) Examination, 2015
MODERN MANAGEMENT PRACTICES

Day and Date : Wednesday, 25-3-2015 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

  N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives : 10

1) ________________ is the heart of total quality management.
a) Organisational culture b) Organisational politics
c) Organisational objectives d) None of the above

2) ____________ is the important feature of Japanese Management.

a) Part time employment b) Full time employment
c) Contract basis employment d) Life time employment

3) In total quality management ____________ is important element.
a) facts b) communication
c) change d) opportunities

4) Total quality management is a continuous improvement in all parts of an
organisation with a view to satisfy _____________ needs.
a) Directors b) Shareholders
c) Managers d) Customers

5) Six sigma is used to describe a

a) standard quality b) standard environment
c) standard deviation d) standard measurement

6) ____________ are the characteristics of event.
a) Uniqueness b) Perishability
c) Intangibility d) All of the above

7) The term ‘Ethics’ is derived from
a) Ethos b) Ethicus
c) Ethicos d) None of the above

Seat
No.
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8) Bomb blast, industrial and chemical accident are the examples of _________

disaster.

a) Natural b) Man made

c) Earthquake d) None of the above

9) __________ are the fundamental principles of Corporate Governance.

a) Transparency b) Accountability

c) Reporting d) All of the above

10) ______________ is established to develop common International standards

for goods and services and award certificates about quality.

a) International Monetary Fund (IMF)

b) International Standard Organisation (ISO)

c) World Trade Organisation (WTO)

d) International Labour Organisation (ILO)

2. Write short notes : 10

a) Importance of Event Management.

b) Principles of Corporate Governance.

3. Write short answer : 10

a) Explain various types of Disasters in brief.

b) Explain steps in implementing six sigma.

4. a) What is Total Quality Management ? Write major ingredients (factors) of TQM. 10

OR

b) Define ‘Event’. Explain the various types of event. 10

5. a) What is ISO quality standard ? Explain the importance of ISO quality standard. 10

OR

b) Explain the important practices of Japanese management. 10
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Seat
No.

B.Com. – III (Semester – VI) Examination, 2015
ADVANCED ACCOUNTANCY (Paper – I)

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.

N.B. : 1) All questions are compulsory.
2) Attempt any one question from Q. No. 4 (A) and

Q. No. 4 (B).
3) Attempt any one question from Q. No. 5 (A) and

Q. No. 5 (B).
4) Figures to the right indicate full marks.

1. Choose the correct alternative : 10

1) The basic function of Management Accounting is not ______________

a) Record all business transactions

b) Interpret the financial data

c) Provide the informational basis for action

d) Assist the Management in performing its function effectively

2) Current assets do not include

a) Bills receivable b) Work in progress

c) Payment in advance d) Land and building

3) Ratio of net sales to networking capital

a) Working capital turnover ratio b) Profitability ratio

c) Liquidity ratio d) Turnover ratio

4) Management Accounting involves

a) Preparation of financial statement

b) Analysis and interpretation of data

c) Recording transaction

d) All the above

P.T.O.
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5) One liquidation and no formation of new company takes place in case of
______________

a) Amalgamation b) Absorption

c) External reconstruction d) Liquidation

6) The depreciation in the books of buyer is charged on ______________

a) The hire purchase price

b) The cash price

c) The hire purchase price or the cash price whichever is higher

d) The hire purchase price or the cash price whichever is lower

7) Accumulated losses in the vendor company should be transferred
to ______________

a) Equity shareholders account b) Realisation account

c) New Company Account d) Cash Account

8) In case of instalment system interest to be received by the seller is credited
to ______________

a) Interest Suspense A/c b) Interest Account

c) Sales Account d) None of above

9) Accounting standard 14 relates to

a) Absorption b) Reconstruction

c) Amalgamation d) All the above

10) Increase in sales

a) Increase in the gross profit ratio b) Decrease in gross profit ratio

c) Does not affect gross profit ratio d) None of the above

2. Write short notes on : 10

1) Objectives and functions of Management Accounting.

2) Distinguish between hire-purchase system and instalment system.

3. A) A Ltd. and B Ltd. agreed to amalgamate and form a third company C Ltd.,
which will take over all the assets and the liabilities of the two existing
companies. 5

In the case of A Ltd., assets and liabilities are to be taken over at book values
for Rs. 10 shares in C Ltd., at the rate of 5 shares in C Ltd., at premium of
10% for every 4 shares in A Ltd.
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In the case of B Ltd. :

i) The debentures of B Ltd., would be paid off by the issue of an equal

number of debentures in C Ltd., at a discount of 10%.

ii) The holders of 6% preference shares of B Ltd., would be allotted 4-7%

preference shares in C Ltd., for every 5 preference shares held in B Ltd.

iii) The equity shareholders would be allotted sufficient shares to cover the

balance on their accounts after adjusting assets values by reducing plant

and machinery by 10% and providing 5% on sundry debtors.

The summarized Balance Sheet of A Ltd., and B Ltd., on the date of merger

were as follows :

Liabilities A Ltd. B Ltd. Assets A Ltd. B Ltd.

Rs. Rs. Rs. Rs.

Equity share of Plant and Machi. 8,00,000 8,00,000

Rs. 10 each 4,00,000 5,00,000 Stock 55,000 60,000

6% preference Sundry debtors 95,000 50,000

share of Bank balance 65,000 40,000

Rs. 100 each – 3,00,000 Good will 10,000 –

4% debentures          – 2,00,000 P & L A/c – 1,40,000

Contingency

Reserve 50,000 –

P & L A/c 5,00,000 –

Sundry creditors 75,000 90,000

10,25,000 10,90,000 10,25,000 10,90,000

Calculate purchase consideration as per A/c standard 14.



B) Following are the financial statements of Mohit Ltd. for the year

2011 and 2012 : 5

Balance Sheet

Liabilities 31-12-2012 31-12-2011 Assets 31-12-2012 31-12-2011

Rs. Rs. Rs. Rs.

Equity share Fixed Assets 15,00,000 12,50,000

capital in Rs.10 Current Assets

shares 10,00,000 10,00,000 Stock in Hand 4,25,000 3,50,000

General Reserve 9,00,000 9,00,000 Sundry debtors 1,90,000 1,80,000

P & L A/c 75,000 25,000 Cash at bank 6,10,000 5,15,000

6% debentures 3,00,000 2,00,000

Sundry Creditors 3,50,000 1,20,000

Proposed Dividend 1,00,000 50,000

27,25,000 22,95,000 27,25,000 22,95,000

P& L A/C

Dr. Cr.

Particulars 31-12-2012 31-12-2011 Particulars 31-12-2012 31-12-2011

Rs. Rs. Rs. Rs.

To cost of By Sales 30,00,000 24,00,000

Goods sold 18,00,000 16,00,000

To Gross Profit 12,00,000 8,00,000

30,00,000 24,00,000 30,00,000 24,00,000

To overhead By Gross

expenses 10,00,000 7,00,000 Profit 12,00,000 8,00,000

To Net profit 2,00,000 1,00,000

12,00,000 8,00,000 12,00,000 8,00,000

SLR-Q – 94 -4- ��������
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You are required to compute the following ratio and give possible reasons for
change in each case :

1) Gross Profit Ratio

2) Net Profit Ratio

3) Equity to Total Assets Ratio.

4. A) The following financial details are extracted from the books of Clever Company
Ltd. as at 31st Dec., 2012 : 10

Particulars   Rs.

Net sales 12,00,000

Operating Expenses 9,00,000

Gross Profit 3,00,000

Non-operating Expenses 1,20,000

Net Profit 1,80,000

Current Assets 3,80,000

Inventories 4,00,000

Fixed Assets 7,20,000

Total Assets 15,00,000

Net Worth 7,50,000

Debt 4,50,000

Current Liabilities 3,00,000

Total Liabilities 15,00,000

Working Capital 4,80, 000

Calculate :

1) Gross Profit Ratio

2) Net Profit Ratio

3) Working Capital Turnover and

4) Net Worth to Debt.



B) On the 1st January 2010, Sharda purchased a machine from Kusum on
hire-purchase basis. The particulars are as follows :

i) Cash price Rs. 10,000

ii) Amount to be paid on signing the contract Rs. 4,000

iii) Balance to be paid in three (yearly) instalment of Rs. 2,000 each
plus interest.

iv) Interest to be charge on outstanding balance at 5% p.a.

v) Depreciation at 10% p.a. on written down value method.

You are required to show Machine A/c, Kusum’s A/c, Int. A/c in the books of
Sharda.

5. A) Following is the Balance Sheet of Bharat Forge Co. Ltd., Pune in
31st March 2012 : 10

Liabilities Rs. Assets Rs.

Share Capital Land and Building 1,00,000

20,000 share of Rs. 10 each 2,00,000 Plant and Machi. 1,50,000

Debentures 80,000 Work in progress 30,000

Sundry creditors 30,000 Stock 60,000

Reserve Fund 20,100 Sundry debtors 25,000

Insurance Fund 10,000 Furniture and Fitting 2,500

Dividend Equalisation Fund 20,000 Cash at bank 12,600

Premium on redemption

of debenture 20,000

3,80,100 3,80,100

The whole business is taken over by new company International Ltd.

It was agreed to pay Rs. 7 per share in cash and to issue 3 shares of
Rs. 5 each in International Ltd. at a market value of Rs. 8 per share in exchange
of every 4 shares in Bharat Forge Ltd. The cost of liquidation amounted to
Rs. 5,000.

International Ltd., issued 20,000 shares of Rs. 5 each to the public at
Rs. 8 per share. All these shares were taken up and paid for in cash.

Show necessary ledger accounts in books of Bharat Forge Ltd. and Balance
Sheet of International Ltd.

SLR-Q – 94 -6- ��������
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B) The Assets of Rukmini Company Ltd. are purchased by the Shrikrishna
Company Ltd. The purchase consideration was agreed upon as under :

a) A cash payment of Rs. 90 per share for shares held by the members in
the vendors company.

b) Settlement of debenture in the Rukmini Company Ltd. by repayment at
Rs. 550 per debenture held.

c) To exchange four shares of Shrikrishna Company Ltd. of Rs. 75 each,
quoted in the market at Rs. 140 each for one share held by the members
in the vendor company.

d) Payment of realisation expenses Rs. 12,000.

The Balance Sheet of Rukmini Company Ltd., as on 31st March 2012 was as
follows :

Capital and Liabilities Rs. Assets and Property Rs.

Share capital Land and Building 10,00,000

6,000 equity shares of Plant and Machinery 16,00,000

Rs. 500 each fully paid 30,00,000 Furniture and Fixtures 3,10,000

Insurance Fund 65,000 Vehicles 2,40,000

General Reserve 2,75,000 Stock on hand 8,10,000

Profit and Loss A/c 60,000 Bills Receivable 1,90,000

1,300 – 7% debentures of Sundry debtors    3,00,000

Rs. 500 each 6,50,000 Less-Provision for

Sundry creditors 1,10,000 doubtful debts       35,000 2,65,000

Bills payable 1,40,000 Cash on hand 85,000

Bank overdraft 2,00,000

45,00,000 45,00,000

You are require to prepare in the books of accounts of Rukmini Company
Limited :

a) Realisation Account

b) Equity share holders account

c) Cash account

Journal entries in the books of the purchasing company including entries for
cash.

_____________
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Seat
No.

B.Com. – III (Semester – VI) Examination, 2015
INSURANCE (Paper – I)

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time :  11.00 a.m. to 1.00 p.m.

           N.B.  : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternatives : 10
1) _____________ is the person named by the policy holder to whom the policy

amount may be paid when the life assured expired.
A) Assured B) Proxi
C) Agent D) Assured Nominee

2) The amount receives by Insurance company from the insurer is called
___________
A) Loan B) Advance
C) Surrender value D) Premium

3) _____________ is paid by the Insurance Company when the policy holder
decides to discontinue the policy.
A) Sum assured B) Insurance premium
C) Interest amount D) Surrender value

4) _____________ is ready to carry on insurance business in consideration of
commission.
A) Insurance company B) Nominee
C) Policy holder D) Insurance Agent

5) ___________ was the first Chairman of Insurance Regulatory and Development
Authority.
A) R. N. D’soza B) C. S. Rao
C) Rangachari D) R. N.Malhotra

6) The employer can take the insurance for the benefit of his employees is
called _____________ Insurance.
A) Life B) Fire

C) Travel D) Group
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7) ______________ Insurance is not contract of indemnity.

A) Marine B) Accident

C) Fire D) Life

8) A Licence for insurance agent is granted for ___________ years.

A) One B) Two

C) Four D) Three

9) The Insurance Regulatory and Development Authority Act was passed in the
year _______________

A) 1956 B) 1969

C) 1973 D) 1999

10) The appointment of Insurance ______________ is made by the IRDA Act,
1999.

A) Company B) Premium

C) Insured D) Agent

2. Write short notes on : 10

1) Functions of Agent

2) Health Insurance.

3. Write short answer of the followings : 10

1) Explain Duties and functions of IRDA.

2) Explain settlement of Insurance claim on completion of the term.

4. State the procedure for taking of Life Insurance Policy. 10

OR

State the nature and cover of the following insurance :

A) House Insurance

B) Group Insurance.

5. Explain the code of conduct for insurance agent. 10

OR

Explain the merits and demerits of privatisation of Insurance Business.
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Seat
No.

B.Com. (Part – III) (Semester – VI) Examination, 2015
ADVANCED STATISTICS (Paper – I)

Day and Date : Thursday, 26-3-2015 Max. Marks : 50
Time :11.00 a.m. to 1.00 p.m.

           N.B. : 1) All questions are compulsory.
2) Each question carries equal marks.
3) Use of soundless calculator is allowed.

1. Choose the appropriate alternative from the following : 10

1) If X is a random variable with probability distn {x, P(x)}, then Σ xP(x) is
called

a) mean of X b) variance of X

c) both a) and b) d) none of these

2) If a and b are constants, then E(aX + b) is equal to

a) a E(X) b) E(X) c) a E(X) + b d) none of these

3) Var (C) is equal to (where C is constant)

a) C b) 0 c) 1 d) none of these

4) The parameters of binomial distribution are

a) n and p b) p and q

c) both a) and b) d) none of these

5) In binomial distribution ‘p’ denotes probability of

a) success b) failure c) none of these

6) In binomial distribution, if mean = 20, variance = 16, then ‘p’ is equal to

a) 2/5 b) 4/5 c) 3/5 d) none of these

7) For Poisson distribution, mean is

a) equal to variance b) less than variance

c) greater than variance d) none of these

8) When the number of trials is large, then ___________ distribution is used.

a) Normal b) Poisson c) Binomial d) None of these
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9) The parameters of normal distribution are

a) n and p b) μ and 2σ
c) both a) and b) d) none of these

10) The total area of the normal curve is

a) one b) zero c) constant d) none of these

2. a) If X and Y random variables, then show that the expected value of the sum of
two r.v’s is equal to the sum of their expected values
i.e. E(X + Y) = E(X) + E(Y). 5

b) If X and Y are independent random variables such that V(X) = a, V(Y) = 36.
Find :

i) V(2X + 3Y) and

ii) V(2X + 5). 5

3. a) Define binomial distribution. If mean and variance of binomial distribution are
20 and 16 respectively. Find its parameters n and p. 5

b) If a random variable X follows Poisson distribution such that P(X = 1) = P(X = 2).
Find mean and variance of the distribution. 5

4. Attempt any one of the following : 10

a) State probability mass function of Poisson variate X. Also state conditions
under which Poisson distribution is applicable.

b) Define binomial distribution with parameters (n, p).  Also comment on the
following :

For binomial distn, mean = 7 and variance = 11.

5. Attempt any one of the following : 10

a) Define normal distribution. State the important properties of normal distribution.

b) Define conditional mean and conditional variance of a bivariate distribution.
Two fair dice are thrown. If X denotes the sum of points appearing on the top
faces of dice. Find E(X).

_____________________
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